Va4iniAg

Syanya Jojes

()

=1
—
=
o
Q
c
O
—
o
=
<

< 2@
,ﬁ»ﬁiﬁn gator chughs

g BY FUERDA

Gator ISO 9001 - 2008a certified lathe chuckfactory has beenservicing machine tool customers for over40 years.
During this long period of production experience Gator Factory has managed to significantly expand product
offering, introducingto the workholdingmarkets anumber of new designsof high quality lathe chucks. Gator
offers unbeatable value where quality products , quality service and competitive pricing make a difference for
workholding customers. All Gator productsmeet ANSI, DIN &ISO Standard requirements.

Gator Factoryhas also established and applies an internal Quality Systems for development, production and sales
of Manual Lathe Chucks focusing everyday on: customer needs, factory leadership,direct worker’s engagement in
a factory constant developmentand improvement, manufacturing and quality control processapproach,
management systemdevelopment and improvement and mutually beneficial relationships with factory suppliers
and distributors. Thefactory also provides constant trainings for factory workersand distributor teams. The
printed training materials are also available.

All factory authorizeddistribution centers located all overthe world (including mostdemanding markets like USA
and Europe) offer full technicaland application support. They are readeyto aswer any questions concerning Gator
products or directlyassist in customer clamping solution applications.

All most popular Gator products are stockedin major factoryauthorized distribution centers.

Technicaland sales teams are open forclose cooperation with customers tosolve every

workholding application. Comprehensive chuck diameter ( 3" thru 50") and mounting (A,D1, L, Threaded, Plain
Back & Special) offering gives the customer large applicationflexibility. Special chucks for specialapplications are
pretty common ina factory every day productionlife.

For more detailedinformation please contact your local distributor or Gatorfactory direct at:
info@gatorchucks.com

Limited Warranty

All Gator lathe chuck and adapterplate , spare parts are warranted against manufacturer defects and workmanship
under normal use (single shift) according tothe chuck application (listed in the chuck manual) forone year from
the date of purchase. Any chuckmodifications, normal wearand tear are not covered bythe factory.

The company, purchasing and using any GatorLathe Chuck is responsible for ensuringthat all personal operating
or servicing the lathechuck read and understand the Gator Chuck Manual safety, installation and operating
requirements.

All chuck defects should be immediately reported tothe Gator ChuckDistributor in orderto limit the extent of
damage and avoidcompromising the safety of the chuck. Failure tocomply with these instructions will void the
warranty.

All customer quality feedbacks are very welcome by thefactory.

Please NOTE thatadditional warranty terms may apply through the Gatorlocal distribution centers.

For more detailedinformation please contact your local distributor or Gatorfactory direct at:
info@gatorchucks.com

www.gatorchucks.com

PA

Pagel-20

Contents

Tech-Tru

PA Series Forged Steel Body Adjustable Scroll Chucks

Tech-Tru"

PB Series Semi-Steel Body Adjustable Scroll Chucks

PO Series Forged Steel Body Precision Scroll Chucks

PS Series Semi-Steel Body Universal Scroll Chucks

Page93-114

PI Series Semi-Steel & Cast Steel Body Independent Chucks

Front
Mounting

Pagel15-124

PO & PS Series Front Mounting Scroll Chucks

PSL

Page125-130

PSL Series Forged Steel Body Large Thru Hole Scroll Chucks

PEI
&
PEO

Page131-141

Forged Steel Body
4-Jaw Independent Chucks
3-Jaw Self-Centering Chucks

PEI & PEO Series Heavy Duty Oil Country Chucks

EA

Pagel42-150

EA Series Semi-Steel Body Adjustable Scroll Chucks

www.gatorchucks.com

va4ini A9

Syanya Jojel

®

O
o
>
—
D
>
—
0p)




Va4iniAg

Syanya Jojes

()

O
>
c
O
24
0p)
o
D
O
.
@)
>
®
c
Q
@D

Chuck Selection Guide

Determining the Proper Spindle Type and Size

Gator Chucks meetall of therequirements of ASA Standard B5.9-1960.
For spindle nose accuracy (T.l.R) see page G5.

Selecting the chuck mounting:

= Choose fromthe types shown below.

= For shorttaper spindle noses Type A, D, & C (DIN),measure the pilot diameter and length(B& C),
bolt circle diameter (dimensions F1 & F2) and diameter ofthe holes (dimensions E1 & E2).

= In the case of Atype mount, check the number of bolt circles (A2 mountor A1 mount).

= All chucks with A1 mountcan be installed on Alspindle nose only.

= All chucks with A2 mount can be installed on either A1 or A2 spindle nose.

= For the long taper spindle noses TypelL, check pilot diameter, length and thread size (A, C &B).

= For the threaded spindle noses, checkthe thread diameter, number of threads perinch and
length (dimensions B & D), plus overall length (dimension F). '

E1

| Spindle Type A1&A?2 o

/” a k
- s — Spindle Egreéizd
- Nose max. | ync-3B
‘ /| 3.2500 - 2.5005+.0005 .4375 7/16-14
‘ﬂ ‘o ¢ A-5  4.1250 2.4374 3.2505+.0005 .5625 7/16-14
- M A-6 5.2500 3.2500 4.1880+.0005 .6250 1/2-13
) <) A-8 6.7500 4.3750 5.50075+.0005 .6875 5/8-11

A-11  9.2500 6.5000 7.75075+.0005 .7500 3/4-10

Type Al hastapped TypeA2 does nothave A-15 13.0000 9.7500 11.251+.001 .8125  7/8-9
holes on both inner holes inthe inner bolt A-20 18.2500 14.5000 16.251+.001 .8750 1-8

and outer boltcircles. circles. A-28 25.5000 20.8750 23.001+.001 .1.000 1-1/4-7

—

Chuck Selection Guide

'

¥

#1 Camlock Spindle Type D1

0 m | <
Q| |8
N~
~y
f
D
Spindle No .of | Camlock DI|C
Nose max. Holes | Stud Dia
D1-3 3.622 2.7820 2.1250+.00025 .4375 .5937 9/16
D1-4 4,606 3.2500 2.5005+.0005 .4375 .6562 5/8
D1-5 5.748 4.1250 3.2505+.0005 .5000 .8750 3/4
D1-6 7.126 5.2500 4.1880+.0005 .5625 1.000 7/8
4_@ D1-8 8.858 6.7500 5.50075+.0005 .6250 1.125 6 1
D1-11 11.732 9.2520 7.75075+.0005 .6875 1.250 1-3/16
D1-15 15.866 13.0000 11.251+.001 .7500 1.375 1-3/8

www.gatorchucks.com

¥ German Standard DIN55027,Spindle Type C

Spindle NO .of
Nose max. Holes

14331

3.2500 2.5005

C-5 4.1250 3.2505

4_@ C-6 5.2500 4.1880
C-8 6.7500 5.50075

C-11 9.2520 7.75075

.5118
.5512
.6299
.7087

| Long Taper Key Drive,Spindle Type L

T

w
5 L

.83
91
1.14
1.42

oA M DB

8°17' 50"

Spindle Thread
Nose

3-3/4"-6"

4—@ LO 4-1/ 2" -6"
L1 6" -6"

L2 7-3/ 4"-5"

L3 10-3/ 8"-4"

| Threaded Spindle

2-3/8
2-7/8
3-3/8
3-7/8

2.75
3.250
4.125
5.250
6.500

3/8 x3/8 x1-1/ 2
3/8 x3/8 x1-3/ 4
5/8 x5/8 x2-3/ 8
3/4 x3/4 x2-7/ 8
1x1x3-1/4

D

Spindle
Nose A

1"-10" UNS-2B
1-1/2"-8" UNS-2B
2-3/16"-10"UNS-2B
2-1/4"-8" UNS-2B

@ 2-3/16"-6" - UNS-2B
2-3/4"-8" UNS-2B

1.015
1.515
2.2025
2.260
2.2025
2.760

1.500
1.500
1.750
1.750
1.750
2.0625

4375 1.000
4375 1.000
.5625 1.125
.5625 1.125
.5625 1.125
.6875 1.3125

www.gatorchucks.com

Vayini A

Syanya Jojel

®

O
>
c
O
24
0p)
]
¢))
O
—.
@)
>
®
c
Q
(¢4




Chuck Selection Guide Chuck Selection Guide

Vayini A

Syanya Jojes
Syanya Jojel

Va4iniAg

@ @

Permissible Spindle Runout Clamping Ranges for Self-Centering Scroll Chucks

Toobtain thespecified clamping accuracy ofachuck mounted ona machinetool,
itisnecessary to: ) . .
Solid Jaws Two-piece Reversible Jaws

1. Reduce play inthe spindle bearings to allowable minimum.
2. Ensure the machine spindle nose does notexceed the values specified.
3. Meetthe basicrequirements for correct mounting of the chuck onthe spindle nose.
4. Follow the chuck manual.
Yan /1A /1A :
PO Series SteelBody Chucks
T 1’ — T hﬁ T 3"- 16" .00012"max.
20" - 25" .0002"max.
J; = YaE JLJ YaE J_UJJ PS Series Semi-Steel Body ‘ﬁf L‘f ‘ﬁf L‘f
3"-6" .00012"max. — —
8" - 32" .0002"max. - ] ]
o T o o o Nm N E I A T ol dlN(m S|l
T, T T T T T, T T T T
_ 1 B
| ! ! | ! \

Self-Centering Scroll Chuck Accuracy
Chuck

. e . . Diameter JAWS
All allowable runouts which are specified concern measurements at three different jaw : , _ _ _ _ , , , _ ,
openings d(1, 2 &3).
60 2-1/3  .02-.95 - .79-1.65 - 1.46-2.36 - .79-1.65 - 1.50-2.36 =
_ _, _ ; _ 80 3-1/4  .08-1.06 - .87-1.81 - 1.77-2.72 - .98-1.97 - 1.89-2.80
Universal and Precision Chuck Types: PASeries ,PO Series ,PS Series 100 2 12-1.30 98-2.20 _ 2.90-3.43 _ 1.26-2.44 _ 2.44-3.27
O “ . W W Radial Runout 125 5 .12-1.97 .12-1.97 1.37-2.91 1.34-2.99 2.83-4.53 2.95-4.65 1.54-3.27 2.05-3.78 3.15-4.92 3.74-4.92 O
> L ® |solidjaws|2pcjaws|— A [ B | C | 160 6-1/4 .12-2.52  .12-2.52  1.65-3.94 1.65-3.82 3.70-6.06 3.46-5.75 1.97-4.21 2.44-4.76 3.86-6.30  4.53-6.30 -y
(e 3-1/4" 0.39 - 055 157 1.57 2.36 1.38 2 48 - 0.0008 0.001 0.0006 200 8 .16-3.54  .16-3.54  2.05-5.31 1.97-5.12 4.72-7.95 4.13-7.48 2.36-5.71 2.83-6.14 5.12-7.87 5.24-7.87 (e
(@) 4 039 055 071 157 157 295 197 3.15 3 0.0008 0.001 0.0006 250 10 20-4.65  .20-4.65 2.44-6.85 2.28-6.50 5.70-10.43 4.92-9.25 3.03-7.40 3.38-7.75 6.30-9.84 6.30-9.84 (@)
~ = oo el o o o o o e o ol T5o6E 315 12-1/2 .39-5.16  .20-5.16  3.07-7.87 2.56-7.16 6.77-11.77 5.70-10.43 3.54-8.46 4.06-8.90 7.48-12.40 7.48-12.40 ~
W T T T 394 59 0.0012 0.0014 0.0008 400 15-3/4 .39-7.09  .39-7.09  3.35-0.92 2.83-8.98 8.27-14.96 6.50-12.95 4.05-10.71 5.00-11.57 9.05-15.75 9.05-15.75 W
o) = - - - - - - - - - : - - 500 20 .79-9.25 .79-9.25  4.72-13.19 4.72-16.14 9.65-18.74 7.87-19.10 5.51-14.06 4.33-15.75 10.87-19.69 7.48-19.69 o)
—_— & LA | Le7 | 2t | o8 | S | B | B0 0.2 0.2 oHoLE oLEE S00L 630 25 1.18-13.19 1.18-13.19 6.30-18.31 5.51-23.23 12.80-24.80 8.27-26.18 7.09-19.17 4.72-22.44 13.58-24.80 7.88-24.80 —_—
(] 10 118 2.08 295 3.15 315 7.87 59 6.3 8.86 0.0016 0.0018 0.001 800 31-1/2 5.9-18.98 5.9-18.98 11.10-24.17 9.92-28.99 17.64-30.7112.91-31.97 11.89-24.96 9.45-28.5 18.43-31.50 12.44-31.50 D
(@) 12-1/2" 2.08 2.95 3.94 4.72 492 992 8.27 9.84 11.81 0.002 0.0022 0.0012 (@)
‘:"_ 15-3/4" 2.08 3.94 4.92 4.72 492 11.1 9.84 9.84 13.78 0.0024 0.0025 0.0012 :"
(@) 20" 295 394 492 6.3 7.87 11.1 11.81 15.75 15.75 0.004 0.004 0.002 T : : : (@)
0 Avoid a Chuck Gripping Problem
=S 25" 295 492 6.3 6.3 7.87 12.79 1575 15.75 15.75 0.004 0.004 0.002 pping ! =S
) 31-1/2" 6.3 7.87 9.84 6.3 12.8 19.7 1575  19.7 19.7 0.0059  0.0059 0.0024 Select the proper Hard Top Jaws or Soft Top Jaws )
c c
o o
9] 9]

~{~IcIx]

Jaw for Heavy Machining Jaw for Special Applications Jaw for Finishing

www.gatorchucks.com www.gatorchucks.com




Va4iniAg

O
>
-
O
24
0p)
o
D
O
.
@)
>
®
c
Q
@D

Syanya Jojes

()

Chuck Selection Guide

Safe Operating Parameters
Conditions: I&z=maximum length of workpiece

d=workpiece diameter

h=height of the clamping jaw step

workpiece is clamped intothe chuck jaws with out additional support.
h

SRRC AN N
1o lm L LM

Chuck Diameter 3-1/4" | 4 | 5" [6-1/4"| 8" | 10" [12-1/2"[15-3/4"] 20" 25" [31-1/2"

| 1.2xd 1.5xd 1xd

z 4xh

Total Gripping Force of all Self-Centering Chucks (Ibs.)

Chuck Diameter 3-1/4" 4" 5" 6-1/4" 8" 10" |12-1/2"|15-3/4"| 20" 25" |31-1/2"

Steel & Semi-Steel Chucks | 2,200 | 3,750 | 5,300 | 6,800 | 8,200 | 10,000 | 12,000 | 14,300 | 16,000 | 17,700 [ 19,800

Recommended Maximum Speeds for Self-Centering Chucks(RPM)

Chuck Diameter 3-1/4" 4" 5" 6-1/4" 8" 10" |12-1/2"|15-3/4"| 20" 25" |31-1/2"

Universal Chucks(Semi-steel body)| 4000 | 3500 | 3200 | 3000 | 2500 | 2000 | 1500 | 1000 700 500 300

Precision Chucks (Steel body) | 6000 5200 4800 4500 4000 3500 2800 2000 1200 1000 450

Value of Balancing for Precision Self-Centering Chucks Only.

Chuck Diameter 3-1/4" 4" 5" 6-1/4" 8" 10" 12-1/2" | 15-3/4" 20" 25"

Balancing (ounce-inch) 0.15 0.22 0.32 0.44 0.62 0.87 1.25 1.94 4.16 8.88

L

>

>
>

athe Chuck Safety Conditions

Due to chuck rotating speeds and cutting forces during machining, care should be takento insure the
proper and safe use of your chuck.

Cleaning should bedone often for safety purposes as well asto provide a long work life for your chuck.
Proper maintenance will insure your satisfaction.

PRIOR TOOPERATING YOUR LATHE CHUCK, PLEASE:

v

vVvyvyy

VVVVYVYY

Read the chuck manual.

Do not startthe lathe untilall is clear. A collision between the chuck and lathe will cause damageto both.

Do not usethe chuck onheavy work wherethe chuck jaws project appreciably fromthe chuck body.
Refer to thetables on page 6 to selectthe correct size chuck for the application.

Do not clamplong work piecesin the chuckwithout additional support, this can cause heavy damage
to the lathe and work environment.Refer to thetable on thispage for safety parameters.

Always remove the chuck wrench before starting the machine.

Do not removethe safety spring from the chuckwrench.

Never operate the chuck if any parts are damaged ,missing or cracked.

Do not tamperwith the chuck. If an inaccuracyis found, checkthe spindle nose or adapter plate

for true-running and make sure thereis no dirtor foreign matterbetween the mountingfaces.
Never exceed maximumspeed (RPM) ofthe chuck. The MAX RPMis stamped onthe chuck face.
Refer to thetable on this page for recommended maximum speeds forself-centering chucks.
Periodically inspect and service chucks forwear to avoidinadequate workholding conditions.

Be sure topjaws are securelybolted to the master jaws.

Never do any unauthorized chuck modifications.

Always keep yourchuck clean andlubricated.

www.gatorchucks.com

Chuck Selection Guide

Quick Reference

Part No..

1-101
1-102
1-108
1-104
1-105
1-106
1-107
1-108
1-115
1-119
1-125
1-151
1-152
1-153
1-154
1-201
1-202
1-203
1-204
1-205
1-207
1-211
1-221
1-241
1-301
1-302
1-311
1-312
1-317
1-321
1-322
1-901
1-903

Part No..

BA-SCREWS
CA-CAM STUDS
FM-ADAPTERS
FLA-ADAPTERS
FLE-ADAPTERS
FLI-ADAPTERS
FS-E

FS-P

HR-P

HR-PEO-
1J-PS3

1J-PS4

1J-PS6

MB-BA

MB-PL

MJ-PEI-
MJ-PEO-

MJ-PI

MJ-PS2
MJ-PS3
MJ-PS4
MJ-PS6
MJ-PSL

MT-J1

MT-J2

0J-PS3
0J-PS4
0J-PS6
OS-PEI-

OS-PI

PH-L

Part No..

PH-P
PI-E
PI-PEO-
PI-PL
PI-PO
PI-PS
PS-P
RJ-PI
SC-PEO-
SC-PL
SC-PS
SM-ADAPTERS
SJ-PS3
SJ-PS4
SJ-PS6
STJ-PS1
STJ-PS2
STJ-PS6
TB-PEI
TB-PI
TJ-PEI-
TJ-PEO-
TJ-PI
TJ-PS3
TJ-PS4
TJ-PS6
W-P
W-PEI
W-PEO
W-PL
W-PI

www.gatorchucks.com

Vayini A

O
>
c
O
24
0p)
]
¢))
O
—.
@)
>
®
c
Q
(¢4

Syanya Jojel

®




im PA Series - Steel Body Adjustable Scroll Chucks

\A@ e gatorchucks’ Medium Duty

BY FUERDA . . .
3-Jaw & 6-Jaw, With Fine Adjustment,
Forged Steel Body, 0.0004" T.I.R.

Syanya Jojes

_Syanya Jojel

Features and Benefits

» 4 micro-fine adjustment screws allow 0.0004" T.I.R. (4" thru 12-1/2" chucks).

)
>
2
D
=
D
(2}

1
T
o
=

(@]
D
o
92
~+
®D
@
o
o
o

<
>

=
=
n
—
D
=3
D
wn
O
=
=
0
=
c
(¢}
>
(2}

Med ium Duty Forg ed Steel BOdy 8 micro-fine adjustment screws allow 0.0004" T.1.R. (15-3/4"thru 25" chucks).
. * Two piece hardtop & master jaws are American Standard tongue and groove.
Adj u Stab | e SCI"O' | Ch u CkS * High quality forged steel body construction allows for higher lathe speed and longer life.
* Forged and hardened scrolls are precision ground and balanced forlonger life and
PA Seri . higher accuracy.
eries Forge_d Steel BOdy Ad_Ju_StabIe SCI’.O” Chucks can * Jaws and pinions are hardened and precision ground to increase life of the chuck.
be used for all h|gh Speed maChmmg operatlons where * Each chuckis balanced within fine limit for the high speed machining.
universal chucks are unsuitable. High accuracy, versatility + Steel adapter plates are interchangeable with PASeries chucks of the same size so that
and durability make PA chucks invaluable in the modern one chuck can be used on different lathe spindles.

U
>
2
®D
=
D
%)

1
n
o
-

(@]
D
o
92
—
®D
@
w
o
o

<
>

=
=
%)
—
D
=
®D
n
(¢)
=
=
0
=)
c
O
=~
%)

* Proper chuck maintenance can extend the life of your PA chuck significantly.

* It mustbe cleaned and lubricated on aregular basis as recommendedin Gator service
instruction.

- For the best grippingresults, use the Gatorrecommended chuck grease.

» The 6-jaw chucks grip firmly with less pressure and less distortion perjaw and they are
ideal forthin walland finishing operations. They eliminate the need for spring collets

&
Ju; somm

workshops and indispensable inthe toolrooms.

Hardened and
Ground Surfaces

NIl -Ydal
nip-yosa)

Tech-Tru”

www.gatorchucks.com www.gatorchucks.com




*Master jaws and scroll should be always ina fullengagement.
*Select jaws with the proper jaw gripping surfacesto fityour application.
*Use properjaws forrough and finishing machining.

¥ Clamping Ranges Chuck Part Listing S
) )
g ® Note: 3-Jaw & 6-Jaw, Forged Steel Body g
E. *Never exceed chuck gripping ranges. Adjustable Sroll Chucks, 0.0004" T.I.R. E.
= =
U U

va4ini A9
Vayini A

®
®

. Chuck Body

. Back Cover

. Scroll Plate

. Pinion

. Pinion Half Ring

. Pinion Sleeve

. Hard Master Jaws
.Hard Top Jaws

. Grease Nipple
10.Chuck Mounting Bolts
11.&13. Back Cover Mounting Bolts
12. Spindle Locating Pin - "A" Mount Only
14. Chuck Wrench

15 & 16. Hard Top Jaw Mounting Bolts

17. Chuck Mounting Bolts

18 & 20. Hex Keys

19. Fine Adjustment Screw

: . ; Fine
Hole 2-Piece | Solid Mounting Bolts |, i/ \stment
= X O 0N C | M&T | Scrowsn
(max.)
Thread |Gty Thvesa oy

— [RT [Ty [T

< W0
T|T

=R

d2
d3
d2
d3

O©CONOOOPA,WN -

3-Jaw Chucks

B with Solid Jaws
B with Two-Piece Jaws

dl .118-1.30 .118-1.97 118-252  .157-354  .197-4.65 .394-5.16 - - - -
d2 1.26-244 154327 197-421 236571 3.03-740 354-8.46 - - - -

U )
> >
2 2
D 1)
= =
D D
(2} (2}
1 1
Tl m
o o
= =
(@] (@]
D D
o o
92) 92
— —
D 9]
Eh S
w w
o o
o o
< <
> >
= =
= =
0 n
— —
QD QD
=3 =3
@D (0
%2 2
(¢} O
= =
= =
0O 0O
=) =
c c
() (¢}
~ ~
(2} (2}

?;’J\'I‘i d3 244327 315492 386630 512787 630984 7.4812.40 - = = =
i R} _ ! _ : : : M10 x 1
d4 98220 134291 165394 205531 244685 3.07-7.87 " S i oo i 063 051 M8x125 o
d5 220343 283453 370606 472795 5711008 6.77-11.77 - - - -
0 o1o o252 . S R R — E— . 61698 5" 4.252  2.1654 - - 1.378 2.362 1.575 0.787 0.59 M8x1.25 M12 x 1
z R R R N e ol T e PO Mool 6-1/4" 5.5118 3.3858 = = 1.654 2.677 1.71 126 0.67 M10x1.5 3 4
d2 - 205-378 244-476 283614 339776 406890 500-1157 4.33-1575 4.72-22.44 9.45-2850 g 6.9291 4.3307 - . 2165 3.071 177 1442 071 M10x15
Two.Pi . . . . ) . . .
Wj’aw'fce d3 = 374492 453630 524787 630984 7481240 906-1575 74819060 7.87-24.80 12.44-31.50 10"  8.8188 5.7086 = = 29092 3504 205 1339 079 M12x1.75
d4 - 134299 165381 197512 228650 256717 284898 4721614 551-2323 9.92-28.99 12-1/2" 11.2598 7.0866 - - 4.055 3.819 2.24 1.693 0.79 M16 x 2 M18 x 1
ds| - 295465 346575 413748 492925 5711043 650-1295 7.87-1900 8.27-26.18 12.91-3197 1225 i MEOND . WGIC e IO BoRoou i I AHUSH INeVSS N I OO Mol
20" 9.252 - 16.022 16.032 7.48 5.669 3.1 - 118 3/4"x10 8
25" 13 - 16.022 16.032 9.921 5.905 3.425 - 1.18  3/4"x10
31-1/2" 145 - 22.820 22.835 10.500 6.220 3.642 - 1.18 1"x 8
6-Jaw Chucks

* For 6 jaw chucks only

B with Solid Jaws
B with Two-Piece Jaws

5 ~ 2
= - 5
= o Jinen| 4 | 5 Jewr | & | 100 , =
c dl 118-1299 236169 315251 315354  47-465 47516 - - - - [ c
d2 12502440 165307 205421 252571 323740 374846 - - - - <
JS:J\',‘Q d3 24403661 327-472 402630 520787 650984 7.56-12.40 - - - - e g af<u 49
d4 10232204 134-268 185394 217531 268685 3.237.87 - - - - - w
d5 2244-3425 291-433 386606 476795 5911008 7.01-11.77 - - - - " "~ 2
di - 236169 315251 315354  A47-465  47-516 59795 118925 1571319 59-18.98 %@ g
a2 ; 197-343 264476 291614 323740 425890 5201165 4.76-1583 520-21.85 9.45-28.50 |
TW?;VPV':” d3 - 370492 465630 528787 646984 6021240 9291575 7.76-18.82 827-2480 12.44-31.50
da - 130275 177382 205512 268685 268717 287-992 531-1626 5912303 9.92-28.99 H h
d5 = 230-468 3.625.75 4.29-748 591-10.08 591-10.08 6.65-13.86 8.27-19.25 8.66-26.02 12.91-31.97 B Chuck Diameters: 4" thru 12-1/2" B Chuck Diameters: 15-3/4", 20" & 25"

www.gatorchucks.com www.gatorchucks.com




Application for Adapter Plate Chuck Details

3-Jaw Chuck T-Slot Dimensions
for 20" & 25"PA Chucks

Vayini A

Syanya Jojes

Adapter Plate & Chuck mounting principles
for 4"thru 12-1/2"chucks

Mounting
C SURFACE Bolts
/ D

Skaiys Jojel

®
®

Al <A (Alhas to bealways smaller than A& the clearancerange
between the chuckcounterbore ID &adapter boss ODshould be
from 0.0078" t00.0129")

h1l < h(hl has alwaysto be smallerthan h)

D1 = D(Adapter OD hasthe same diameteras chuck OD)
Installing chuck onthe adapter plate or base platebe sure aswell
that chuck backsurface "C" isin a fullcontact with adapterplate /
base plate frontsurface "C". Bothsurfaces on thedrawing are

marked with ablack bold line.
é /X Chuck T-Slot B
e Dia. - “- - Length " '/_ Face of the chunks
20" .9055 .5512 .3937 .8268 4.5276 ’J L‘g\f w
W]

T 250 1.2598 .7087 .5118 1.0236 5.1181 LJ
]
72 60mm 31-1/2" 1.2598 .7087 .5118 1.0236 7.0866 A

Chuck Counterbore

.|U
=t

‘H jﬂ

Adapter Boss

Adapter Plate & Chuck mounting principles Chuck Eye Bolt

U
>
2
®D
=
D
%)
1
n
o
-
(@]
D
o
92
—
®D
@
w
o
o
<
>
=
=
%)
—
D
=
®D
n
(¢)
=
=
0
=)
c
O
=~
%)

for 15-3/4"thru 31-1/2"chucks

Al <A (Alhas to bealways smaller than A& the clearancerange
between the chuckcounterbore ID &adapter boss ODshould be
from 0.0141" t00.0236")

h1l < h(hl has alwaysto be largerthan h)

D1 =A (AdapterOD has smallerdiameter than chuckcounterbore
ID) Installing chuckon the adapterplate or baseplate be sureas
well that chuckcounterbore bottom surface"C" is ina full contact
with adapter plate/ base platefront surface "C".Both surfaces on

l _

Adapter Boss

www.gatorchucks.com

C SURFACE

IN

i3

U -

7_%_‘_1
]

Chuck Counterbore

Dimensions

From 10" upto 31-1/2"

the drawing are marked with ablack bold line. h Chuck Thread
hi
—I_ Dia. Size FEANG)
ChunksJ
Mounting 10" M10x 1.75 EB-M10
2 Bolts

12-1/2" M12x 1.75 EB-M12
. : . —
D 1 15-3/4 M12 x 1.75 EB-M12 D
g [ 20" M16 x 2 EB-M16 g
1 1
— e/ 25" M16 x 2 EB-M16 —
= - =
c 31-1/2" M20x 2.5 EB-M20 <
E T __¢ E

%

www.gatorchucks.com

)
>
2
D
=
D
(2}

1
T
o
=

(@]
D
o
92
~+
®D
@
o
o
o

<
>

=
=
n
—
D
=3
D
wn
O
=
=
0
=
c
(¢}
>
(2}




M n H n
' 3 & 6 Jaw Adjustable Scroll Chucks,0.0004" T.I.R. 3 & 6 Jaw Adjustable Scroll Chucks,0.0004" T.I.R. 1
s' With Fine Adjustment, Forged Steel Body, 3 Pinion Design With Fine Adjustment, Forged Steel Body, 3 Pinion Design s'
S S
IS . . . . . . IS
IR 3-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws 6-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws IR
L L
® ®
Each chuck is provided with: Each chuck is provided with:
B 1 Setof hard master jaws B 1 Setof hard master jaws
o B 1 Setof hardtop reversible jaws B 1 Setof hardtop reversible jaws o
> B 1 Set of mounting bolts B 1 Set of mounting bolts >
wn B 1 Setof fine adjustment screws B 1 Setof fine adjustment screws wn
D m 1 Spring loadedchuck T- wrench m 1 Spring loadedchuck T- wrench D
= B 2 Hex keys B 2 Hex keys —.
8 B Eye boltsfor chucks 10" and larger B Eye boltsfor chucks 10" and larger g
. m 32", 40",50" chucks are available on special order m 32", 40",50" chucks are available on special order .
T B 20" & 25"chucks are providedwith T-slots B 25" & up chucks are provided with scroll ejecting screws T
o N . . L o
e Forged Steel Body B 25" & up chucks are provided with scroll ejecting screws Forged Steel Body °
« «
S S
w RPM C el Weight Hard Top |[Hard Master Soft Top RPM C ey Hard Top |[Hard Master Soft Top (7))
K Hole Max Capacity Ibs Model Part No. TS = G Wrech** Hole Max Capacity Model Part No. T " NG Wrech** =
D Min.-Max. : Min.-Max. : D
D D
C_U 5" 1.378 3800 .118-4.92 1 PA3-5"A 1-101-0500 TJ-PS3-125 MJ-PS3-125 STJ-PS3-125 W-P-125 S 1.378 3000 .236-4.72 15 PAG6-5"A 1-103-0500 TJ-PS6-125 MJ-PS6-125 STJ-PS6-125 W-P-125 5
@) 6-1/4" 1.654 3500 .118-6.30 21 PA3-6"A 1-101-0600 TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 W-P-160 6-1/4" 1654 2500 .315-6.30 27 PAG6-6"A 1-103-0600  TJ-PS6-160 MJ-PS6-160 STJ-PS6-160 W-P-160 (@)
.2‘ 8" 2165 3100 .175-7.87 39 PA3-8"A 1-101-0800 TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 W-P-200 8" 2165 2200 .315-7.87 41 PAG6-8"A 1-103-0800  TJ-PS6-200 MJ-PS6-200 STJ-PS6-200 W-P-200 %
> 10" 2992 2700 .197-9.84 69 PA3-10"A 1-101-1000 TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 W-P-250 10" 2.992 1900 A47-9.84 72 PA6-10"A  1-103-1000 TJ-PS6-250 MJ-PS6-250 STJ-PS6-250 W-P-250 >
.S‘. 12-1/2" 4.055 2200 .394-12.40 123 PA3-12"A  1-101-1200 TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 W-P-315 12-1/2"  4.055 1500 A47-12.40 115 PA6-12"A  1-103-1200 TJ-PS6-315 MJ-PS6-315 STJ-PS6-315 W-P-315 .E‘
g 15-3/4" 5354 1800 .394-15.75 215 PA3-16"A  1-101-1600 TJ-PS3-400 MJ-PS3-400 STJ-PS3-400 W-P-400 15-3/4" 5354 1500 .59-15.75 240 PA6-16"A  1-103-1600 TJ-PS6-400 MJ-PS6-400 STJ-PS6-400 W-P-400 S
E 20" 7.480 1200 .787-19.69 395 PA3-20"A  1-101-2000 TJ-PS3-500 MJ-PS3-500 STJ-PS3-500 W-P-500 20" 7.480 800 1.18-18.82 408 PA6-20"A  1-103-2000 TJ-PS6-500 MJ-PS6-500 STJ-PS6-500 W-P-500 S
% 25" 9.921 1000  1.18-24.80 640 PA3-25"A  1-101-2500 TJ-PS3-630 MJ-PS3-630 STJ-PS3-630 W-P-630 25" 9.921 700 1.57-24.80 652 PA6-25"A  1-103-2500 TJ-PS6-630 MJ-PS6-630 STJ-PS6-630 W-P-630 %
wn 32", 40", 50" chucks are availableon special order. *W-SP-Extended Wrenchesavailable from stock. 32", 40", 50" chucks are availableon special order. *W-SP-Extended Wrenches available from stock. )
o See Page 20 See Page 20 o
= =
=) Sl
0 3-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws 6-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws 0
> >
c c
9) . . . . . . 9)
>~ Each chuck is provided with: Each chuck is provided with: =~
(7)) (7))

m 1 Setof hardsolid ID jaws m 1 Setof hardsolid ID jaws
m 1 Setof hardsolid OD jaws m 1 Setof hardsolid OD jaws
B 1 Set of mounting bolts B 1 Set of mounting bolts
B 1 Setof fine adjustment screws B 1 Setof fine adjustment screws
B 1 Spring loadedchuck T-wrench B 1 Spring loadedchuck T- wrench
B 2 Hex keys B 2 Hex keys
B Eye boltsfor chucks 10" and larger B Eye boltsfor chucks 10" and larger
B 15-3/4" to 32" chucks are available on special order. B 15-3/4" to 25" chucks are available on special order.
B 20" & 25"chucks are providedwith T-slots B 25" & up chucks are provided with scroll ejecting screws
- Forged Steel Body B 25" & up chucks are provided with scroll ejecting screws Forged Steel Body -
D D
(@) (@)
= Clamping Clamping =
! RPM ; ID - Hard OD - Hard | Soft Solid " RPM ; ID - Hard OD - Hard | Soft Solid " !
j Hole Max '\Sll_apamty Model PartNo. | o i jaws | Solid Jaws Jaws Wrech Hole Max Capacity Model PartNo. | o i jaws | Solid Jaws Jaws Wrech j
c in.-Max. Min.-Max. c
4" 787 4200 118-3.27 9.0 PA3-4" 1-102-0400 OJ-PS3-100 1J-PS3-100 SJ-PS3-100  W-P-100 4" 787 4000 .118-3.661 10 PAG6-4" 1-104-0400 OJ-PS6-100 1J-PS6-100 SJ-PS6-100  W-P-100
58 1.378 3800 .118-4.92 12 PA3-5" 1-102-0500 OJ-PS3-125 1J-PS3-125 SJ-PS3-125  W-P-125 g" 1.378 3000 .236-4.72 16 PA6-5" 1-104-0500 OJ-PS6-125 1J-PS6-125 SJ-PS6-125  W-P-125
6-1/4" 1.654 3500 .118-6.30 24 PA3-6" 1-102-0600 OJ-PS3-160 1J-PS3-160 SJ-PS3-160  W-P-160 6-1/4" 1654 2500 .315-6.30 29 PA6-6" 1-104-0600 OJ-PS6-160 1J-PS6-160 SJ-PS6-160  W-P-160
8" 2165 3100 175-7.87 41 PA3-8" 1-102-0800  OJ-PS3-200 1J-PS3-200 SJ-PS3-200  W-P-200 8" 2165 2200 .315-7.87 42 PA6-8" 1-104-0800 OJ-PS6-200 1J-PS6-200 SJ-PS6-200  W-P-200
10" 2992 2700 .197-9.84 71 PA3-10" 1-102-1000  OJ-PS3-250 1J-PS3-250 SJ-PS3-250  W-P-250 10" 2.992 1900 A47-9.84 79 PA6-10" 1-104-1000 OJ-PS6-250 1J-PS6-250 SJ-PS6-250  W-P-250
12-1/2" 4055 2200 .394-12.40 126 PA3-12" 1-102-1200 OJ-PS3-315 1J-PS3-315 SJ-PS3-315  W-P-315 12-1/2"  4.055 1500 47-12.40 150 PAG6-12" 1-104-1200 OJ-PS6-315 1J-PS6-315 SJ-PS6-315  W-P-315
15-3/4" to 32"chucks are availableon special order. **W-SP-Extended Wrenches available from stock. 15-3/4" to 25" chucks are available on special order. **W-SP-Extended Wrenches available from stock.
See Page 20 See Page 20

www.gatorchucks.com www.gatorchucks.com




M FLA Series Adapter Plate FLA Series Adapter Plate &S
Xy )
~ ~
S S
2 . - T
= Type A1/A2 Steel Adapters, Fully Machined Type D1 Steel Adapters, Fully Machined =
x;h . . - . h%
o for PA Series & PB Serieschucks for PA Series & PB Serieschucks ®
e All adapters comewith spindle mountingbolts e All adapters comewith spindle mounting camlock studs
e All adapters areheat treaded forlonger life e All adapters areheat treaded forlonger life
) e All adapters donot require any additional machining e All adapters donot require anyadditional machining )
> >
n n
1) (1)
= s =
o ~ —— . D
(0)] i = p 7}
1 1
T o7 L -
o _ (@)
- -
«Q I «Q
D (0]
= | % <| w of 111 -o| O =
wn - © < ° 2]
~—~+ ~—+
o o
= N7 A -
o z > i — Z (@)
o . — = o
< —~{-BL % =
> - B B >
= | =
c c
('2_ For Chucks from5" thru 12-1/2" For Chucks from15-3/4" thru 25" For Chucks from5" thru 12-1/2" For Chucks from 15-3/4" thru 25" ('ﬂ
QD Q
o o
(0] (0]
g Chuck |Taper| OD UL M%Tﬁﬁr'fg Mouiq:gglgolts Taper| OD AL MC(:JTJLI'J](t:rI:g g)
8 . Size | A Hgle F C G Bolts Lbs. Part No. Size | A H(()jle F C E Bolts _ Part No. 8
S ! L ! S
O Ad 492 25005 1378 3252 2164 4.252 M8x1.25 55 142 7/16-14 48 FLA-125/A4 D1-3 492 21250 1378 278 2164 4252 M8x1.25 55 154  9/16" 3 5.95 FLA-125/D3 O
> >
c 5" A5 492 32505 1378 4126 2164 4.252 M8x1.25 55 142 7/16-14 4 4.2 FLA-125/A5 5" D14 492 25005 1378 3252 2164 4.252 M8x1.25 55 154 5/8" 3 5.73 FLA-125/D4 c
; A6 6.30 4.1880 1378 5252 2164 4.252 M8x1.25 55 189 1/2-13 4 9.1 FLA-125/A6 D15 492 32505 1378 4126 2164 4252 M8x1.25 55 154 3/4" 6 5.73 FLA-125/D5 ;
w o A5 6.30 32505 1.654 4126 3385 5512 M10x1.50 .63 146 7/16-14 4 6.77 FLA-160/A5 D1-3 630 21250 1654 278 3385 5512 M10x1.50 .63 1.81  9/16" 3 10.80 FLA-160/D3 »
A6 6.30 4.1880 1654 5252 3385 5512 M10x1.50 .63 146 1/2-13 4 6.97 FLA-160/A6 6-1/4" D14 630 25005 1654 3252 3385 5512 M10x1.50 .63 1.81 5/8" 3 9.92 FLA-160/D4
A4 787 25005 2165 3252 4330 6.929 M10x1.50 .67 146 7/16-14 4 9.3 FLA-200/A4 D15 630 32505 1654 4126 3385 5512 M10x1.50 .63 1.81 3/4" 6 9.89 FLA-160/D5
8" A5 7.87 32505 2165 4126 4330 6.929 M10x1.50 .67 1.46 7/16-14 4 135 FLA-200/A5 D1-4 7.87 25005 2165 3252 4330 6.929 M10x1.50 .67 1.30 5/8" 3 10.36 FLA-200/D4
A6 787 41880 2165 5252 4330 6.929 M10x1.50 .67 149 1/2-13 4 12.6 FLA-200/A6 8" D15 787 32505 2165 4126 4330 6.929 M10x1.50 .67 1.85 3/4" 6 15.87 FLA-200/D5
A5 9.84 32505 2992 4126 5708 8.819 M12x1.75 .75 149 7/16-14 4 17.3 FLA-250/A5 D16 7.87 41880 2165 5252 4330 6.929 M10x1.50 .67 2.01 7/8" 6 17.64 FLA-200/D6
10" A6 9.84 41880 2992 5252 5708 8819 M12x1.75 .75 149 1/2-13 4 17.3 FLA-250/A6 D15 984 32505 2992 4126 5708 8.819 M12x1.75 .75 1.50 3/4" 6 17.64 FLA-250/D5
A8 9.84 55007 2992 6.748 5708 8.819 M12x1.75 .75 1.81 5/8-11 4 20.2 FLA-250/A8 10" D16 984 41830 2992 5252 5708 8.819 M12x1.75 .75 2.09 7/8" 6 28.44 FLA-250/D6
? A6 1240 4.1880 4.055 5252 7.076 11.260 M16x2 75 149  1/2-13 4 27.3 FLA-315/A6 D1-8 984 55007 2992 6.748 5708 8.819 M12x1.75 .75 2.36 1" 6 3241 FLA-250/D8 3
g 12-1/2" A8 1240 55007 4.055 6.748 7.076 11.260 M16x2 75 181 5/8-11 4 35.7 FLA-315/A8 D1-6 1240 4.1880 4.055 5252 7.076 11.260 M16x2 75 150 7/8" 6 28.44 FLA-315/D6 g
'_| All 1240 7.7507 4.055 9.252 7.076 11.260 M16x2 75 217 3/4-10 4 412 FLA-315/A11 12-1/2" D1-8 1240 55007 4.055 6.748 7.076 11.260 M16x2 75 224 1" 6 47.84 FLA-315/D8 '_|
E A6 11.75 41880 4.055 5252 - 6.748 5/8-11 - 138 1/2-13 6 314 FLA-400/A6 D1-11 1240 7.7507 4.055 9.252 7.076 11.260 M16x2 .75 252 1-3/16" 6 5291  FLA-315/D11 E
15-3/4" A8 1175 55007 5.354 6.748 - 6.748 5/8-11 - 146 5/8-11 6 28.8 FLA-400/A8 D16 11.75 4.1880 4.055 5.252 - 6.748 5/8-11 - 138 718" 6 29.0 FLA-400/D6
All 1175 7.7507 5.354 9.252 - 6.748 5/8-11 - 189 3/4-10 6 35.8 FLA-400/A11 15-3/4" D1-8 11.75 55007 5354 6.748 - 6.748 5/8-11 - 150 1" 6 27.2 FLA-400/D8
. o A8 16.02 55007 5354 6.748 - 9.252 3/4-10 - 142 5811 6 69 FLA-500/A8 D1-11 11.75 7.7507 5354 9.252 - 6.748 5/8-11 - 189 1-316" 6 26.8 FLA-400/D11 o
All 16.02 7.7507 7.580 9.252 - 9.252 3/4-10 - 142 3/410 6 61 FLA-500/A11 - D1-8 16.02 55007 5.354 6.748 - 9.252 3/4-10 - 142 1" 6 74 FLA-500/D8
A8 16.02 55007 5354 6.748 - 13.000 3/4-10 - 142 5/811 6 69 FLA-630/A8 D1-11 16.02 7.7507 7.580 9.252 - 9.252 3/4-10 - 173 1-316" 6 78 FLA-500/D11
25" All 16.02 7.7507 7.580 9.252 - 13.000 3/4-10 - 142  3/410 6 61 FLA-630/A11 D1-8 16.02 55007 5354 6.748 - 13.000 3/4-10 - 142 1" 6 74 FLA-630/D8
Al5 16.02 11.2505 9.92 13.00 - 13.000 3/4-10 - 205 7/89 6 76 FLA-630/A15 25" D1-11 16.02 7.7507 7.580 9.252 - 13.000 3/4-10 - 173 1-3/16" 6 78 FLA-630/D11
Note: D1-15 16.02 112505 992 13.00 - 13.000 3/4-10 - 205 1-3/8" 6 77 FLA-630/D15
-For 4" through 12-1/2" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" to0.0129" Note: . . . . .,
-For 15-3/4" through 25" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0141" t00.0236" -For 4" through12-1/2" chucks theclearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" t00.0129

-For 15-3/4" through 25" chucks theclearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0141" to0.0236"

www.gatorchucks.com www.gatorchucks.com




M FLA Series Adapter Plate FLA Series Adapter Plate IS
~ ~
S S
S S
E Type L Steel Adapters, Fully Machined Type "T" Threaded Steel Adapters, Fully Machined E
"R for PA Series & PB Serieschucks for PA Series & PB Series chucks R
e All adapters are heat treaded forlonger life e All adapters are heat treaded forlonger life
e All adapters donot require any additional machining e All adapters donot require anyadditional machining

. Le1) ' |ez]

U )
> >
2 2
D 1)
= =
D D
(2} (2}
1 1
Tl m
o o
= =
(@] (@]
D D
o o
92) 92
— —
@D 9]
® ®
w w
o o
o o
< <
> >
S =
c =
(0] n
— —
QD QD
S =3
@D (0
n wn
(@) O
= =
= =
0O 0O
=5 =
= c
(@) (¢}
~ ~
(0] (2}

B B
For Chucks from5" thru 12-1/2" For Chucks from15-3/4" thru 25"
Chuck |Taper| OD | Thread L0 MCC:JTJLrJl(t:rI:g Thread oD

size | A | T-UNS3 Hgle C G B(,vlts Bl| B2 B1 '. Part No. d A E F B2 | B1 M Part No.

6-1/4" LOO  6.30 3-3/4-6 2750 220 3385 5512 M10x1.50 .79 .63 2.52 9.0 FLA-160/L00 4 1-10 UNS-2B 3.94 1.0150 1771 3268 154 47 51  M8x1.25 4.85 FLA-100/T1

6-1/4" LO 6.30 4-1/2-6 3250 260 3385 5512 M10x1.50 .79 .63 2.56 9.5 FLA-160/LO 1-1/2-8UN-2B 3.94 15150 1771 3268 154 47 51  M8x1.25 5.29 FLA-100/T2

8" Loo  7.87 3-3/4-6 2750 220 4330 6.929 M10x1.50 .79 .67 2.56 15.0 FLA-200/L00 1-1/8-12W 4.92 1249 2164 4252 154 55 51  M8x1.25 4.05 FLA-125/T3

8" LO 7.87 4-1/2-6 3250 260 4330 6.929 M10x1.50 .79 .67 2.56 154 FLA-200/LO " 1-1/2-8UN-2B 4.92 15150 2164 4252 197 59 51  M8x1.25 6.61 FLA-125/T2

8" L1 7.87 6-6 4125 333 4330 6.929 M10x1.50 79 .67 2.99 16.5 FLA-200/L1 2-3/16 - 10 Hardinge 4.92 21889 2164 4252 285 79 51  M8x1.25 7.05 FLA-125/T4

10" LOO 9.84 3-3/4-6 2750 220 5708 8819 M12x1.75 91 .75 2.76 25 FLA-250/L00 2-1/4-8UN-2B 4.92 22600 2164 4252 295 .79 51  M8x1.25 6.80 FLA-125/T5

10" LO 9.84 4-1/2-6 3250 260 5708 8819 M12x1.75 91 .75 2.76 26 FLA-250/L0 1-1/2-8 UN-2B 6.30 15150 3385 5512 205 63 .59 M10x1.50 7.05 FLA-160/T2

10" L1 9.84 6-6 4125 333 5708 8819 M12x1.75 91 .75 2.99 37 FLA-250/L1 6-1/4" 2-3/16 - 10 Hardinge 6.30 21889 338 5512 205 63 59 MI10x1.50 7.50 FLA-160/T4

12-1/2" L0 1240 4-1/2-6 3250 260 7.076 11.260 M16x2 91 75 2.76 37 FLA-315/L0 2-1/4-8UN-2B 6.30 22600 3385 5512 205 .63 .59 M10x1.50 7.94 FLA-160/T5

12-1/2" L1 1240 6-6 4125 333 7.076 11.260 M16x2 91 75 299 37 FLA-315/L1 1-1/2-8 UN-2B 7.78 15150 4330 6929 197 67 .79 M10x1.50 9.92 FLA-200/T2

12-1/2" L2 1240 7-3/4-5 5250 429 7076 11.260 M16x2 91 .75 3.50 39 FLA-315/L2 8" 2-1/4-8UN-2B 7.78 22600 4330 6929 205 67 .79 M10x1.50 @ 11.46 FLA-200/T5
? 15-3/4" L1 11.75 6-6 4125 333 1175 6.748 5/8-11 .87 - 295 34 FLA-400/L1 2-3/8-6 UN-2B 7.78 23850 4330 6929 205 .67 .79 M10x1.50 @ 13.89 FLA-200/T6 3
g 15-3/4" L2 11.75 7-3/4-5 5250 429 1175 6.748 5/8-11 .87 = 3.50 45 FLA-400/L2 10" 2-3/8-6 UN-2B 9.87 23850 5708 8819 205 .75 .75 M12x1.75 30 FLA-250/T6 g
'_| 15-3/4" L3 11.75 10-3/8-4 6500 543 1175 6.748 5/8-11 .87 - 3.94 67 FLA-400/L3 12-1/2" 2-3/8-6 UN-2B 12.40 23850 7.076 11260 205 .75 94 M16x2 50 FLA-315/T6 '_|
E 20" L2 16.02 7-3/4-5 5250 429 16.02 9.252 3/4-10 118 - 3.66 60 FLA-500/L2 Note: ) E
Note: -For 4" through 12-1/2" chucks theclearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" t00.0129" !

-For 4" through 12-1/2" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" t00.0129"
-For 15-3/4" through 25" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0141" t00.0236"

www.gatorchucks.com www.gatorchucks.com




M BPA Series Low Profile Base Plates Jaws- Hard Top Jaws &S
S S
S S
E BPA Base Plate Hard Top Jaws, For 3-Jaw Chucks E
hh@ fOI’ PA Se”es & PB Serles ChUCkS e American Standard Tongue & Groove Jaws hh@

e Sold in sets

e Designed for usewith 3 &6 jaw scrollfront mount adjustablebody chucks with0.0004" T.I.R.
e Mounting bolts and T-Nutsincluded.
e Made of Hardened steel.

2

M
I I Lul‘u |y
e e ]
' £ ' A 5" to 12-1/2" 15-3/4" & up
d
—<— |
M :
: : :[ Dia. Lbs.
| ' T
D

U )
> >
2 2
D 1)
= =
D D
(2} (2}
1 1
Tl m
o o
= =
(@] (@]
D D
o o
92) 92
— —
@D 9]
® ®
w w
o o
o o
< <
> >
S =
c =
(0] n
— —
QD QD
S =3
@D (0
n wn
(@) O
= =
= =
0O 0O
=5 =
= c
(@) (¢}
~ ~
(0] (2}

I N 5"  5/8 57/64 .499% 3129 .157 .126 315 1516 .866 2.205 .571 1.38 0.93 TJ-PS3-125
:I M1 6-1/4" 3/4 1-1/8 499% .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS3-160
8" 7/8 1-3/8 .499% .43 .71 .3129 .157 .126 413 1.772 1.181 3.347 .984 2.09 2.10 TJ-PS3-200
10" 1-1/16 1-9/16 .7496 .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS3-250
12-1/2" 1-1/4 1-7/8 .749% .55 .78 5004 .157 .126 689 2.283 1.654 4.252 1.22 3.01 5.10 TJ-PS3-315
15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS3-400
20" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS3-500
E.... M 25'832" 1-1/2 2-1/4 7496 .87 1.3 5004 .157 .248 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630
= F G H Chuck Mountingl M1 : Part No.
Botls .
5" 4921 2164 425 4252 0551 M8x 1.25 M6 1.875 BPA-125
6-1/4" 6.299 3385 5512 5.512 0.630 M10x 1.5 M8 1.850 55 BPA-160 Hard TOp JaWS’ For 6 JaW ChUCkS
8" 7.874 4330 6.929 6.929 0.709 M10x 1.5 M8 2.362 7.7 BPA-200 e American Standard Tongue & Groove Jaws
10" 0843 5708 8819 8819 0787 M12x175  M10 3189 129 BPA-250 * Soldin sets
12-1/2" 12402 7.086 1126 1126  0.984 M16 x 2 M10 4252 239 BPA-315
15-3/4" 11.750 11.750 6.748 10.236 1.181 5/8"-11 M12 5.551 40.3 BPA-400
20" 16.024 16.020 9.252 14.173 1.378 3/4"-10 M16 7.677 60.2 BPA-500 = )
_ [

2

M
I I Wit |y
: LU ey
- A

o o
= P EHNRINEEENERSEDEFEETE
l_| W Dia. Lbs l_|
= hﬂ/ 5" 5/8 57/64 .499% 3129 157 .126 1.516 .866 2.205 .571 1.38 1.90 TJ-PS6-125 =
6-1/4" 3/4 1-1/8 4996 .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 2.40 TJ-PS6-160

2 e | ShEw | e | JeR) | e S A 8" 7/8 1-3/8 499 .43 .71 3129 .157 .126 413 1772 1181 3.347 .984 2.09  4.20 TJ-PS6-200

N e ™ 10" 1-1/16 1-9/16 74% .55 .78 5004 .157 .126 531 2087 1417 3.740 1.14 2.52 6.40  TJ-PS6-250

8 M8  .3937 5906 .2362  .4724 5906 | 12-1/2" 1-1/4 1-7/8 749% .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 10.20 TJ-PS6-315

10" M10 4724 7087 2756  .5512 7087 ‘YD 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 14.60 TJ-PS6-400

12-1/2" M10 4724 7087 2756  .5512 .7087 |/ ‘| 20"  1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 1.654 5.157 2.05 3.23 28.80 TJ-PS6-500

15-3/4"  M12 5512 .8661 .3150  .6299 8661 | 25'%32" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 2.047 5.157 2.05 3.23 44.20 TJ-PS6-630

20" M16  .7087 1.1024 .3937 .7874 1.1024 O T

www.gatorchucks.com www.gatorchucks.com




¥ Jaws- Hard Master Jaws Jaws- Soft Top Jaws &S
Xy )
~ ~
S S
IS IS
i Hard Master Jaws, For 3-Jaw Chucks Soft Top Jaws, For 3-Jaw Chucks )
0y 3
® American Standard Tongue & Groove Jaws ® American Standard Tongue & Groove Jaws
@ ican Standard G ican Standard G @
e Sold in sets . e Sold by piece
o Lael
Y - 0
P w >
n e n
= : 2
D K K K K K K K D
7 | K K K K F £ o o
e "
= B o on 5@5¢ e e0e) il -
o | | | | | M, G| H ol - m [ H _|I- o
- el el el n 6| Lcl H 6l 1 | A A =
o ' ' (@]
D m 25" to 32" Diameter ® 20" Diameter H 12"to 16" Diameter ® 5"to 10" Diameter 8
o
('r—,c-) Ch OAL Thread Wi. Part No. Chuck BoltSlze Wt. Part No. 9
o Di Lbs. Dia. Lbs. o
5 5" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-18 0.93 MJ-PS3-125 2.520 0.866 1520 .3129 05910 1-/4 500 1.000 .1260 .283 5/16-18 0.66 STJ-PS1-125 5
(@) 6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS3-160 6-1/4"  3.071 1.000 1.634 .3129 08386 1-1/2 .500 1339 .1260 .283 3/8-16 1.01 STJ-PS1-160 (@)
% 8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS3-200 8" 3.543 1.063 1.713 .3129 09488 1-3/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS1-200 %
> 10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS3-250 10" 4.173 1.280 2.028 .5000 10827 2-1/8 .750 1.772 .1260 .283 1/2-13 2.54 STJ-PS1-250 >
=2 12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS3-315 12-1/2" 4.724 1575 2165 .5000 12087 2-1/2 .750 2.087 .2480 .283 1/2-13 .58 STJ-PS1-315 =2
g 15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS3-400 15-3/4" 5.512 1.654 2539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS1-400 g
S 20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS3-500 20" 5.512 1.969 2933 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 5.29 STJ-PS1-500 E
=2 25" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS3-630 25"&32" 6.299 2.047 3288 .5000 13543 3 750 2480 .2480 .406 3/4-10 9.26 STJ-PS1-630 =3
D 31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS3-800 D
0] wn
(@) (@)
- =
o Hard Master Jaws, For 6-Jaw Chucks Soft TopJaws, For 6-Jaw Chucks o
e American Standard Tongue & Groove Jaws e American Standard Tongue & Groove Jaws
@) [ dard [ dard @)
> e Sold in sets e Sold by piece =3
c F c
% i 1 — ;
e S L= e
== w
[a)
B
K K K K K K K K K K K
[ — 1T 1 | — — F E (@]
] _E%l— :KSE}_ [ [ | T 1
E"¢E —OH E’bE = E¢E¢ - -] I Ba— ,
SEDSRD - W lel w al; - [clH [T1-
Le] Le] |Le H | LG | [Lc H | G H | A A
®m 25" to 32" Diameter ® 20" Diameter H 12"to 16" Diameter B 5"to 10" Diameter
— —
D D
@) (@)
= Chuck OAL Thread Wi. Part No. Chuck BoItS|ze Wt. =
l_| Dia. Lbs. Dia. Lbs. l_|
E 5" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-18 1.90 MJ-PS6-125 2520 0866 1520 .3129 05910 1-1/4 500 1.000 .1260 .283 5/16-18 0.66 STJ-PS6-125 E
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 2.40 MJ-PS6-160 6-1/4" 3.071 1.000 1.634 .3129 08386 1-1/2 .500 1339 .1260 .283 3/8-16 1.01 STJ-PS6-160
8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 4.20 MJ-PS6-200 8" 3.543 1.063 1.713 .3129 09488 1-3/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS6-200
10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 6.40 MJ-PS6-250 10" 4.173 1.280 2.028 .5000 1.0827 2-1/8 .750 1.772 .1260 .283 1/2-13 2.54 STJ-PS6-250
12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 10.20 MJ-PS6-315 12-1/2" 4.724 1575 2165 .5000 1.2087 2-1/2 .750 2.087 .2480 .283 1/2-13 3.53 STJ-PS6-315
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 14.60 MJ-PS6-400 15-3/4" 5.512 1.654 2539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS6-400
20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 28.80 MJ-PS6-500 20" 5.512 1.969 2933 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 5.29 STJ-PS6-500
25" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 44.20 MJ-PS6-630 25"&32" 6.299 2.047 3288 .5000 13543 3 750 2480 .2480 .406 3/4-10 9.26 STJ-PS6-630

31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 44.20 MJ-PS6-800

www.gatorchucks.com www.gatorchucks.com




S Jaws - 1D Jaws Jaws - OD Jaws S
Q) Q)
=) S
=S =S
) , : =
S ID Hard Solid Jaws, For 3-Jaw Chucks OD Hard Solid Jaws, For 3-Jaw Chucks S
e e
@ e Sold in sets e Sold in sets @
U P P U
> _10 o >
(0)) (0))
® P o
= szl 3zl =,
a c c a
' | =W ] [ '
T s LL L Tl
o L B L B =
(@] (@]
(9] (9]
o o
(0)) 0)]
— Chuck Wt. /DC Chuck Wt./pc. —~
o --ﬂ---ﬂ- Fart e Dia. Lbs. | Farthe: o
5 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 0J-PS3-100 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 1J-PS3-100 5
(@) 5" 1.5748 2.0079 .7874 .3150 .3150 .3150 1.313 512 .40 0J-PS3-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS3-125 (@)
% 6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS3-160 6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .3937 1.772 .748 .80 1J-PS3-160 g‘
> 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS3-200 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 1J-PS3-200 >
.E'. 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS3-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS3-250 .E‘
g 12-1/2" 2.9528 4.9213 1.2598 .5000 .4724 .7087 3.268 1.358 2.90 0J-PS3-315 12-1/2" 2.9528 4.9213 1.2598 .5000 .4724 .7087 3.268 1.358 2.90 1J-PS3-315 g
S 15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 .8661 3.898 1.417 5.20 0J-PS3-400 15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 .8661 3.898 1.417 5.20 1J-PS3-400 S
E 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS3-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS3-500 E
@D ()
wn (0p)
(@] (@]
-~ - - -~
o ID Hard Solid Jaws, For 6-Jaw Chucks OD Hard Solid Jaws, For 6-Jaw Chucks o
O e Sold in sets e Sold in sets O
>0 >0
c c
(@] (@]
~ ~
(7)) P o P (7))
ozl ] :EL
szl szl
C C
[ =W ] [W
palnnn GG Lo C
L B L B
— —
(¢»] (0]
(@] (@]
= Chuck Wit. /pc Chuck Wt. /pc =r
'C‘ 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 0J-PS6-100 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 1J-PS6-100 'C‘
5" 1.5748 2.0079 .7874 .3150 .3150 .3150 1.313 512 .40 0J-PS6-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS6-125
6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS6-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 1J-PS6-160
8" 2.1260 3.3459 .9843 .3543 3937 .4724 2.244 .906 1.07 0J-PS6-200 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 1J-PS6-200
10" 2.4803 4.1339 1.1024 .4331 .4724 5512 2.736 1.102 1.73 0J-PS6-250 10" 2.4803 4.1339 1.1024 .4331 .4724 5512 2.736 1.102 1.73 1J-PS6-250
12-1/2" 2.9528 4.9213 1.2598 .5000 .4724 .7087 3.268 1.358 2.90 0J-PS6-315 12-1/2" 2.9528 4.9213 1.2598 .5000 .4724 .7087 3.268 1.358 2.90 1J-PS6-315
15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 .8661 3.898 1.417 5.20 0J-PS6-400 15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 .8661 3.898 1.417 5.20 1J-PS6-400
20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS6-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS6-500

www.gatorchucks.com www.gatorchucks.com




g Jaws - Soft Solid Jaws Spare Parts &S
Xy )
S S
5 : .. .. 5
S Soft Solid Jaws, For 3-Jaw Chucks Scroll Plates Pinions Pinion Sleeves =
) e Sold by piece e Sold by piece e Sold by piece )
& e Sold in sets @
OAL
T oD o
b= >
0p) 0p]
2 2
1 . EEDE GEDEEEE Grme §
'In ] LLE 4" SC-PS-100 2.7323 PI-PS-100  .9843 1.3976 4" - - _'n
o 5 _'-"'-'"-'"-'E-'"-"'-"'-"'-'_ 5" SC-PS-125 3.7008 5 PI-PO-125  .9843 1.3268 5 PS-P-125 1.2205 o
o) 6-1/4" SC-PS-160 4.8819 6-1/4" PI-PO-160  1.1024 1.6063 6-1/4" PS-P-160 1.4173 Q@
o 8"  SC-PS-200 6.2598 8"  PI-PO-200 1.1811 1.9882 8"  PS-P-200 1.4961 o
v 10"  SC-PS-250 7.7953 10" PI-PO-250  1.3583 2.2638 10" PS-P-250 1.6732 0
o --n-- 12-1/2" SC-PS-315 10.1575 12-1/2" PI-PO-315  1.4764 2.8543 12-1/2" PS-P-315 1.7913 o
® 15-3/4" SC-PS-400 12.9134 15-3/4" PI-PO-400  1.7323 3.6614 15-3/4" PS-P-400 2.0472 @
w i 1.2598 1.6535 S LU L SJ-PS3-100 20"  SC-PS-500 16.4173 20" PI-PO-500 1.9685  3.8780 20" PS-P-500 2.3622 w
8_ > 1.5748 2.0079 7874 3150 3150 40 SJ)-PS3-125 25"  SC-PS-630 21.3386 25"  PI-PO-630  2.0472 4.7087 25"  PS-P-630 2.4409 8_
< 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .80 SJ-PS3-160 <
> 8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS3-200 >
.g‘_ 10" - 2.4803 4.1339 1.1024 4331 4724 1.73 SJ-PS3-250 H alf R I ngs Flne Adjustment Chuck Mountlng .g‘
@ 12-1/2 2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS3-315 e Sold by piece Screws Bolts «
o 15-3/4"  3.6220 5.7087 1.4173 .5906 5512 5.20 SJ-PS3-400 e Sold by piece e Sold by piece o
=2 20" 3.9370 7.0866 1.5748 .6299 5512 7.33 SJ-PS3-500 =2
o o
0] wn
3 o
o Soft Solid Jaws, For 6-Jaw Chucks o
1 i e | oo e o g
= FS-P-100 M10x1 1.0039 4" MB-BA-100 M8 g
=~ 5" HR-P-125  1.4567 5" FS-P-125  M12x1 1.2992 5"  MB-BA-125 M8 =~
@ 6-1/4" HR-P-160 1.7323 6-1/4" FS-P-160 M18x1 1.4567 6-1/4" MB-BA-160 M10 @
8" HR-P-200  1.8504 8" FS-P-200 M18x 1 1.7323 8"  MB-BA-200 M10
10"  HR-P-250  2.0669 10"  FS-P-250 M18x1 1.9094 10"  MB-BA-250  M12
O 12-1/2" HR-P-315  2.1654 12-1/2" FS-P-315 M18x1 2.5394 12-1/2" MB-BA-315 M12
15-3/4" HR-P-400 2.4213 15-3/4" FS-P-400 M18x 1 1.9094 15-3/4" MB-BA-400 5/8"-11
J L"',f T 20"  HR-P-500 2.8346 20"  FS-P-500 M18x1 1.7323 20"  MB-BA-500 3/4"-10
B L 25"  HR-P-630 2.9134 25"  FS-P-630 M18x1 4.2520 25"  MB-BA-630 3/4"-10
o o
i [ I I A R S T sspenes (Standard & Extended) :
1 DIEN Lbs e Sold by piece 1
-C_J 1.2598 1.6535 5906 2362 2362 SJ-PS6-100 Square -C_J
5" 1.5748 2.0079 7874 .3150 .3150 .40 SJ-PS6-125 Dia. Size --
6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .80 SJ-PS6-160 4" 3543 3.15 W-P-100
8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS6-200 5" 3543 3.15 W-P-125 - - L
10" 2.4803 4.1339 1.1024 4331 4724 1.73 SJ-PS6-250 6-1/4" 4331 3.90 W-P-160 7.87  W-SP-160 I L
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS6-315 8" 4331 3.90 W-P-200 10.02 W-SP-200
15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 5.20 SJ-PS6-400 10" 5512 4.78 W-P-250 8.74 W-SP-250
20" 3.9370 7.0866 1.5748 .6299 .5512 7.33 $J-PS6-500 12-1/2" 5512 4.76  W-P-315  10.87  W-SP-315 Standard Wrench Extended Wrench
15-3/4" 6693 5.51  W-P-400 10.75  W-SP-400
20" 7480  9.06  W-P-500 18.11  W-SP-500
25" 7480  9.06  W-P-630 - -

www.gatorchucks.com www.gatorchucks.com




ﬁm PB Series - Semi-Steel Body Adjustable Scroll Chucks

\A@ e gatorchucks’ Medium Duty

BY FUERDA . . .
3-Jaw & 6-Jaw, With Fine Adjustment,
Semi-Steel Body, 0.0004" T.I.R.

Va4ini A9

Syanya Jojel

Syanya Jojel

()
()

Features and Benefits

) —~ —
P. B s E i ". )‘ :Js « 3 piniondesign.
« 4 micro-fine adjustment screws allow 0.0004" T.I.R. (4" thru 12-1/2" chucks).

* 8 micro-fine adjustment screws allow 0.0004" T.I.R. (15-3/4" thru 25" chucks).

T T
W oy
w w
) )
) =
(0)] (0)]
n %
) )
3 3
n )
~—+ ~—
) ®
@ @
W oy
o o)
o o
< <
> >
= =
c c
(0] (0)]
— ~—+
) )
= =)
) )
w (0]
(@) (@)
= -
=) =l
@) @)
=y =
c =
(@) (@)
~ ~
(0] (0]

- * Two piece hard top & master jaws are American Standard tongue and groove.
Med I u m DUty Seml Steel BOdy * High quality semi-steel body construction allows for higher lathe speed and longer life.
Adj ustab | e Scrol | Ch u Cks * Forged and hardened scrolls are precision ground and balanced forlonger life and
higher accuracy.
PB Series Semi-Steel Body Adjustable Scroll Chucks can be * Jaws and pinions are hardened and precision ground to increase life of the chuck.
d f Il machinina operations where universal direct * Each chuckis balanced within fine limit for the high speed machining.
usedlora 9 _p . . .. » Steel adapter plates are interchangeable with PASeries chucks of the same size so that
mount chucks are unsuitable. High quality, versatility and one chuck can be used on different lathe spindles.
durability make PB chucks more affordable in WOFkShOpS * Proper chuck maintenance can extend the life of your PA chuck significantly.
and indispensable in the tool rooms - It mustbe cleaned and lubricated on aregular basis as recommended in Gator service

instruction.

» For the best gripping results, use the Gatorrecommended chuck grease.

» The 6-jaw chucks grip firmly with less pressure and less distortion perjaw and they are
ideal for thin wall and finishing operations. They eliminate the need for spring collets

2

5 &
H'uje()mm

NIl -Ydal
.nip-ysa)

Tech-Tru”

www.gatorchucks.com www.gatorchucks.com




*Master jaws and scroll should be always in a full engagement.
*Select jaws with the proper jaw gripping surfacesto fityour application.
*Use properjaws forrough and finishing machining.

¥ Clamping Ranges Chuck Parts S
) <y
g E Note: 3-Jaw & 6-Jaw, Forged Steel Body g
E. *Never exceed chuck gripping ranges. Adjustable Sroll Chucks, 0.0004" T.1.R. E.
= =
U L)

va4iniAg
Vayini A

()
()

. Hard Master Jaws
.Hard Top Jaws

. Grease Nipple
10.Chuck Mounting Bolts
11.&13. Back Cover Mounting Bolts
12. Spindle Locating Pin - "A" Mount Only
14. Chuck Wrench

15 & 16. Hard Top Jaw Mounting Bolts

17. Chuck Mounting Bolts

18 & 20. Hex Keys

19. Fine Adjustment Screw

1. Chuck Body
1 I — 2. Back Cover
\ | | \ [ | 3. Scroll Plate
Y ) 4. Pinion
S gy e B I = 1 P o 5. Pinion Half Ring
6. Pinion Sleeve
7
8
9

3-Jaw Chucks

B with Solid Jaws
B with Two-Piece Jaws

o | | 5 | eur | & | w | par | sar | o | & |

di .118-1.30 118197 .118-252 .157-354 197465 .394-516

U 1)
09) v9)
%2 n
1) D
D =
(0] (2}
2 2
@D 1)
3 3
92 2]
— —
D (9]
1), L
w oy}
o o
o o
< <
> >
= =
c c
0 (0)]
— —
o QD
= =
@D (9]
%2 2
(¢} (@)
= =
S S
0O 0O
> >
= c
(¢} (@)
~ ~
(2} (2}

Sorid d2 126244 154327 197421 236571 303740 354-8.46 - - - ol »-Pioce | Solid T “Fine
Jaws U3 244327 315492 386630 512787 630984 7.481240 - - - F E A1 A d H c M&T Agéggsvfgeﬁt
d4 98220 134291 165394 205531 244685 3.07-7.87 - - - (max.) Qty.| Thread Q.
d5 220343 283453 370606 472795 5711008 677-11.77 - - - M10 x 1
d1 - 118197 118252 157354 197465 394516 394709 787925 1.18-13.19 4" 32677 1.7 - - 0787 2677 ) 063 051 M8x125 M12x 1*
- d2 - 205378 244476 283614 339776 406890 5001157 4331575 4722244 5" 4.252 2.1654 . . 1.378 2.362 1575 0.787 0.59 M8x1.25 M12x1
TWOPISCe 43 - 37449 453630 524787 630984 7481240 9061575 7481960 7.87-2480 i L BN I I SR W B SR MURAENEC B 4
d4 - 134299 165381 197512 228650 256717 2.84-898 4721614 551-23.23 8 EEIE N - . L S e e N
10"  8.8188 5.7086 - - 2.992 3504 2.05 1.339 0.79 M12x1.75
d5 - 295465 346575 413748 492925 5711043 650-1295 7.87-19.09 8.27-26.18 12-1/2" 11.2598 7.0866 - - 4055 3819 224 1693 079 M16x2 M18 x 1
15-3/4"  6.75 = 11.748 11.782 5.354 4.803 2.638 = 0.87  5/8x11
20" 9.252 = 16.022 16.032 7.48 5.669  3.11 - 1.18  3/4x10 6 8
6-Jaw Chucks 25" 13 : 16.022 16.032 9.921 5905 3.425 : 118  3/4x10
B with Solid Jaws * For 6 jaw chucks only
B with Two-Piece Jaws
3 ~ 3
5 . 5
= nch |4 | 5 | 6w | & | 10 |12 |15sw | 200 | 25" Yo , =
c dl .118-1299 .236-169 315251 315354  47-465 47516 - - - ’ c
_ d2 1259-2440 165-307 205421 252571 323740 374846 - - - F el
SONd 43 24403661 327472 402630 520787 650984 7561240 - : : al<lu
d4 10232204 134268 185394 217531 268685 323787 - - - alu|wlo
d5 2244-3425 291-433 386606 476795 5911008 7.01-11.77 . - : g £E
d1 - 236169 315251 315-354  47-465 47516 59795 118925 157-13.19 %@
d2 - 197343 264476 291-614 323740 425890 520-1165 4761583 5.20-21.85 "ﬁ
Two-Piece M/_JC
S B - 370492 465630 528787 646984 6021240 9291575 7.76-18.82 827-24.80 0o ln
d4 - 130275 177-382 205512 268685 268717 287992 5311626 591-23.03 H h
ds5 . 230468 362575 429748 5911008 591-1008 6.65-13.86 827-19.25 8.66-26.02 ® Chuck Diameters: 4" thru 12-1/2" ® Chuck Diameters: 15-3/4", 20" & 25"

www.gatorchucks.com www.gatorchucks.com




¥ Application for Adapter Plate Chuck Details S
) <y
S S
= : . "
= Adapter Plate & Chuck mounting principles Chuck Eye Bolts =
Y for 4"thru 12-1/2"chucks Dimensions e
Al <A (Alhas to bealways smaller than A& the clearancerange D1 C SURFACE /> géu'smmg From 10" upto 31-1/2"
between the chuckcounterbore ID &adapter boss ODshould be  — — —

from 0.0078" t00.0129")

h1l < h(hl has alwaysto be smallerthan h)

D1 = D(Adapter OD hasthe same diameteras chuck OD)
Installing chuck onthe adapter plate or base platebe sure aswell
that chuck backsurface "C" isin a fullcontact with adapterplate /
base plate frontsurface "C". Bothsurfaces on thedrawing are
marked with ablack bold line.

e i Chuck Thread
- =

‘H TH

! 2 10" M10x 1.75 EB-M10
% 12-1/2" M12 x 1.75 EB-M12
Z /] X]A] 15-3/4" M12 x 1.75 EB-M12
20" M16 x 2 EB-M16
. 25" M16 x 2 EB-M16
31-1/2" M20x 2.5 EB-M20
77 60mm
=
Adapter Boss Chuck Counterbore

Adapter Plate & Chuck mounting principles
for 15-3/4"thru 25" chucks

Al <A (Alhas to bealways smaller than A& the clearancerange _ A
between the chuckcounterbore ID &adapter boss ODshould be C SURFACEL]
from 0.0141" t00.0236") @

T T
W oy
w w
) )
) =
(0)] (0)]
n %
) )
3 3
n )
~—+ ~—
) ®
@ @
W oy
o o)
o o
< <
> >
= =
c c
(0] (0)]
— ~—+
) )
= =)
) )
w (0]
(@) (@)
= -
=) =l
@) @)
=y =
c =
(@) (@)
~ ~
(0] (0]

IN

hl < h(hl has alwaysto be largerthan h)

D1 =A (AdapterOD has smallerdiameter than chuckcounterbore
ID) Installing chuckon the adapterplate or baseplate be sureas
well that chuckcounterbore bottom surface"C" is ina full contact
with adapter plate/ base platefront surface "C".Both surfaces on

U -

i3

- . : L)
the drawing are marked with ablack bold line. hi _I_
ChunksJ
Mounting
2 Bolts

lo

NIl -Ydal

.nip-ysa)

1
KZ% 4 [
Z% _'¢

l _

—

Adapter Boss Chuck Counterbore

www.gatorchucks.com www.gatorchucks.com




H n H n
1 3 & 6 Jaw Adjustable Scroll Chucks,0.0004" T.I.R. 3 & 6 Jaw Adjustable Scroll Chucks,0.0004" T.1.R. 1
E‘ With Fine Adjustment, Smei-Steel Body, 3 Pinion Design With Fine Adjustment, Forged Steel Body, 3 Pinion Design E‘
) S
) . . . . . . )
IR 3-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws 6-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws IR
EE’B Eg,a
® ®
Each chuck is provided with: Each chuck is provided with:
B 1 Setof hard master jaws B 1 Setof hard master jaws
o B 1 Setof hardtop reversible jaws B 1 Setof hardtop reversible jaws o
w B 1 Set ofmounting bolts B 1 Set ofmounting bolts w
v B 1 Setof fine adjustment screws B 1 Setof fine adjustment screws wn
D ® 1 Chuck wrench ®m 1 Chuck wrench D
=. B 2 Hex keys B 2 Hex keys =
8 B Eye boltsfor chucks 10" and larger B Eye bolts for chucks 10" and larger 8
: B 20" & 25"chucks are providedwith T-slots B 25" & up chucks are provided with scroll ejecting screws .
wn B 25" & up chucks are provided with scroll ejecting screws wn
g Semi-Steel Body Semi-Steel Body "3"
= =
9 RPM © ey Weight Hard Top |[Hard Master Soft Top RPM C ey Hard Top |[Hard Master Soft Top 9
i ** i *%
g Hole Max '\%‘apauty Ibs. Model Part No. T f— G Wrech Hole Max C_apauty . Model Part No. T [ —" N Wrech 8
w in.-Max. Min.-Max. w
g 5" 1.378 3200 .118-4.92 1 PB3-5"A 1-151-0500 TJ-PS3-125 MJ-PS3-125 STJ-PS3-125 W-P-125 S 1.378 2700 .236-4.72 15 PB6-5"A 1-153-0500 TJ-PS6-125 MJ-PS6-125 STJ-PS6-125 W-P-125 g
[oX 6-1/4" 1.654 3000 .118-6.30 21 PB3-6"A 1-151-0600 TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 W-P-160 6-1/4" 1654 2500 .315-6.30 27 PB6-6"A 1-153-0600 TJ-PS6-160 MJ-PS6-160 STJ-PS6-160 W-P-160 %
<
> 8" 2165 2500 .175-7.87 39 PB3-8"A 1-151-0800 TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 W-P-200 8" 2165 2000 .315-7.87 41 PB6-8"A 1-153-0800 TJ-PS6-200 MJ-PS6-200 STJ-PS6-200 W-P-200 >
& 10" 2992 2000 .197-9.84 69 PB3-10"A  1-151-1000 TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 W-P-250 10" 2.992 1600 A47-9.84 72 PB6-10"A  1-153-1000 TJ-PS6-250 MJ-PS6-250 STJ-PS6-250 W-P-250 E.
g 12-1/2"  4.055 1500 .394-12.40 123 PB3-12"A  1-151-1200 TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 W-P-315 12-1/2" 4,055 1100 A7-12.40 115 PB6-12"A  1-153-1200 TJ-PS6-315 MJ-PS6-315 STJ-PS6-315 W-P-315 g
S 15-3/4" 5354 1000 .394-15.75 215 PB3-16"A  1-151-1600 TJ-PS3-400 MJ-PS3-400 STJ-PS3-400 W-P-400 15-3/4" 5354 700 .59-15.75 240 PB6-16"A  1-153-1600 TJ-PS6-400 MJ-PS6-400 STJ-PS6-400 W-P-400 S
= 20" 7.480 700 .787-19.69 395 PB3-20"A  1-151-2000 TJ-PS3-500 MJ-PS3-500 STJ-PS3-500 W-P-500 20" 7.480 400 1.18-18.82 408 PB6-20"A  1-153-2000 TJ-PS6-500 MJ-PS6-500 STJ-PS6-500 W-P-500 =2
@ 25" 9.921 500 1.18-24.80 640 PB3-25"A  1-151-2500 TJ-PS3-630 MJ-PS3-630 STJ-PS3-630 W-P-630 25" 9.921 250 1.57-24.80 652 PB6-25"A  1-153-2500 TJ-PS6-630 MJ-PS6-630 STJ-PS6-630 W-P-630 @
(on *W-SP-Extended Wrenches available from stock. *W-SP-Extended Wrenches available from stock. Q
= See Page 40 See Page 40 =
S o
@) . . . . 0
=) 3-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws 6-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws =)
¢) 9)
= ) ) ) ) ) ) x~
n Each chuck is provided with: Each chuck is provided with: wn
B 1 Setof hard solid ID jaws B 1 Setof hard solid ID jaws
m 1 Setof hard solid OD jaws m 1 Setof hard solid OD jaws
B 1 Set of mounting bolts B 1 Set of mounting bolts
B 1 Setof fine adjustment screws B 1 Setof fine adjustment screws
B 1 Chuck wrench B 1 Chuck wrench
B 2 Hex keys B 2 Hex keys
B Eye boltsfor chucks 10" and larger B Eye boltsfor chucks 10" and larger
— Semi-Steel Body Semi- Steel Body —]
D D
O O
> . . >
Clamping n Clamping . 1
! RPM . ID - Hard OD - Hard Soft Solid o RPM , ID - Hard OD - Hard Soft Solid "
j Rl Max I\(/I:i?]p—el\\;lzgi et FEIEINID: Solid Jaws | Solid Jaws Jaws BEE el Max l\(/-lji?]p—?\jl:lat))(/ e FEUEINO: Solid Jaws | Solid Jaws Jaws = j
c : : : : c
4" 787 3500 118-3.27 9.0 PB3-4" 1-152-0400 OJ-PS3-100 1J-PS3-100 SJ-PS3-100  W-P-100 4" 787 3000 .118-3.661 10 PB6-4" 1-154-0400 OJ-PS6-100 1J-PS6-100 SJ-PS6-100  W-P-100
58 1.378 3200 .118-4.92 12 PB3-5" 1-152-0500 OJ-PS3-125 1J-PS3-125 SJ-PS3-125  W-P-125 g" 1378 2700 .236-4.72 16 PB6-5" 1-154-0500 OJ-PS6-125 1J-PS6-125 SJ-PS6-125  W-P-125
6-1/4" 1.654 3000 .118-6.30 24 PB3-6" 1-152-0600 OJ-PS3-160 1J-PS3-160 SJ-PS3-160  W-P-160 6-1/4" 1654 2500 .315-6.30 29 PB6-6" 1-154-0600 OJ-PS6-160 1J-PS6-160 SJ-PS6-160  W-P-160 .
8" 2165 2500 175-7.87 41 PB3-8" 1-152-0800 OJ-PS3-200 1J-PS3-200 SJ-PS3-200  W-P-200 8" 2165 2000 .315-7.87 42 PB6-8" 1-154-0800 OJ-PS6-200 1J-PS6-200 SJ-PS6-200  W-P-200 ‘
10" 2992 2000 .197-9.84 71 PB3-10" 1-152-1000 OJ-PS3-250 1J-PS3-250 SJ-PS3-250  W-P-250 10" 2.992 1600 A47-9.84 79 PB6-10" 1-154-1000 OJ-PS6-250 1J-PS6-250 SJ-PS6-250  W-P-250
12-1/2"  4.055 1500 .394-12.40 126 PB3-12" 1-152-1200 OJ-PS3-315 1J-PS3-315 SJ-PS3-315  W-P-315 12-1/2"  4.055 1100 47-12.40 150 PB6-12" 1-154-1200 OJ-PS6-315 1J-PS6-315 SJ-PS6-315  W-P-315
*W-SP-Extended Wrenches available from stock. *W-SP-Extended Wrenches available from stock.
See Page 40 See Page 40

www.gatorchucks.com www.gatorchucks.com




M FLA Series Adapter Plate FLA Series Adapter Plate &S
) Xy
~N ~N
S S
2 . - 2
= Type A1/A2 Steel Adapters, Fully Machined Type D1 Steel Adapters, Fully Machined =
hh . . - . h%
o for PA Series & PB Serieschucks for PA Series & PB Serieschucks o
e All adapters comewith spindle mountingbolts e All adapters comewith spindle mounting camlock studs
e All adapters areheat treaded forlonger life e All adapters areheat treaded forlonger life
) e All adapters donot require anyadditional machining e All adapters donot require anyadditional machining )
o 0]
w 0]
D @D
>, =
(1) | 1 (1)
=
5 — 5
w w
1) —_— (1)
3 3
1 1
9 < Ww| wl of-i-11---- -o| O 9
D < © o))
© =
2 a7 2
= 1 -~ =
< Zz s <
P 1 |.B1 % P
= —_— B LB =
c c
(0] (0)]
~—+
S For Chucks from5" thru 12-1/2" For Chucks from15-3/4" thru 25" For Chucks from5" thru 12-1/2" For Chucks from15-3/4" thru 25" )
o ()
) )
w ()]
) Chuck Spindle Chuck o
= Thru p Thru =
o Chuck |Taper| OD Mountng Mountmg Bolts Taper| OD Mountng . o
= ; Size | A Hgle F C G Bolts Lbs. Part No. Size | A H(()jle F C E Bolts _ Part No. =
0 M -- M 0
g Ad 492 25005 1378 3252 2164 4.252 M8x1.25 55 142 7/16-14 48 FLA-125/A4 D1-3 492 21250 1378 278 2164 4252 M8x1.25 55 154 916" 3 5.95 FLA-125/D3 g
) 5" A5 492 32505 1378 4126 2164 4.252 M8x1.25 55 142 7/16-14 4 4.2 FLA-125/A5 5" D14 492 25005 1378 3252 2164 4.252 M8x1.25 55 154 5/8" 3 5.73 FLA-125/D4 %
>
) A6 6.30 4.1880 1378 5252 2164 4.252 M8x1.25 55 189 1/2-13 4 9.1 FLA-125/A6 D15 492 32505 1378 4126 2164 4252 M8x1.25 55 154 3/4" 6 5.73 FLA-125/D5 wn
o A5 6.30 32505 1.654 4126 3385 5512 M10x1.50 .63 146 7/16-14 4 6.77 FLA-160/A5 D1-3 630 21250 1654 278 3385 5512 M10x1.50 .63 1.81  9/16" 3 10.80 FLA-160/D3
A6 6.30 4.1880 1.654 5252 3385 5512 M10x1.50 .63 1.46 1/2-13 4 6.97 FLA-160/A6 6-1/4" D14 630 25005 1654 3252 3385 5512 M10x1.50 .63 1.81 5/8" 3 9.92 FLA-160/D4
A4 7.87 25005 2165 3252 4330 6.929 M10x1.50 .67 146 7/16-14 4 9.3 FLA-200/A4 D15 630 32505 1654 4126 3385 5512 M10x1.50 .63 1.81 3/4" 6 9.89 FLA-160/D5
8" A5 7.87 32505 2165 4126 4330 6.929 M10x1.50 .67 1.46 7/16-14 4 135 FLA-200/A5 D1-4 7.87 25005 2165 3252 4330 6.929 M10x1.50 .67 1.30 5/8" 3 10.36 FLA-200/D4
A6 787 41880 2165 5252 4330 6.929 M10x1.50 .67 149 1/2-13 4 12.6 FLA-200/A6 8" D15 7.87 32505 2165 4126 4330 6.929 M10x1.50 .67 1.85 3/4" 6 15.87 FLA-200/D5
A5 9.84 32505 2992 4126 5708 8.819 M12x1.75 .75 149 7/16-14 4 17.3 FLA-250/A5 D16 7.87 41880 2165 5252 4330 6.929 M10x1.50 .67 2.01 7/8" 6 17.64 FLA-200/D6
10" A6 9.84 41880 2992 5252 5708 8819 M12x1.75 .75 149 1/2-13 4 17.3 FLA-250/A6 D15 984 32505 2992 4126 5708 8.819 M12x1.75 .75 1.50 3/4" 6 17.64 FLA-250/D5
A8 9.84 55007 2992 6.748 5708 8.819 M12x1.75 .75 1.81 5/8-11 4 20.2 FLA-250/A8 10" D16 984 41880 2992 5252 5708 8.819 M12x1.75 .75 2.09 7/8" 6 28.44 FLA-250/D6
? A6 1240 4.1880 4.055 5252 7.076 11.260 M16x2 75 149  1/2-13 4 27.3 FLA-315/A6 D1-8 984 55007 2992 6.748 5708 8.819 M12x1.75 .75 236 1" 6 3241 FLA-250/D8 3
g 12-1/2" A8 1240 55007 4.055 6.748 7.076 11.260 M16x2 75 181 5/8-11 4 35.7 FLA-315/A8 D1-6 1240 4.1880 4.055 5252 7.076 11.260 M16x2 .75 150 7/8" 6 28.44 FLA-315/D6 g
'_| All 1240 7.7507 4.055 9252 7.076 11.260 M16x2 75 217  3/4-10 4 41.2 FLA-315/A11 12-1/2" D1-8 1240 55007 4.055 6.748 7.076 11.260 M16x2 75 224 1" 6 47.84 FLA-315/D8 '_|
E A6 11.75 41880 4.055 5252 - 6.748 5/8-11 - 138 1/2-13 6 314 FLA-400/A6 D1-11 1240 7.7507 4.055 9.252 7.076 11.260 M16x2 .75 252 1-3/16" 6 5291  FLA-315/D11 E
15-3/4" A8 11.75 55007 5.354 6.748 - 6.748 5/8-11 - 146 5/8-11 6 28.8 FLA-400/A8 D16 1175 41880 4.055 5.252 - 6.748 5/8-11 - 138 7/8" 6 29.0 FLA-400/D6
All 1175 7.7507 5.354 9.252 - 6.748 5/8-11 - 189 3/4-10 6 35.8 FLA-400/A11 15-3/4" D1-8 11.75 55007 5354 6.748 - 6.748 5/8-11 - 150 1" 6 27.2 FLA-400/D8
. o A8 16.02 55007 5354 6.748 - 9.252 3/4-10 - 142 5811 6 69 FLA-500/A8 D1-11 11.75 7.7507 5354 9.252 - 6.748 5/8-11 - 189 1-316" 6 26.8 FLA-400/D11
All 16.02 7.7507 7.580 9.252 - 9.252 3/4-10 - 142 3/410 6 61 FLA-500/A11 - D1-8 16.02 55007 5.354 6.748 - 9.252 3/4-10 - 142 1" 6 74 FLA-500/D8
A8 16.02 55007 5354 6.748 - 13.000 3/4-10 - 142 5811 6 69 FLA-630/A8 D1-11 16.02 7.7507 7.580 9.252 - 9.252 3/4-10 - 173 1-316" 6 78 FLA-500/D11
25" All 16.02 7.7507 7.580 9.252 - 13.000 3/4-10 - 142  3/410 6 61 FLA-630/A11 D1-8 16.02 55007 5354 6.748 - 13.000 3/4-10 - 142 1" 6 74 FLA-630/D8
Al5 16.02 11.2505 9.92 13.00 - 13.000 3/4-10 - 205 7/89 6 76 FLA-630/A15 25" D1-11 16.02 7.7507 7.580 9.252 - 13.000 3/4-10 - 173 1-3/16" 6 78 FLA-630/D11
Note: D1-15 16.02 112505 992 13.00 - 13.000 3/4-10 - 205 1-3/8" 6 77 FLA-630/D15
-For 4" through 12-1/2" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" to0.0129" Note: . . . . .,
-For 15-3/4" through 25" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0141" t00.0236" -For 4" through 12-1/2" chucks theclearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" t00.0129

-For 15-3/4" through 25" chucks theclearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0141" to0.0236"

www.gatorchucks.com www.gatorchucks.com




M FLA Series Adapter Plate FLA Series Adapter Plate &S
~ ~
S S
S S
<8 Type L Steel Adapters, Fully Machined Type "T" Threaded Steel Adapters, Fully Machined S
"R for PA Series & PB Serieschucks for PA Series & PB Serieschucks "R
e All adapters are heat treaded forlonger life e All adapters are heat treaded forlonger life
e All adapters donot require any additional machining e All adapters donot require any additional machining

U 1)
09) v9)
%2 n
1) D
D =
(0] (2}
2 2
@D 1)
3 3
92 92
— —
D (9]
1), L
w oy}
o o
o o
< <
> >
= =
c c
0 (0)]
— —
o QD
= =
@D (9]
%2 wn
(¢} (@)
= =
S S
0O 0O
> >
= c
(¢} (@)
~ ~
(2} (2}

: Le1) ’ |ez]
B B
For Chucks from5" thru 12-1/2" For Chucks from15-3/4" thru 25"
Chuck |Taper| OD | Thread 0 MCC:JTJLrJl(t:rI:g Thread oD

size | A | T-UNS3 Hgle C (€] B(’vlts B1| B2 Bl ‘. Part No. d A = F B2 | B1 M Part No.

6-1/4" LOO 6.30 3-3/4-6 2750 220 3.385 5.512 M10x1.50 .79 .63 2.52 9.0 FLA-160/L00 4 1-10 UNS-2B 3.94 1.0150 1771 3268 154 47 51  M8x1.25 4.85 FLA-100/T1

6-1/4" LO 6.30 4-1/2-6 3250 260 3.385 5.512 M10x1.50 .79 .63 2.56 95 FLA-160/LO 1-1/2-8 UN-2B 3.94 1.5150 1771 3268 154 47 51  M8x1.25 5.29 FLA-100/T2

8" LOO 7.87 3-3/4-6 2750 220 4.330 6.929 M10x1.50 .79 .67 2.56 15.0 FLA-200/L00 1-1/8-12 W 4.92 1.2496 2.164 4252 154 i55) .51 M8x1.25 4.05 FLA-125/T3

8" LO 7.87 4-1/2-6 3250 260 4.330 6.929 M10x1.50 79 67 2.56 154 FLA-200/LO " 1-1/2-8 UN-2B 4.92 1.5150 2164 4252 197 59 51  MB8x1.25 6.61 FLA-125/T2

8" L1 7.87 6-6 4125 333 4.330 6.929 M10x1.50 79 .67 2.99 16.5 FLA-200/L1 2-3/16 - 10 Hardinge 4.92 2.1889 2164 4252 285 .79 51  MB8x1.25 7.05 FLA-125/T4

10" LOO 9.84 3-3/4-6 2750 220 5.708 8.819 M12x1.75 91 .75 2.76 25 FLA-250/L00 2-1/4-8 UN-2B 4.92 2.2600 2164 4252 295 79 51 M8x1.25 6.80 FLA-125/T5

10" LO 9.84 4-1/2-6 3250 260 5.708 8.819 M12x1.75 91 .75 2.76 26 FLA-250/L0 1-1/2-8 UN-2B 6.30 1.5150 3.385 5512 205 .63 59  M10x1.50 7.05 FLA-160/T2

10" L1 9.84 6-6 4125 333 5708 8.819 M12x1.75 91 .75 2.99 37 FLA-250/L1 6-1/4" 2-3/16 - 10 Hardinge 6.30 2.1889 3.385 5512 205 63 59 M10x1.50 7.50 FLA-160/T4

12-1/2" LO 1240 4-1/2-6 3250 260 7.076 11.260 M16x2 91 .75 2.76 37 FLA-315/LO 2-1/4-8UN-2B 6.30 2.2600 3.385 5512 205 63 59 M10x1.50 7.94 FLA-160/T5

12-1/2" L1 12.40 6-6 4125 333 7.076 11.260 M16x2 91 .75 2.99 37 FLA-315/L1 1-1/2 -8 UN-2B 7.78 1.5150 4.330 6.929 197 .67 .79  M10x1.50 9.92 FLA-200/T2

12-1/2" L2 1240  7-3/4-5 5250 429 7076 11.260 M16x2 91 .75 3.50 39 FLA-315/L.2 8" 2-1/4-8 UN-2B 7.78 22600 4.330 6.929 205 67 .79 M10x1.50 11.46 FLA-200/T5
? 15-3/4" L1 11.75 6-6 4125 333 1175 6.748 5/8-11 .87 @ 2.95 34 FLA-400/L1 2-3/8-6 UN-2B 7.78 23850  4.330 6.929 205 67 .79 M10x1.50 13.89 FLA-200/T6 g
g 15-3/4" L2 11.75  7-3/4-5 5250 429 1175 6.748 5/8-11 .87 - 3.50 45 FLA-400/L2 10" 2-3/8-6 UN-2B 9.87 2.3850 5.708 8819 205 .75 .75 Mi12x1.75 30 FLA-250/T6 g
'_| 15-3/4" L3 11.75 10-3/8-4 6500 543 1175 6.748 5/8-11 .87 - 3.94 67 FLA-400/L3 12-1/2" 2-3/8-6 UN-2B 12.40 2.3850 7076 11260 205 .75 .94 M16x2 50 FLA-315/T6 '_|
E 20" L2 16.02  7-3/4-5 5250 429 16.02 9.252 3/4-10 118 - 3.66 60 FLA-500/L2 Note: E

Note: -For 4" through 12-1/2" chucks theclearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" to0.0129"

-For 4" through 12-1/2" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0078" t00.0129"
-For 15-3/4" through 25" chucks the clearance range betweenthe chuck counterbore and adapterboss OD isfrom 0.0141" t00.0236"

www.gatorchucks.com www.gatorchucks.com




M BPA Series Base Plate Jaws- Hard Top Jaws &S
—~ —~
S S
S S
<8 BPA BasePlate Hard Top Jaws, For 3-Jaw Chucks S
hh@ fOr PA Se”es & PB Se”es ChUCkS e American Standard Tongue & Groove Jaws hh@

e Sold in sets
e Designed for usewith 3 &6 jaw scrollfront mount adjustablebody chucks with0.0004" T.I.R.
e Mounting bolts and T-Nutsincluded.
e Made of Hardened steel.

1 ] Lui i 1~ 1y
 — . E— A 5" to 12-1/2" 15-3/4" & up
d
BPA S
il N Chuck OAL wt.
; : Dia. Lbs.
D

<

aN| 5/8 57/64 .499 3129 .157 .126 315 1.516 .866 2.205 .571 1.38 0.93 TJ-PS3-125
6-1/4" 3/4 1-1/8 499%6 .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS3-160

8" 7/8 1-3/8 .49%6 .43 .71 3129 .157 .126 413 1.772 1.181 3.347 .984 2.09 2.10 TJ-PS3-200

10" 1-1/16 1-9/16 7496 .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS3-250

12-1/2" 1-1/4 1-7/8 7496 .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 5.10 TJ-PS3-315

15-3/4" 1-1/2 2-1/4 7496 .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS3-400

20" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 .787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS3-500
M 25'&32" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630
E F G H Chuck Mountingl M1 : Part No.
Botls .

U 1)
09) v9)
%2 n
1) D
D =
(0] (2}
2 2
@D 1)
3 3
92 92
— —
D (9]
1), L
w oy}
o o
o o
< <
> >
= =
c c
0 (0)]
— —
o QD
= =
@D (9]
%2 wn
(¢} (@)
= =
S S
0O 0O
> >
= c
(¢} (@)
~ ~
(2} (2}

5" 4921 2164 425 4252 0551  M8x125 M6  1.875 BPA-125
Hard Top Jaws, For 6-Jaw Chucks

6-1/4" 6299 3385 5512 5512 0630  M10x15 M8 1850 55 BPA-160

8" 7.874 4330 6.929 6.929 0.709 M10x 1.5 M8 2.362 7.7 BPA-200 ° Amer'ican Standard Tongue & Groove Jaws

10" 0843 5708 8819 8819 0787 M12x1.75  M10  3.189 129 BPA-250 * Soldin sets
12-1/2" 12402 7086 1126 1126 0984 M16 x 2 M10 4252 239 BPA-315
15-3/4" 11750 11750 6748 10236 1.181 5/8"-11 M12 5551 403 BPA-400

20" 16024 16020 9252 14173 1378 3/4"-10 M16  7.677  60.2 BPA-500 P

—]
Z
=
M __R 47 ©
M Il

M 1 3
3 T i S |
B ¢ @ | AG H

o o
g P EHNRINEEENERSEDEFEETE
l_| T Dia. Lbs l_|
= % 5" 5/8 57/64 .499% 3129 157 .126 1.516 .866 2.205 .571 1.38 1.90 TJ-PS6-125 =
6-1/4" 3/4 1-1/8 4996 .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 2.40 TJ-PS6-160
2 e | ShEw | e | JeR) | e S A 8" 7/8 1-3/8 499 .43 .71 3129 .157 .126 413 1772 1181 3.347 .984 2.09  4.20 TJ-PS6-200
N e ™ 10" 1-1/16 1-9/16 74% .55 .78 5004 .157 .126 531 2087 1417 3.740 1.14 2.52 6.40  TJ-PS6-250 :
8 M8  .3937 5906 .2362  .4724 5906 | 12-1/2" 1-1/4 1-7/8 749% .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 10.20 TJ-PS6-315
10" M10 4724 7087 2756  .5512 7087 %D 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 14.60 TJ-PS6-400
12-1/2" M10 4724 7087 2756  .5512 .7087 r §| 20"  1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 1.654 5.157 2.05 3.23 28.80 TJ-PS6-500
15-3/4"  M12 5512 .8661 .3150  .6299 8661 | 25'%32" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 2.047 5.157 2.05 3.23 44.20 TJ-PS6-630
20" M16  .7087 1.1024 .3937 .7874 1.1024 O T

www.gatorchucks.com www.gatorchucks.com




¥ Jaws- Hard Master Jaws Jaws- Soft Top Jaws &S
Xy )
~ ~
S S
IS IS
) Hard Master Jaws, For 3-Jaw Chucks Soft TopJaws, For 3-Jaw Chucks i
0y 3
2 e American Standard Tongue & Groove Jaws e American Standard Tongue & Groove Jaws 2
e Sold in sets . e Sold by piece
n
| B e B s e
T S0 = 3 T
w 55| Y] w w
% | o %
e B @
D . K K K K K K K o
8 r K K K K F £ o g
. e u u —4d ¢ B : S — AR s .
1 — — E]’()E - 1 | [T [T I
& NdENdENd N R DEE@%QE::D ! elH - 4
3 Le] Le] |Lc H | Le ] Le H | S H A A =
T m 25" to 32" Diameter ® 20" Diameter H 12"to 16" Diameter ® 5"to 10" Diameter T
0] n
— —
® Ch OAL Thread Wi. Chuck BoltSlze Wt. ®
g 5" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-18 0.93 MJ-PS3-125 2520 0.866 1520 .3129 05910 1-1/4 500 1.000 .1260 .283 5/16-18 0.66 STJ-PS1-125 g
g— 6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS3-160 6-1/4"  3.071 1.000 1.634 .3129 0838 1-1/2 500 1.339 .1260 .283 3/8-16 1.01 STJ-PS1-160 %
> 8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS3-200 8" 3.543 1.063 1.713 .3129 09483 1-3/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS1-200 >
o 10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS3-250 10" 4.173 1.280 2.028 .5000 10827 2-1/8 .750 1.772 .1260 .283 1/2-13 2.54 STJ-PS1-250 o
c 12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS3-315 12-1/2" 4.724 1575 2165 .5000 12087 2-1/2 .750 2.087 .2480 .283 1/2-13 .58 STJ-PS1-315 c
.‘ﬁ 15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS3-400 15-3/4" 5.512 1.654 2539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS1-400 (.2-
%’- 20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS3-500 20" 5.512 1.969 2933 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 5.29 STJ-PS1-500 %’-
D 25"&32" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS3-630 25"&32" 6.299 2.047 3.288 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 9.26 STJ-PS1-630 o)
w ()]
(@) (@)
= -
o o
= Hard Master Jaws, For 6-Jaw Chucks Soft Top Jaws, For 6-Jaw Chucks =
@) @)
g e American Standard Tongue & Groove Jaws e American Standard Tongue & Groove Jaws g
o e Sold in sets e Sold by piece o
F
~ n ~
w 1, ] i | — N — wn
TSP,
| w
[ o
B
_ K K K K K K K K K K K
r —— e F E O
- H ~E¢[ + 3 1T
BOECNOEPECS BOEPRTET | R e
} } ! ! ! M Gl H ol - G H 1=
lel el el n | lellel u | G| H | A A
B 25" to 32" Diameter B 20" Diameter m 12"to 16" Diameter ® 5"to 10" Diameter
— —
D D
@) @)
= Chuck OAL Thread Wt. Part No. Chuck BoItS|ze Wt. =
l_| Dia. Lbs. Dia. Lbs. l_|
E 5" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-18 1.90 MJ-PS6-125 2520 0866 1520 .3129 05910 1-1/4 500 1.000 .1260 .283 5/16-18 0.66 STJ-PS6-125 E
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 2.40 MJ-PS6-160 6-1/4" 3.071 1.000 1.634 .3129 08386 1-1/2 .500 1339 .1260 .283 3/8-16 1.01 STJ-PS6-160
8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 4.20 MJ-PS6-200 8" 3.543 1.063 1.713 .3129 09488 1-3/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS6-200
10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 6.40 MJ-PS6-250 10" 4.173 1.280 2.028 .5000 10827 2-1/8 .750 1.772 .1260 .283 1/2-13 2.54 STJ-PS6-250 ‘
12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 10.20 MJ-PS6-315 12-1/2" 4.724 1575 2165 .5000 12087 2-1/2 .750 2.087 .2480 .283 1/2-13 3.53 STJ-PS6-315
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 14.60 MJ-PS6-400 15-3/4" 5.512 1.654 2539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS6-400
20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 28.80 MJ-PS6-500 20" 5.512 1.969 2933 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 5.29 STJ-PS6-500
25"&32" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 44.20 MJ-PS6-630 25"&32" 6.299 2.047 3.288 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 9.26 STJ-PS6-630

www.gatorchucks.com www.gatorchucks.com




S Jaws - 1D Jaws Jaws - OD Jaws o
2 2y
S S
S S
N . : "
S ID Hard Solid Jaws, For 3-Jaw Chucks OD Hard Solid Jaws, For 3-Jaw Chucks S
e ST
@ e Sold in sets e Sold in sets @
av P P )
w ——-|0 o) W
n = % 7
2 = T2 o}
D C C ()
wn w
! 1 [w g
(0))] L (V)]
® L L B ®
= =
1 1
\ \
(¢} D
Chuck Wit. /DC Chuck Wt./pc.
2 --ﬂ---nn rart fo. Dia. Lbs. | FartNo. 2
g 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 0J-PS3-100 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 1J-PS3-100 g
'S- 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 0J-PS3-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS3-125 2—
> 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS3-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 1J-PS3-160 >
‘9._ 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS3-200 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 1J-PS3-200 2_
g 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS3-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS3-250 g
S 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 0J-PS3-315 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 .7087 3.268 1.358 2.90 1J-PS3-315 S
O 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 0J-PS3-400 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 1J-PS3-400 O
D 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS3-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS3-500 (¢}
wm (0))
(@] (@]
= -
(@) . . (@)
— ID Hard Solid Jaws, For 6-Jaw Chucks OD Hard Solid Jaws, For 6-Jaw Chucks —
@) @)
> e Sold in sets e Sold in sets =]
[ [
(@] (@]
~ ~
wn P p wn
.&_l @)
3zl | ;_L?L
szl szl
C C
] [Ww
LL
L B L B
— —
D D
(@) (@)
= Chuck Wit. /pc Chuck Wt. /pc =r
'C‘ 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 0J-PS6-100 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 1J-PS6-100 'C‘
5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 0J-PS6-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS6-125
6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS6-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 748 .80 1J-PS6-160
8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS6-200 8" 2.1260 3.3459 .9843 .3543 .3937 4724 2.244 .906 1.07 1J-PS6-200 >
10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS6-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS6-250
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 0J-PS6-315 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 1J-PS6-315
15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 0J-PS6-400 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 1J-PS6-400
20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS6-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS6-500

www.gatorchucks.com www.gatorchucks.com




¥ Jaws- Soft Solid Jaws Spare Parts &S
) )
S S
5 : .. .. 5
S Soft Solid Jaws, For 3-Jaw Chucks Scroll Plates Pinions Pinion Sleeves =
) e Sold by piece e Sold by piece e Sold by piece )
@ e Sold in sets &
OAL
T oD o
w w
)] 0]
: :
1 EEDE G menes |
' 1 [ 4" SC-PS-100 2.7323 PI-PS-100  .9843 1.3976 4 - - '
e 5 = ikl 5" SC-PS-125 3.7008 5" PI-PO-125  .9843 1.3268 5" PS-P-125 1.2205 2z
= 6-1/4" SC-PS-160 4.8819 6-1/4" PI-PO-160  1.1024 1.6063 6-1/4" PS-P-160 1.4173 3
T(n- 8"  SC-PS-200 6.2598 8"  PI-PO-200 1.1811 1.9882 8"  PS-P-200 1.4961 (_n
s 10"  SC-PS-250 7.7953 10"  PI-PO-250  1.3583 2.2638 10"  PS-P-250 1.6732 =
@ --n-- 12-1/2" SC-PS-315 10.1575 12-1/2" PI-PO-315  1.4764 2.8543 12-1/2" PS-P-315 1.7913 @
w 15-3/4" SC-PS-400 12.9134 15-3/4" PI-PO-400  1.7323 3.6614 15-3/4" PS-P-400 2.0472 W
o z i 2332 ; 2232 jzgi zigi zigz - zj Ezz i(z’g 20"  SC-PS-500 16.4173 20" PI-PO-500 1.9685  3.8780 20"  PS-P-500 2.3622 o
< : ' : : : : 25"  SC-PS-630 21.3386 25"  PI-PO-630  2.0472 4.7087 25"  PS-P-630  2.4409 <
N 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .80 SJ-PS3-160 >
o 8" 2.1260 3.3459 9843 3543 3937 1.07 SJ-PS3-200 o
= 10" 2.4803 4.1339 1.1024 4331 4724 1.73 SJ-PS3-250 Half RingS Fine Adjustment Chuck Mountlng e
0 12-1/2"  2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS3-315 e Sold by piece Screws Bolts o
o 15-3/4"  3.6220 5.7087 1.4173 .5906 5512 5.20 SJ-PS3-400 e Sold by piece e Sold by piece o
o 20" 3.9370 7.0866 1.5748 .6299 5512 7.33 SJ-PS3-500 ™
()] ()]
o o
o . o
= Soft Solid Jaws, For 6-Jaw Chucks S
= FS-P-100 M10x1 1.0039 4" MB-BA-100 M8 =
n 5"  HR-P-125  1.4567 5" FS-P-125 M12x1 1.2992 5"  MB-BA-125 M8 v
6-1/4" HR-P-160  1.7323 6-1/4" FS-P-160 M18x1 1.4567 6-1/4" MB-BA-160 M10
8"  HR-P-200 1.8504 8" FS-P-200 M18x1 1.7323 8"  MB-BA-200 M10
10"  HR-P-250  2.0669 10"  FS-P-250 Mi8x1 1.9094 10" MB-BA-250 M12
o 12-1/2" HR-P-315  2.1654 12-1/2" FS-P-315  M18x1 2.5394 12-1/2" MB-BA-315  M12
15-3/4" HR-P-400  2.4213 15-3/4" FS-P-400 M18x 1 1.9094 15-3/4" MB-BA-400 5/8"-11
J | = — 20"  HR-P-500  2.8346 20"  FS-P-500 M18x1 1.7323 20"  MB-BA-500 3/4"-10
B L 25"  HR-P-630 2.9134 25"  FS-P-630 M18x1  4.2520 25"  MB-BA-630 3/4"-10
o o
s! Chuck Wipc Wrenches (Standard & Extended) s!
1 SR :
-C_J 1.2598 1.6535 5906 2362 2362 SJ-PS6-100 Square -C_J
5" 1.5748 2.0079 7874 .3150 .3150 .40 SJ-PS6-125 Dia. Size --
6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .80 SJ-PS6-160 4" 3543 3.15 W-P-100
8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS6-200 5" 3543 3.15 W-P-125 - - L ~
10" 2.4803 4.1339 1.1024 4331 4724 1.73 SJ-PS6-250 6-1/4" 4331 3.90 W-P-160 7.87  W-SP-160 L
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS6-315 8" 4331 3.90 W-P-200 10.02 W-SP-200
15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 5.20 SJ-PS6-400 10" 5512 4.78 W-P-250 8.74 W-SP-250
20" 3.9370 7.0866 1.5748 .6299 .5512 7.33 $J-PS6-500 12-1/2" 5512 4.76  W-P-315  10.87  W-SP-315 Standard Wrench Extended Wrench
15-3/4" 6693 5.51  W-P-400 10.75  W-SP-400
20" 7480 9.06  W-P-500 18.11  W-SP-500
25" 7480 9.06  W-P-630 - -

www.gatorchucks.com www.gatorchucks.com




ﬁm PO Series Forged Steel Body Precision Scroll Chucks

\A@ > gatorchucks® Medium Duty

BY FUERDA 3 &4-Jaw Precision Self-Centering Scroll Chucks.
Forged Steel Body

Syanya Jojes

_Syanya Jojel

Features and Benefits

’ — Al e Al )‘ —J —
A vl - el g ) S PO Chucks are provided with 2-Pc Hard Reversible Jaws and ID & OD Hard Solid Jaws.
=l — Plain Back Chucks with large selection of Adapter Plates (A, D-1,L & Threaded) and

Direct (A& D-1) mounts secure a large variety of the Spindle PO Chuck mounting options.

Medium Duty Forged Steel Body = Chuck Body
Two piece body construction made of drop forged high quality alloy steel.

PreC | S | O n Self-Centerl n g SC r0| | Ch U C kS PO chuck forged steel body allows for higher lathe speeds. Allworking surfaces

are induction hardened and precisely ground.Each chuck is balanced within fine
limits for longer life, 3 pinion design.

U 0
@) O
%2 n
D D
=5 =~
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
n 9]
— —
D D
D L
09) v9)
o o
o o
< <
Y )
- -
D 9]
o o
2. 2.
o o
> -]
%2 n
() (¢}
- -
= =
0O 0O
>0 =y
c c
() (¢}
~ ~
(7] (7]

PO Series Forged Steel Body High Speed Scroll Chucks canbe ® Scroll Plate

used for all high speed machining operations where universal Drop forged of high quality alloy steel and case hardened. Thread flanks are ground
i i ili ili on both sides.

chucks are unSUIt.able' ngh _accuracy, Versatlllty and durablllty Each scroll is individually balanced for chuck longer life and higher accuracy.

make PO chucks invaluable in the modern workshops and .

.. . aws

IndISpensabIe inthe toolrooms. Made of high alloy steel, American Standard Tongue & Groove 2-Pc Jaws.

Jaw teeth and guideways are hardened and fully ground on both sides.

B Pinions
Hardened and ground.Each pinionis insertedin a steel special bushing to secure
precision engagementwith the scroll.

B Bushings
Made of high grade alloy steel.

Hardened and ground.Each bushing TQ\Hardened and
is pressed into pinion seat extending Ground Surfaces

chuck life time.

m Precision grinding of scroll plate and
jaw teeth allowsyou to:

Eliminate th ibility of def ti \\ \» ‘\\
iminate the possibility of deformation g \ A \
as aresult of heat treatment. \\\\\\\\ / \
Reach uniform radial gripping force on

all teeth of jaws.

Increases guaranteed period for high centering
accuracy.

www.gatorchucks.com www.gatorchucks.com




Chuck Part Listing Chuck Selection Guide

Vayini A

Syanya Jojes

Va4ini A9

Syanya Jojes

Permissible Spindle Runout

()
()

Toobtain the specifiedclamping accuracy ofa chuck mountedon a machinetool,

o itis necessaryto: nv)
@) - 1. Reduce playin the spindle bearings to allowable minimum. @)
wn 1. Chuck Body 2. Ensure the machine spindle nose does notexceed the values specified. wn
o) B 2. BackCover 3. Meetthe basic requirements for correct mounting of the chuck onthe spindle nose. @
- B 3. Scroll Plate 4. Follow the chuck manual. ==
8 ® 4. Pinion _ 8
' B 5. PinionHalf Ring '
g‘l B 6. Pinion Sleeve 8‘
= B 7. Hard Master Jaws ™ ™ ™ =
s ® 8. Hard Top Jaws van /1A S
o B 9. Grease Nipple L L L Dia nindle Runo o
wn m 10. Back Cover Mounting Bolts ] wn
o m 11.Chuck Mounting Bolts L] J PO Series SteelBody Chucks o
@ m 12. Back Cover Mounting Pin (/18] (/18] 3"- 16" .00012"max. @
W m 13. Back Cover Mounting Bolts 20" - 25" .0002"max. o
o m 14. Chuck Wrench D o o o @)
o ; o
< B 15.&16.Jaw mounting bolts ; o Threaded Short Taper Long Taper <
v 8 U
- -
o o
4] Clamping Ranges Safe Operating Parameters %)
(@) (@)
= PO Series 3 & 4-Jaw Precision Scroll Chucks h h h =
2 Conditions: 2
O B Note: I&z=maximum length ofworkpiece o
8 *Never exceed chuckgripping ranges. d=workpiece diameter 8
= *Master jaws andscroll should bealways in afull engagement. h=height of the clamping jaw step "t —
o *Select jaws withthe proper jawgripping surfaces tofit your application. workpiece is clampedinto the chuck o
i *Always Use properjaws for roughand finishing machining. jaws without additionalsupport. ﬂ =
c . c
3 3
>~ L L — >
n j\i, L Chuck Diameter [ 3-1/4"| 4" | 5" [6-1/4"| 8" | 10" [12-1/2"[15-3/4"] 20" | 25" [31-1/2"| 40" | 50" n
3 [ | 1.2xd 1.5xd 1xd
- .- - HA[NmM R R B~ o N T ) I _ = Nm PR R - o I T |
;{u ° ol o ;['u o ol o z 4xh
— i

Chuck Accuracy

JAWS
mm Inch Solid  Reversible  Solid  Reversible  Solid  Reversble  Solid  Reversible  Solid Reversible ~[a]x] [#[b]x L~Ib]x
80 3-1/4 08106 ; 87-1.81 . 1.77-2.72 . 98-1.97 . 1.89-2.80 . L ® ®
100 4 12-1.30 : .98-2.20 = 2.20-3.43 = 1.26-2.44 - 2.44-3.27 - IH
125 5 12-1.97 12197 137291 1.34-2.99 283453 2.954.65 154-327 205378 3.154.92 3.74-4.92 —— [ ) ]
160 6-1/4 12-252 12252 1.653.94 165382 3.70-6.06 3.46-575 1.97-421 2.44-476 3.86-6.30  4.53-6.30
200 8 16-3.54 16354 205531 197-512 472795 413748 236571 2.836.14 512-7.87 5.24-7.87 JJ— L
250 10 20-4.65  .20-465 2.44-6.85 2.28-650 570-1043 4.92:9.25 3.03-7.40 3.38-7.75 6.30-9.84  6.30-9.84
315 12-1/2 39516 20516 3.07-7.87 256-7.16 6.77-11.77 5.70-10.43 3.54-8.46 4.06-8.90 7.48-12.40 7.48-12.40 Chuck Size | 3-1/4"| 4" 5" | 6-1/4"| 8" 10" |12-1/2"|15-3/4"| 20" 25" |31-1/2"| 40" 50"
400 15-3/4  .39-7.09  .39-7.09 3.35-9.92 283898 8.27-14.96 6.50-12.95 4.05-10.71 5.00-11.57 9.05-15.75 9.05-15.75 L 157 | 157 | 236 | 236 | 3.15 | 315 | 472 | 472 6.3 6.3 6.3 6.3 6.3
500 20 79925  .79-9.25 4.72-13.19 4.72-16.14 9.65-18.74 7.87-19.10 5.51-14.06 4.33-15.75 10.87-19.69 7.48-19.69 Radial Runout 3| 0:0008 | 0.0008 | 0.0012 | 0.0012 | 0.0016 | 0.0016 | 0.002 | 0.0024 | 0.004 | 0.004 | 0.0059 | 0.0071 | 0.0071
630 25 1.18-13.19 1.18-13.19 6.30-18.31 5.51-23.23 12.80-24.80 8.27-26.18 7.09-19.17 4.72-22.44 13.58-24.80 7.88-24.80 b [ 0.001 | 0.001 |0.0014 | 0.0014 | 0.0018 | 0.0018 | 0.0022 | 0.0025 | 0.004 | 0.004 | 0.0059 | 0.0071 | 0.0071
800 31-1/2 59-1889 5.9-18.89 11.10-24.17 9.92-28.99 17.64-30.71 12.91-31.97 11.89-24.96 9.45-28.50 18.43-31.50 12.44-31.50 Axial Runout | C | 0.0006 | 0.0006 | 0.0008 | 0.0008 | 0.001 | 0.001 | 0.0012 | 0.0012 | 0.002 | 0.002 | 0.0024 | 0.0031 | 0.0031
1000 40 - 9.84-23.62 2 14.02-42.52 - 16.93-45.28 2 16.73-42.13 - 19.69-45.28
1250 50 - 12.60-27.56 - 16.54-45.67 - 19.29-48.62 - 22.52-49.61 2 25.20-52.17

www.gatorchucks.com www.gatorchucks.com




M Chuck Selection Guide Plain Back Scroll Chucks &S
S S
S Medium Duty S
3 . . . IS
% 3 & 4-Jaw Precision Self-Centering Scroll Chucks. %
® Total Gripping Force of all Self-Centering Chucks (Ibs.) Forged Steel Body ®
Chuck Diameter 3-1/4" 4" 5" 6-1/4" 8" 10" |12-1/2"|15-3/4"| 20" 25" [31-1/2"
Total Gripping Force 2,200 | 3,750 | 5,300 | 6,800 | 8,200 |10,000( 12,000 14,300 16,000| 17,700 19,800
Note:

The gripping forceis the total of all jawforce acting radiallyon the stationaryworkpiece.
The specified grippingforces are approximatevalue. They applyto the chucksin perfect
mechanical condition and properly lubricated.

There is asolid relation betweenchuck RPM andgripping power; the higher chuck RPM

the lower chuckgripping power. = hi
Recommended Maximum Speeds for Self-Centering Chucks(RPM) ol
4
Chuck Diameter 3-1/4" 4" 5" 6-1/4" 8" 10" |12-1/2"|15-3/4"| 20" 25" | 31-1/2"
Max.RPM 6000 | 5200 | 4800 | 4500 | 4000 | 3500 | 2800 | 2000 | 1200 | 1000 450
Note: C
Permissible chuck max.RPM's are calculatedfor the chucksin perfect conditionand H h

having factory originaljaws and dependson many differentmachining factors suchas
cutting parameters (depthof cut &feeds), weight andbalancing of workpiece, machining
conditions like; smoothor interrupted cut. Workpiece material andsurface finishing
should be alsotaken into the consideration.

Value of Balancing for Precision Self-Centering Chucks Only.

0
O
n
D
=
D
(2}
1
T
o
-
(@]
D
o
9]
—
D
)
03]
o
o
<
o
—
9]
o
2.
o
5
n
(¢}
-
=
@)
>0
c
(¢}
>~
(0]

U
@)
2
D
=.
D
2}

1
T
o
-

(@]
D
o
n
—
D
2k
99)
o
o

<
o
—
D
o
2.
o
>
2
()
-
=
@
>0
c
()
=~
(7]

Chuck Diameter 3-1/4" 4" 5" 6-1/4" 8" 10" 12-1/2" | 15-3/4" 20" 25"
Balancing (ounce-inch) 0.15 0.22 0.32 0.44 0.62 0.87 1.25 1.94 4.16 8.88
Note:

Fine chuck balancingextends its lifeand increases significantlymachining quality athigh RPM.

Principal Dimensions

i . . n wo_ Chuck 2. s Id Adapter Mounting Bolts
TSlot Dimensions for 20" & 25'3-Jaw Chucks B R s s

8 3-1/4" 26378 22047 06299  .1181  1.732 0.512 M6 x 1 0.98
[T 7] [/ Faceofthe chunks 4 3.2677 27599 07874  .1181  1.969 - 0.669 M8x 1.25 0.98 3
5" 42520 37402 12508 1575  2.343 1575 0.787 M8 x 1.25 0.98 3
yJ [ L‘ Jﬁ u 6-1/4" 55118 49213 16535 1575 2,677 1.693 1.260 M10x 1.5 0.98 6
U o 8" 6.9291  6.2992 21654 1575  3.071 1.831 1.142 M10x 1.5 0.98 6
A 10" 88189 7.8740 29921 1969  3.504 2.146 1.339 M12x 1.75 118 6
12-1/2" 11.2598 10.2362 4.0551  .1969  3.787 2.362 1.693 M16 x 2 118 6
15-3/4" 14.2519 12,9921 53545 1969  4.252 2.854 2.165 M16 x 2 157 6
“ 20"  18.0314 165354 7.4803  .1969  4.685 3.602 2.205 M16 x 2 157 6
Dia. Length 25" 23.0709 214567 99213 2756  5.079 3.622 2.756 M16 x 2 1.97 6
20" 9055 5512 3937 8268 45276 31-1/2" 145000 17.7170 10.5118 7874  5.906 3.622 - 1"-8 5.96 6
40" 37.4016 35.8268 18.1102 .3543  7.087 4.409 - 1"-8 7.87 6

o5+ 1.2598 .7087 5118 1.0236  5.1181
50"  43.3071 39.3701 216535 3543  7.087 4.409 - 1"-8 7.87 6

31-1/2" 1.2598 .7087 .5118 1.0236 7.0866

www.gatorchucks.com www.gatorchucks.com




¥ Plain Back Scroll Chucks Plain Back Scroll Chucks &S
) [
~ ~
S S
S 3-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws, Plain Back 4-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws, Plain Back S
S S
Sen Each chuck is provided with: Each chuck is provided with: Sen
® ®
B 1 Setof hard master jaws B 1 Setof hard master jaws
m 1 Setof hardtop reversible jaws m 1 Setof hardtop reversible jaws
m 1 Set ofadapter mounting bolts m 1 Set ofadapter mounting bolts
o B 1 Spring loadedchuck T- wrench B 1 Spring loadedchuck T- wrench o
@) B 2 Hex keys B 2 Hex keys @)
v B Eye boltsfor chucks 10" and larger B Eye bolts for chucks 10" and larger v
19} B 3 pinion design B 2 pinion design D
=, B Forged Steel Body B Forged Steel Body =.
8 B Lathe Chuck Manual B Lathe Chuck Manual 8
. Forged Steel Body Forged Steel Body .
T T
o (@]
-~ -
«Q Chuck Chuck Hard Top [Hard Master Soft Top Chuck Chuck Hard Top |Hard Master Soft Top (@]
9 5" 1.2598 4800 n PO3-5"A 1-105-0500 TJ-PS3-125 MJ-PS3-125 STJ-PS3-125 W-P-125 5" 1.2598 4800 1 PO4-5"A 1-107-0500 TJ-PS4-125 MJ-PS4-125  STJ-PS4-125  W-P-125 2
g 6-1/4" 1.6535 4500 22 PO3-6"A 1-105-0600 TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 W-P-200 6-1/4" 1.6535 4500 22 PO4-6"A 1-107-0600 TJ-PS4-160 MJ-PS4-160 STJ-PS4-160 W-P-200 g
5 8" 2.1654 4000 39 PO3-8"A 1-105-0800 TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 W-P-200 8" 2.1654 4000 39 PO4-8"A 1-107-0800 TJ-PS4-200 MJ-PS4-200 STJ-PS4-200 W-P-200 5
o 10" 2.9921 3500 55 PO3-10"A 1-105-1000 TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 W-P-315 10" 2.9921 3500 55 PO4-10"A 1-107-1000 TJ-PS4-250 MJ-PS4-250 STJ-PS4-250 W-P-315 o
% 12-1/2"  4.0551 2800 110 PO3-12"A 1-105-1200  TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 W-P-315 12-1/2" 40551 2800 110 PO4-12"A 1-107-1200  TJ-PS4-315 MJ-PS4-315 STJ-PS4-315 W-P-315 <Q'
o) 15-3/4"  5.3543 2000 187 PO3-16"A 1-105-1600  TJ-PS3-400 MJ-PS3-400 STJ-PS3-400 W-P-400 15-3/4"  5.3543 2000 187 PO4-16"A 1-107-1600  TJ-PS4-400 MJ-PS4-400 STJ-PS4-400 W-P-400 o
- -
(9] 20" 7.4803 1200 320 PO3-20"A 1-105-2000 TJ-PS3-500 MJ-PS3-500 STJ-PS3-500 W-P-630 20" 7.4803 1200 320 PO4-20"A 1-107-2000 TJ-PS4-500 MJ-PS4-500 STJ-PS4-500 W-P-630 D
9] 9)
T 25" 9.9213 1000 551 PO3-25"A 1-105-2500 TJ-PS3-630 MJ-PS3-630 STJ-PS3-630 W-P-630 25" 9.9213 1000 551 PO4-25"A 1-107-2500 TJ-PS4-630 MJ-PS4-630 STJ-PS4-630 W-P-630 i
5' 31-1/2" 10.5118 450 886 P0O3-32"A 1-105-3200 TJ-PS3-630 MJ-PS3-800 STJ-PS3-630 W-P-800 31-1/2" 10.5118 450 886 P0O4-32"A 1-107-3200 TJ-PS4-630 MJ-PS4-800 STJ-PS4-630 W-P-800 5
=) 40" 18.1100 400 1727 PO3-40"A 1-105-4000 TJ-PS3-1000 MJ-PS3-1000 STJ-PS3-1000 W-P-1000 *W-SP-Extended Wrenches available from stock. >
o 50" 216535 300 PO3-50"A  1-1055000 TJ-PS3-1250 MJ-PS3-1250 STJPS3-1250 W-P-1250 See Page 66 o
= **W-SP-Extended Wrenches available from stock. —
2 See Page 66 2
2) 3-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws, Plain Back 4-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws, Plain Back =
c c
9) 9)
§ Each chuck is provided with: Each chuck is provided with: (7;

1 Setof hard solid ID jaws

1 Setof hard solid OD jaws

1 Set ofadapter mounting bolts

1 Spring loadedchuck T- wrench
2 Hex keys

Eye bolts for chucks 10" and larger
2 pinion design

Forged Steel Body

Lathe Chuck Manual

m 1 Setof hardsolid ID jaws

m 1 Setof hardsolid OD jaws

B 1 Set ofadapter mounting bolts

B 1 Spring loaded chuck T- wrench
B 2 Hex keys

B Eye boltsfor chucks 10" and larger
B 3 pinion design

B Forged Steel Body

B | athe Chuck Manual

Forged Steel Body

Forged Steel Body

Chuck ID-Hard OD - Hard Soft Solid Wrech**

Model Solid Jaws | Solid Jaws Jaws Chuck Hole RPM Chuck ID-Hard OD - Hard Soft Solid Wrech**
Dia. Max Model Solid Jaws | Solid Jaws Jaws

3 06299 6000 33 PO3-3"  1-1060300 OJ-PS380  L-PS3-80  SIPS3-80  W-P-080
| 62 O [ T B B 4 07874 3500 62 PS4-4 11080400 OJ-PS4-100 1-PS4-100  SI-PS4-100  W-P-100
T T u TS i R TS R ——— 5 12598 3200 1 PS4-5 11080500 OJ-PS4-125 1-PS4-125  SIPS4-125  W-P-125
6-1/4" 16535 4500 22 PO3-6" 11060600 OJ-PS3-160 1}PS3-160  SJ-PS3160  W-P-200 CE S BT 22 PS4-6 L [ el e | e Bl L el e | R
8" 21654 4000 39 PO3-8" 1-106-0800 OJ-PS3200 11PS3-200  SJ-PS3200  W-P-200 8 R E— 39 PS4-8 e ——————
100 29921 3500 55 PO3-10"  1-106-1000 OJ}PS3250 I}PS3250  SJ-PS3-250 W-P-315 EER T - % PS4-10 Lo peimeen e P | el
12-1/2" 40851 2800 110 PO3-12" 11061200 OJ}PS3315 I}PS3315  SI-PS3-315  W-P-315 e ——— 1o PS4-12 T —
153/4" 53543 2000 187 PO3-16"  1-106-1600 OJ}PS3-400 I}PS3400  SJ-PS3-400  W-P-400 e I 187 PS4-16 e B e R AN
20" 74803 1200 320 PO3-20" 11062000 OJPS3500 1J-PS3500  SJ-PS3500  W-P-630 "W-SP-Extended Wrenches available Trom =0%e

*W-SP-Extended Wrenches available from stock.

See Page 66

www.gatorchucks.com www.gatorchucks.com




¥ Type AL/A2 Direct Mount Scroll Chucks Type D1 Direct Mount Scroll Chucks &S
~ ~
S S
S 3-Jaw Type A1/A2 Direct Mount Scroll Chucks 3-Jaw Type D1 Direct Mount Scroll Chucks S
w . . - . - - ]
S with Two-Piece Hard Reversible Jaws with Two-Piece Hard Reversible Jaws S
=y =
@ Type Al spindle hasa 2 bolthole pattern, inside (size B1) and outside @
the taper (sizeB). Either an Al or A2 chuckwill fit onit. Type D1
TypeAZAspi‘ndIelhasl bolt pattern, outside the taper(size B).only an A2 Each chuck is provided with:
chuck will fiton it.
U B 1 Setof hard master jaws o
(@) m 1 Setof hardtop reversible jaws Lé @)
w _ _ _ TypeAl/A2 B 1 Set ofadapter mounting bolts 0N
® Each chuck is provided with: B 1 Spring loaded chuck T- wrench o)
=, . B 2 Hex keys —-
8 ® 1 Setof hard master jaws . H Eye boltsyfor chucks 10" and larger elelo = @
m 1 Setof hardtop reversible jaws H = 3 pinion design n
‘II'I LI Set_ofadapter mounting bolts ® Forged Steel Body s 'II'I
o B 1 Spring loadedchuck T- wrench c ® Lathe Chuck Manual 7730 o
Q .éHeéﬁfyfs hucks 10" and | o|=le(E= c Q
u e bolts for chucks 10" and larger cl
2 m S%inion design ? i s Forged Steel Body Ho | n| 2
0 B Forged Steel Body Tre wn
g B | athe Chuck Manual Taper Hole Camlock Studs —
= c1 Size = Dia(d) Dia. | Thread ovll &
5 H h | 5 D1-4 1.2598 4800 3.2520 | 25005 |.5118|2.3425|1.575| 11 | PO3-5"A/D1-4 1-125-0504 | 5/8 M10x1 5
o Forged Steel Body 6.1/an | D13 | | o asop | 2779521250 | ol ol sl oo | POSBADL3 | 1-125-0603| 9/16| (0 ., o
o : D1-4 : 3.2520 | 25005 | ' : PO3-6"AID1-4 | 1-125-0604 | 5/8 o
< [JChuck Taper Hole RPM B | Bl | . | wtChuck Mounting Bolts Chuck D1-4 32520 | 25005 | 5118 PO3-8'AD1-4 | 1-125-0804 | 5/8 | M10x1 <
hY Dia. | Size Dia.(d) max. (A2) | (A1) Ibs. Thread | L Part No . 8" | D15 | 21654 | 4000 | 41260 | 32505 |  13.07001831| 42 PO3G'ADL5 |1-125-0805 | 3/4 | M12xl RS
g 6-1/4" | A1-5 | 1.6535 (4500 - 2.4374|3.2505 | .563|2.6772|1.693| 22 | 7/16-14 | 2-3/4 3 PO3-6"A/A1-5 1-115-0605 D1-6 5.2520 | 4.1880 |’ PO3-8"A/D1-6 1-125-0806 | 7/8 | M16x1.5 g
T g A1-5 | 1.6535 4000 - 2.4374 | 3.2505 | .563 30709 1831 42 7/16-14 3-1/8 3 PO3-8"A/A1-5 1-115-0805 D1-5 41260 | 3.2505 |.5629 PO3-10"A/D1-5 | 1-125-1005 | 3/4 M12x1 7
— Al1-6 | 2.1653 - 3.2500 | 4.1880 | .625 | : 1/2-13 PO3-8"A/A1-6 1-115-0806 10" D1-6 2.9921 3500 5.2520 | 4.1880 |.6299/3.5039/2.146 71| PO3-10"A/D1-6 | 1-125-1006 | 7/8 | M16x1.5 =
g A2-5 | 2.9921 41260, - [3.2505].563 7/16-14 | 4-1/8 PS3-10"A/A2-5 1-115-1005 D1-8 6.7480 | 55007 |.7087 PO3-10"A/D1-8 | 1-125-1008 | 1 | M20x1.5 g
0 10" | A1-6 | 2.1635 [3500| - |3.2500(4.1880 |.6253.5039(2.146| 71| 1/2-13 | 3-1/2 | 6 | PO3-10"A/A1-6 1-115-1006 D1-6 5.2520 | 4.1880 |.6299(3.7874 PO3-12"AID1-6 | 1-125-1206 | 7/8 | M16x1.5 0
o A1-8 | 2.9921 - |4.3750|5.5007 | .688 5/8-11| 3-1/2 PO3-10"A/AL-8 1-115-1008 12-1/2" | D1-8 | 4.0551 2800 | 6.7480 | 55007 |.7087|3.7874(2.362|112| PO3-12'AD1-8 | 1-125-1208| 1 | M20x1.5 o
o 191/ A2-6 | 408511 (152520 - 41880 630 ool o0n |y | 1/2-13 1 4-8/4 | | PO3-12'A/A26 1-115-1206 D1-11 9.2520 | 7.7507 |.7874|4.6339 PO3-12'A/D1-11 | 1-125-1211 | 1-316 | M22x1.5 | P
= Al1-8 | 3.1496 - 4.3750 | 5.5007 | .688 | ’ 5/8-11 | 4-3/16 PO3-12"A/A1-8 1-115-1208 D1-6 4.0551 5.2520 | 4.1880 |.6299 PO3-16"A/D1-6 | 1-125-1606 | 7/8 | M16x1.5 =
@) A2-6 | 4.0551 52520| - |4.1880|.630 1/2-13| 5 PO3-16"A/A2-6 1-115-1606 153/4" | D1-8 | 53543 2000 | 6.7480 | 55007 |.7087|4.2520|2.854|223 PO3-16"A/D1-8 | 1-125-1608 | 1 | M20x1.5 ®)
= 15-3/4"| A2-8 | 5.3543 |2000/6.7480| - [5.5007|.709|4.2520(2.854 |203| 5/8-11| 5 6 | PO3-16"A/A2-8 1-115-1608 D1-11 | 5.3543 9.2520 | 7.7507 |.7874 PO3-16"A/D1-11 | 1-125-1611 | 1-3/16 | M22x1.5 =3
g Al1-11| 5.1181 - 6.5000 | 7.7507 | .750 3/4-10 | 4-1/4 PO3-16"A/A1-11 1-115-1611 20" D1-8 5.3543 1200 6.7480 | 5.5007 |.7087 46850 /3602 |331 PO3-20"A/D1-8 | 1-125-2008 1 M20x1.5 g
5 oo | A28 53543 | 167480 - |55007|.709 | ) or |00 oesl 5/8-11 5 6 | PO3-20"A/A2-8 1-115-2008 D1-11| 7.4803 9.2520 | 7.7507 |.7874 PO3-20"A/D1-11 | 1-125-2011 | 1-3/16 | M22x1.5 (7;
A2-11| 7.4803 9.2520 - 7.7507 | .787 | ’ 3/4-10 | 5-7/8 6 PO3-20"A/A2-11 1-115-2011 25" D1-11 | 7.4803 1000 9.2520 | 7.7507 |.7874|5.0787|3622 604/ PO3-25"A/D1-11 | 1-125-2511 | 1-3/16 | M22x1.5
. | A2-11| 7.4803 9.2520| - |7.7507|.787 3/4-10 | 7-3/32 PO3-25"A/A2-11 1-115-2511
25 A2-15| 9.9213 1000 13.000 - 11.251| .813 >.0787| 3622628 718-9 6 6 PO3-25"A/A2-15 1-115-2515

*C-C1, depth ofcounterbore.
All chucks with A1 mountcan be mountedon Alspindles only.

Spare Parts

All chucks with A2 mountcan be mountedon either A1 and A2 spindles. Chuck|Taper, HardTop | Hard Master | Soft Top L Scroll Pinion Camlock Studs | camlock
. . Pinions Wrenchs* =
Dia. | Size Jaws NEWTES NEVTE Plates Screws Dia. | Thread [Qty. Stud
Spare Parts 5" | D1-4 | TJ-PS3-125 | MJ-PS3-125 | STJ-PS3-125 | PI-PS-125 | SC-PS-125 | PH-P-125 | W-P-125 | 5/8 | M10x1 CA-D-04
, D1-3 9/16 CA-D-03
Chuck Taper, HardTop | Hard Master  Soft Top e Scroll Pinion | o b Chuck Mounting Bolts 6-1/4" [~ TI-PS3-160| MJ-PS3-160 | STJ-PS3-160 | PI-PS-160| SC-PS-160 | PH-P-160 | W-P-160 70 M10x1 | 3 -0 " "
Dia. | Size Jaws Jaws Jaws Plates Screws = —
Thread | L _Jotyj PartNo D1-4 5/8 | M10x1 CA-D-04
6-1/4") A1-5 | TJ-PS3-160 | MJ-PS3-160 | STJ-PS3-160 | PI-PS-160 | SC-PS-160 | PH-P-160 | W-P-160 | 7/16-14 | 2-3/4 BA-06-05 g [D15173-Ps3-200| MI-Ps3-200 | STI-PS3-200 | PI-PS-200 | SC-PS-200| PH-P-200 | W-P-200 [ 372 | M1z2x1 CADOS
Al- . BA-08-
8" % 1J-PS3-200| MJ-PS3-200 | STI-PS3-200 | PI-PS-200 SC-PS-200 PH-P-200 | W-P-200 2614 | 5 1/g 3 08-05 D1-6 7/8 | M16x1.5 CA-D-06
Al-6 Wiz Ls BA-08-06 D1-5 3/4 | M12x1 CA-D-05
A2-5 7/16-14 | 4-1/8 BA-10-05 10" | D1-6 | TJ-PS3-250 | MJ-PS3-250 | STJ-PS3-250 | PI-PS-250 | SC-PS-250 | PH-P-250 | W-P-250 | 7/8 | M16x1.5 CA-D-06
10" | A1-6 | TI-PS3-250 | MJ-PS3-250 | STJ-PS3-250 | PI-PS-250 | SC-PS-250 | PH-P-250 | W-P-250 | 1/2-13 | 3-1/2 BA-10-06 . D.
D1-8 1 | M20x1.5 CA-D-08
Al-8 5/6-11 | 3-1/2 BA-10-08 D1-6 7/8 | M16x1.5 CA-D-06
1212228 | 11p53.315 MI-PS3-315 | STI-PS3-315 | PI-PS-315 SC-PS-315 | PH-P-315 | W.p-315 | /2-13 | 4-3/4 BA-12-06 121/ D1-8 | TI-PS3-315| MJ-PS3-315 | STJ-PS3315 | PI-PS-315 SC-PS-315| PH-P-315| W-P315 | 1 |M20x15| . | CA-D-08
Al-8 DISTEINFTONG) | BA-12-08 D1-11 1-316 | M22x1.5 | ~ | CA-D-011
A2-6 1/2-13 | 5 |6 BA-16-06 D1-6 7/18 | M16x1.5 CA-D-06
15-3/4"| A2-8 | TJ-PS3-400 | MJ-PS3-400 | STJ-PS3-400 | PI-PS-400| SC-PS-400 | PH-P-400 | W-P-400 | 5/8-11 | 5 BA-16-08 15-3/4"| D1-8 | TJ-PS3-400  MJ-PS3-400  STJ-PS3-400 | PI-PS-400  SC-PS-400 | PH-P-400 | W-P-400 | 1 | M20x1.5 CA-D-08
Al-11 3/4-10 | 4-1/4 BA-16-11 D1-11 1316 M22x1.5 CA-D-011
20" | A28 | 13 583.500 MI-PS3-500 STJ-PS3-500 | PI-PS-500 SC-PS-500 | PH-P-500 | W-p-500 | 2o il 5 BA-20-08 D1-8 1 | M20x1.5 CA-D-08
AD-11 3/4-10 | 5-7/8 BA-20-11 20" |52 TI-PS3-500| MJ-PS3-500 | STI-PS3-500 | PI-PS-500 | SC-PS-500 | PH-P-500 | W-P-500 |- o0 2 CAD-OLL
o A2 1L L ben 630| MI-PS3-630 | STI-PS3-630 | PI-PS-630 | SC-PS-630 | PH-P-630 | W-p-630 | 2/4-10 | 7-3/32 BA-25-11 25" |D1-11 TJ-PS3-630 | MJ-PS3-630 | STJ-PS3-630 | PI-PS-630 | SC-PS-630 | PH-P-630 | W-P-630 | 1-3/16 | M22x1.5 | CA-D-011
A2-15 7/8-9 6 BA-25-15 :
*W-SP-Extended Wrenches available from stock, See Page 66.

**W-SP-Extended Wrenches available from stock, See Page 66.

www.gatorchucks.com www.gatorchucks.com




M SM Series Semi-machined Adapter Plate SM Series Semi-machined Adapter Plate &S
S S
~ ~
(] ]
5 : : : : 5
= Type A1/A2 Semi-machined Adapters Type D1Semi-machined Adapters =
", for PO Series & PS Series chucks for PO Series & PS Serieschucks e
Designed for directmounting on Al &A2 spindle noses, Designed for directmounting on CAMLOCKD1 spindle noses,
Can be usedafter machining forscroll or independentchucks, see page59 After machining canbe used withscroll or independentchucks, see page59
Spindle side ofadapter is fullyfinished. Spindle side ofadapter is fullyfinished,
Provided with the set of spindle mounting bolts & hex key. Provided with the set of Camlockstuds, set screws & hex key.
All below listed adapters can bemounted eather onAl orA2 spindlenoses. All adapters are made of steelfor longer life.

All adapters are made of steelfor longer life.

i

Camlock Stud
Chuck |Taper A Hgle F Mounting Bolts : Part No. Dia. Size d oD QTY Lbs.
15

U U
@) O
2 2
D D
= =
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
2 n
— —
D D
2k )
oy} 09)
o o
o o
< <
Y )
- -
D 9]
o o
@ @
o o
> -]
2 2
() (¢}
- -
= =
@ O
>0 =y
c c
() (¢}
~ ~
(7] (7]

D13 5.00 1.024 2.78 2.1250 9/16" 3 57 SM-125/D3

614" A5 638 157 157 4126 32505 7116-14 4 144 SM-160/A5 o - =0 | s G py— By— = - o Y p—
s oo Lo Zo0 S ol 716:14 o Lo SM-200/A4 D1-3 6.38 126 203 2.78 21250 9/16" 3 117 SM-160/D3

e AS 7.99 157 157 4126 32505 7/16-14 4 236 SM-200/A5 6-1/4" D1-4 6.38 1.26 203 3.252 25005 5/8" 3 115 SM-160/D4
e = L = e Sl V213 & = SM-200/A6 D15 6.38 1.38 2.03 4126 3.2505 34" 6 121 SM-160/D5

AS 9.96 157 1.57 4.126 3.2505 716-14 4 3r.7 SM-250/A5 D14 7.99 1732 2.40 3.252 25005 5/8" 3 256 SM-200/D4

= A6 9.96 1.69 217 5252 41880 V213 4 38.9 SM-250/A6 8" D1-5 7.99 197 2.40 4126 3.2505 34" 6 223 SM-200/D5
e e 1.97 e 6.748 2lls 5/8-11 5 AAe SM-250/A8 D16 7.99 177 2.40 5.252 41880 78" 6 243 SM-200/D6

Ao | Lol L 240 e o leel V213 - ol SM-315/A6 D15 9.96 1.93 313 4126 3.2505 34 6 326 SM-250/D5

12-12° A8 1252 216 313 6.748 55005 5/8-11 4 64.4 SM-315/A8 10" D16 9.96 193 313 5.052 41880 718" 6 345 SM-250/D6
All 1252 256 4.06 9252 7.7507 3/4-10 6 83.2 SM-315/A11 D1-8 9.96 1.93 313 6.748 5.5005 1" 6 404 SM-250/D8

A6 1594 169 217 5252  4.1880 1213 6 105.7 SM-400/A6 D16 1252 276 4.06 5.052 41880 718" 6 66 SM-315/D6

15-3/4" A8 1594 193 313 6.748 55005 5/8-11 6 1165 SM-400/A8 1212  DI-8 1252 216 4.06 6.748 5.5005 1" 6 503 SM-315/D8
ALl 1594 295 4.06 9.252 7.7507 3/4-10 6 137 SM-400/A11 D1-11 1252 216 4.06 9.252 7.7507 1-3/16" 6 68.8 SM-315/D11

A8 1988 201 St 6.748 55005 5/8-11 6 193 SM-500/A8 D1-6 1594 165 4.06 5.252 4.1880 78" 6 100 SM-400/D6

20" All 19.88 2.68 4.72 9.252 7.7507 3/4-10 6 206 SM-500/A11 15-3/4" D1-8 15.94 276 4.06 6.748 5.5005 1" 6 116 SM-400/D8
Al5 1988 2.68 535 13000  11.2509 7/8-9 6 228 SM-500/A15 D1-11 15.94 1.97 4.06 9.252 7.7507 1-3/16" 6 102 SM-400/D11

A8 2500 201 313 6.748 55005 5/8-11 6 311 SM-630/A8 D18 1088 177 536 6.748 5.5007 1" 6 165 SM-500/D8

=5 All 2500 260 G2 9252 77507 3/4-10 6 sa1 SM-630/A11 20" D111 19.88 2.83 5.36 9.252 7.7507 1-3/16" 6 188 SM-500/D11
Al5 2500 252 748 13000  11.2509 7189 6 350 SM-630/A15 D115 1988 236 536 13.00 112509 1-3/8" 6 173 SM-500/D15

D18 25.00 177 5.36 6.748 5.5007 1 6 269 SM-630/D8

25" D111 2500 283 7.79 9.252 77507 1316' 6 278 SM-630/D11

D115 2500 2.36 7.48 13.00 112500 138" 6 270 SM-630/D15

www.gatorchucks.com www.gatorchucks.com




M SM Series Semi-machined Adapter Plate SM Series Semi-machined Adapter Plate &S
S S
~N ~N
] ]
5 : : : : 5
= Type L Semi-machined Adapters Type Threaded Semi-machined Adapters =
e for PO Series & PS Serieschucks for PO Series & PS Serieschucks e
Designed for directmounting on longtaper Lspindle noses, Designed for directmounting on athreaded spindle noses,
Can be usedafter machining forscroll or independentchucks, see page59 Can be usedafter machining withscroll or independentchucks, see page59
Spindle side ofadapter is fullyfinished, Spindle side ofadapter is fullyfinished,
All adapters are made of steelfor longer life. All adapters are made of steelfor longer life.

U U
@) O
2 2
D D
= =
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
n 9]
— —
D D
2k )
oy} 09)
o o
o o
< <
Y )
- -
D 9]
o o
@ @
o o
> -]
2 2
() (¢}
- -
= =
@ O
>0 =y
c c
() (¢}
~ ~
(7] (7]

Thru

6-1/4" 6.38 LOO 3-3/4-6 2.750 2.20 1.063 2.342 12.7 SM-160/L00 4 1-10 UNS-2B 4.09 1.0150 0.50 2.165 1.535 0.709 4.85 SM-100/T1
6-1/4" 6.38 LO 4-1/2-6 3.250 2.60 1.063 2.736 15 SM-160/L0 1-1/2-8UN-2B 4.09 1.5150 0.50 2.68 1.535 0.709 5.29 SM-100/T2
8" 7.99 LOO 3-3/4-6 2.750 2.20 1.083 2.362 19.2 SM-200/L00 1-1/8-12W 5.08 1.2496 0.50 2.165 1.535 0.709 4.05 SM-125/T3

8" 7.99 LO 4-1/2-6 3.250 2.60 1.083 2.756 215 SM-200/L0 5 1-1/2-8 UN-2B 5.08 1.5150 0.50 2.68 1.535 0.709 6.61 SM-125/T2

8" 7.99 L1 6-6 4,125 3.35 1.083 2.992 26.5 SM-200/L1 2-3/16 - 10 Hardinge 5.08 2.1889 0.626 311 1.772 0.709 7.05 SM-125/T4
10" 9.96 LOO 3-3/4-6 2.750 2.20 1.338 2.618 352 SM-250/L00 2-1/4-8 UN-2B 5.08 2.2600 0.626 3.18 1.83 0.709 6.80 SM-125/T5
10" 9.96 LO 4-1/2-6 3.250 2.60 1.338 2.52 355 SM-250/L0 1-1/2 -8 UN-2B 6.535 1.5150 0.50 2.68 1.535 0.787 7.05 SM-160/T2
10" 9.96 L1 6-6 4,125 3.35 1.338 3.307 424 SM-250/L1 6-1/4" 2-3/16 - 10 Hardinge 6.535 2.1889 0.50 311 1.85 0.787 7.50 SM-160/T4
12-1/2" 12.52 LO 4-1/2-6 3.250 2.60 1.40 2.64 57.8 SM-315/L0 2-1/4-8 UN-2B 6.535 2.2600 0.626 3.18 1.79 0.787 7.94 SM-160/T5
12-1/2" 12.52 L1 6-6 4125 3.35 1.40 311 62.7 SM-315/L1 1-1/2 -8 UN-2B 8.11 1.5150 0.50 2.68 1535 0.866 9.92 SM-200/T2
12-1/2" 12.52 L2 7-3/4-5 5.250 4.29 145 3.50 72.8 SM-315/L.2 8" 2-1/4-8 UN-2B 8.11 2.2600 0.626 3.18 1.79 0.866 11.46 SM-200/T5
15-3/4" 15.94 L1 6-6 4.125 3.35 1.50 3.23 103 SM-400/L1 2-3/8-6 UN-2B 8.11 2.3850 0.626 4.33 2.047 0.866 13.89 SM-200/T6
15-3/4" 15.94 L2 7-3/4-5 5.250 4.29 1.50 3.70 113 SM-400/L.2 10" 2-3/8-6 UN-2B 10.08 2.3850 0.626 4.33 2.047 0.984 30 SM-250/T6
15-3/4" 15.94 L3 10-3/8-4 6.500 5.43 1.50 4.18 139 SM-400/L3 12-1/2" 2-3/8-6 UN-2B 12.64 2.3850 0.626 4.33 2.047 1.102 50 SM-315/T6

20" 19.88 L2 7-3/4-5 5.250 4.29 1.50 3.70 167 SM-500/L.2

www.gatorchucks.com www.gatorchucks.com




M FM Series Pre-machined Adapter Plate FM Series Pre-machined Adapter Plate S
S S
~N ~N
] ]
Sy - - 5y
= Type A1/A2Pre-machined Adapters Type D1 Pre-machined Adapters =
e for PO Series & PS Serieschucks for PO Series & PS Serieschucks e
Note: Note:
Skim cut onthe face ofthe adapter flangeand boss isrequired to makea Skim cut onthe face ofthe adapter flangeand boss isrequired to makea
press fit betweenadapter boss (size C) and chuckcounterbore, see page59 press fit betweenadapter boss (size C) and chuckcounterbore, see page59
All adapters comewith the setof spindle mountingbolts & hexkey All adapters comewith the Camlock Studs, set screws & hex key.
All below listed adapters can bemounted eather onAl orA2 spindlenoses. All adapters are made of steelfor longer life.

All adapters are made of steelfor longer life.

Le.

Camlock Stud
A ChUCk Ta_per A C Hole E E G - Wit. Part No.
Chuck | Taper Hole Part No Dia. Size o} QTY Lbs.

Dia. Size . '

-- i

U U
@) O
2 2
D D
= =
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
2 n
— —
D D
2k )
oy} 09)
o o
o o
< <
Y )
- -
D 9]
o o
@ @
o o
> -]
2 2
() (¢}
- -
= =
@ O
>0 =y
c c
() (¢}
~ ~
(7] (7]

. D13 492 1024 38 203 278 42520 21250 916" 3 52 FM-125/D3

Call 6.30 313 4126 55118 32505  7/16-14 6 6.5 FM-160/A5 ° D14 492 1024 382 240 3252 42520 25005 58" 3 48  FM-125D4
A4 787 83 6378 240 3252 69291 25005  7/16-14 6 118 FM-200/A4 D3 630 106 5 203 278 55118 21250 916" 3 96 EM-160/D3

e A5 787 .83 6378 313 4126 69291 32505  7/1614 6 n FM-200/A5 6-1/4"  D-4 630 106 5 240 3252 55118 25005 508" 3 91 FM-160/D4
A6 787 8 6378 406 5252 69201 41880  1/2-13 6 9.6 FM-200/A6 DI5 630 118 5 313 4126 55118 32505 34 6 90 EM-160/D5

A5 984 102 79527 313 4126 88189 32505  7/16-14 6 22.7 FM-250/A5 D14 787 106 6378 240 3252 69291 25005  5/8" 3 152 FM-200/D4

e A6 984 102 79527 406 5252 88189 4.1880 12-13 6 21 FM-250/A6 8" D15 787 118 6378 313 4126 69291 32505 34" 6 155  FM-200D5
AHT| 56 1,02 7. 95278 195610 [N6.748 (N8 8180 [55005 5/8-11 6 Liae =L D16 787 144 6378 406 5252 69291 41880  7/8" 6 167  FM-200/D6

A6 1240 130 10315 406 5252 112508 4.1880 11213 6 455 FM-315/A6 DI-5 984 118 79527 313 4126 88189 32505 34" 6 262  EM-250/D5

12-1/2° A8 1240 130 10315 536 6748 112598 55005  5/8-11 6 41 FM-315/A8 10" DI6 984 144 79527 406 5252 88189 41880  7/8" 6 294  EM-250/D6
All 1240 138 10315 7.59 9252 112598 7.7507  3/4-10 6 34 FM-315/A11 D18 984 154 79527 536 6748 88189 55005  1° 6 267  EM-250/D8

A6 1575 130 1311 406 5252 142519 4.1880 1/2-13 6 fiet TAELORE D16 1240 156 10315 406 5252 112598 41880  7/8" 6 544  FM-315/D6

15-3/4" A8 1575 130 1311 536 6748 142519 55005 5/8-11 6 728 FM-400/A8 12-1/2 D18 1240 165 10315 536 6748 112598 55005 1 6 527  FM-315/D8
ALl 1575 130 1311 759 9252 142519 7.7507 3/4-10 6 63.2 FM-400/A11 D111 1240 205 10315 759 9252 112508  7.7507 1-3/16" 6 501  FM-315/D1l

A8 1996 134 166535 536 6748 180314 55005 5/8-11 6 122 FM-500/A8 D16 1575 156 1311 406 5252 142519 41880 78" 6 911  FM-400/D6

20" All 1996 134 16.6535 7.59 9.252 18.0314 7.7507 3/4-10 6 112 FM-500/A11 15-3/4" D1-8 15.75 154 13.11 5.36 6.748 14.2519 5.5005 1" 6 85.8 FM-400/D8
Al5 1996 154 166535 1108 13000 180314 11.2509 7/8-9 6 103 FM-500/A15 D111 1575 18 1311 759 9252 142519  7.7507 1-3/16" 6 898  FM-400/D11

A8 2480 165 21575 536 6748 230709 55005 5/8-11 6 241 FM-630/A8 D18 1969 154 166535 536 6748 180314 55007 1 6 1404  FM-500/D8

=5 All 2480 165 21575 759 9252 230709 7.7507 3/4-10 6 235 FM-630/A11 20" D111 1969 185 166535 759 9252 180314 77507 1-316" 6 1555  FM-500/D11
A15 (2480 | 165 | 21,575 | 1108 13000 230709 112509  7/89 6 AL AU AL D1-15 1969 197 166535 1108 1300 180314 112509 138" 6 1328  FM-500/D15

D1-8 248 154 21575 536 6748 230709 55007 1 6 2205  FM-630/D8

25" D111 2480 185 21575 759 9252 230709 77507 136" 6 263  FM-630/D11

D1-15 2480 197 21575 1108 1300 230709 112509 138" 6 247  FM-630/D15

www.gatorchucks.com www.gatorchucks.com




M FM Series Pre-machined Adapter Plate BPD Series Base Plate &S
S S
S S
) : )
= Type L Pre-machined Adapters BPD Base Plate =
e for PO Series & PS Series chucks for PO Series & PS Series 3 &4 Jaw Plain Back e
Note: Front Mount Scroll Chucks
Skim cut onthe face ofthe adapter flangeand boss isrequired to makea
press fit betweenadapter boss (size C) a_nd chuckcounterbore, see page59. Designed for usewith 3 &4 jaw scrollfront mount plainback chucks
All adapters aremade of steelfor longe life. Ideal for useon a CNCor manual rotaytables and indexerswith the 3,4, 6 and8 T-Slots

Base plates are provided with mountingbolts with T-Nuts and hex key.
All base platesare made of steel for longerlife.
Full front mountchuck specification seeon the Page 115.

v
7
7

li
lw)
1
@
(=

Thru
C Hole F Part No.
d .
Bolts Mounting Bolts

U U
@) O
2 2
D D
= =
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
n 9]
— —
D D
2k )
oy} 09)
o o
o o
< <
Y )
- -
D 9]
o o
@ @
o o
> -]
2 2
() (¢}
- -
= =
@ O
>0 =y
c c
() (¢}
~ ~
(7] (7]

6-1/4" 6.30 LOO 3-3/4-6 2.126 0.7283 5 2.20 2.750 5.5118 9.76 FM-160/L00 -
6-1/4" 6.30 LO 4-1/2-6 252 0.7283 5 2.60 3.250 5.5118 12.3 FM-160/L0 H'---ﬂ a-be Part No.
G1 Jaws
8" 7.87 LOO 3-3/4-6 2.126 0.7086  6.378 2.20 2.750 6.9291 13.6 FM-200/L00 . - C Bolts Bolts
8" 7.87 LO 4-12-6 252 07086 6378 260 3250 6.9291 16.2 FM-200/L0 5 SR S e N R 2.205 2.422 1575 BPD-125
g 787 L1 6-6 299 07086 6378 335 2125 6.9291 235 FM-200/L1 6-1/4" 6.299 4921 5512 1.850 0.636 3/8"-16 3 M8 4 2.539 2.756 1.693 BPD-160
10" 9.87 LOO 3-3/4-6 2.126 0.827  7.9527 2.20 2.750 8.8189 225 FM-250/L00 & S T W e R 3 M8 4 2.953 3.150 1772 BPD-200
10" 0.87 L0 21/2-6 252 0827 79527 260 3.950 8.8189 24.9 FM-250/L0 10" 9.843 7874 8819 3.189 0.787 1/2"-13 8 M10 4 3.347 3.543 2.087 BPD-250
10" 0.87 L1 6-6 299 0827 79527 335 2125 8.8189 318 EM-250/L1 12-1/2" 12402 10.236 11.260 4.252 0.984 5/8"-11 3 M10 4 3.701 3.937 2.244 BPD-315
12-1/2" 12.40 Lo 21/2-6 252 1102 10.315 260 3.950 11.2598 461 FM-315/L0 15-3/4" 15.748 12992 14252 5551 1.063 5/8"-11 3 M12 4 4.134 4.331 2.693 BPD-400
e | i 66 299 1102 10315 335 4425 112508 L0 P p— 20" 19685 16535 18.031 7.677 1.181 3/4"-10 3 M16 4 4.527 4.685 3.150 BPD-500
12-1/2" 12.40 L2 7-3/4-5 3.504 1.102 10.315 4.29 5.250 11.2598 63.5 FM-315/L.2
15-3/4" 1583 L1 6-6 2.99 1102 1311 335 4125 @ 142519 79 FM-400/L1
15-3/4" 15.83 L2 7-3/4-5 3.504 1.102 13.11 4.29 5.250 14.2519 90 FM-400/L2 .H.n- TLT
15-3/4" 15.83 L3 10-3/8-4 3.937 1.102 1311 5.43 6.500 14.2519 118 FM-400/L3 M1
20" 19.80 L2 7-3/4-5 3.504 1142 166535 429 5250  18.0314 133 FM-500/L2 /] w
g’ M6 .3150 5118 .1969 .3543 .5118 % Y
6-1/4" M8 3937 5906  .2362 4724 .5906
8" M8 3937 5906 .2362  .4724 .5906 A
10" M10 4724 7087 2756 5512 .7087
12-1/2" M10 4724 7087  .2756 .5512 .7087 o)
15-3/4" M12 5512 .8661  .3150 .6299 .8661 F 7
20" M16 .7087 1.1024 .3937 .7874 1.1024

www.gatorchucks.com www.gatorchucks.com




Adapter Plate Installation Recommendations Jaws - Hard Top Jaws

For SM & FM Adapter Plate
Note: All Gator Adapter Plates are made of steel. Hard TOp Jaws, For 3-Jaw Chucks

Vayini A

Skaiys Jojel
syanya Joyes

()
()

e American Standard Tongue & Groove Jaws
e Hardened & Ground

® Sold in sets

® Jaw clamping rangessee on page4

2

M_ M_R |

I I w —
St Al
A 5"to 12-1/2" 15-3/4" & up
i Di
SM & FMAdapter mounting Chuck mounting dimension e Lbs

E

U U
@) O
2 2
D D
= =
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
2 n
— —
D D
2k )
oy} 09)
o o
o o
< <
Y )
- -
D 9]
o o
@ @
o o
> -]
2 2
() (¢}
- -
= =
@ O
>0 =y
c c
() (¢}
~ ~
(7] (7]

dimensions after machining 5/8 57/64 49% 3129 .157 .126 315 1.516 .866 2.205 .571 1.38 0.93 TJ-PS3-125
Required Counter bore 6-1/4" 3/4 1-1/8 499 .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS3-160
BOSSED'a- D|I4a7E 8"  7/8 1-3/8 4996 .43 .71 3129 .157 .126 413 1.772 1181 3.347 .984 2.09 2.10 TJ-PS3-200
py— pym— 10" 1-1/16 1-9/16 7496 .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS3-250
4 2'7560 3.2677 0.0984 3.9370 2'7559 3.2677 0.1181 3.9370 12-1/2" 1-1/4 1-7/8 749 .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 5.10 TJ-PS3-315
3'7411 3'7415 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS3-400
5 : 4.2520 0.1378 4.9213 : 4.2520 0.1575 4.9213 20" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS3-500
3.7403 8.7402 25'€32" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630
6-1/4" 4.9224 5.5118 0.1378 6.2992 4.9228 55118 0.1575 6.2992 40€50" 1-1/2 2-1/4 7496 .87 1.3 5004 .157 .248 984 4.331 3.346 8.268 1.99 3.33 66.0 TJ-PS3-1000
4.9214 4.9213
6.3003 6.3008
8" 6.9291 0.1378 7.8740 6.9291 0.1575 7.8740 .
6.2003 6,209 Hard Top Jaws, For 4-Jaw Chucks
10" 7.8753 8.8189 0.1772 9.8425 7.8758 8.8189 0.1969 9.8425 e American Standard Tongue & Groove Jaws
7.8742 7.8740 e Hardened & Ground
® Sold in sets
12-1/2" 102376 11.2598 0.1772 12.4016 10.2383 11.2598 0.1969 12.4016 e Jaw clamping rangessee on page 4
10.2364 10.2362
15-3/4" 12.9937 14.2519 0.1772 15.7480 12.9944 14.2519 0.1969 15.7480 P
12.9923 12.9921 —
2
20" 16.5372 18.0314 0.1772 19.6850 16.5379 18.0314 0.1969 19.6850 =
16.5356 16.5354 MM R ] 0
I T }
25" elibe 23.0709 0.2362 24.8031 i 23.0709 0.2756 24.8031 ! ! it ——
21.4577 21.4567 o< o 2| el H
— — A 5" to 12-1/2" 15-3/4" & up

1/ Before adapterinstallation using dialindicator verify spindle nose radial &face run outs.
Go to page 44 to verifyspindle nose accuracyrequirements.

3/ For Camlock mount besure that all Camlock studs andset screws are mounted correctly. — Lbs.

4/ After selecting suitable back plate, mountit onto the lathe spindle nose. S | S0 | SiEn] e ey AN | i |2 S0l | R [ (e IalRealales
5/ p dapter installation i . cant in ordert tricity bet h 6-1/4" 3/4 1-1/8 499% .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS4-160
roper adapterinstallation is veryimportant in orderto secure concentricity between the - ) e
lathe's spindle nose and the chuck. 8 7/8 1-3/8 4996 .43 .71 3129 .157 .126 413 1772 1181 3.347 .984 2.09 2.10 TJ-PS4-200

He chuck _ < finish . | h o 10" 1-1/16 1-9/16 7496 .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS4-250
6/ The chuck counterbore diameter is finished by manufacturer to H7 Class, with depth, C. 12-1/2" 1-1/4 1-7/8 74% .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 5.10 TJ-PS4-315
7/ Prior tomachining the adapter,accurately measure thechuck's counterbore diameter, E and 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS4-400

depth, C. 20" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 .787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS4-500
8/ A good press fit, H7/k6, is mostdesirable. See chartabove. 25'%32" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS4-630
9/ Toinsure verygood chuck concentricity, itis importantthat this procedure isdone accurately. 40'€50" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 .984 4.331 3.346 8.268 1.99 3.33  66.0 TJ-PS4-1000

10/ After theinstallation check chuckface & radial run outs andusing a precisionground stock
mount it ina chuck jawsand check itsradial run out. See page 44

www.gatorchucks.com www.gatorchucks.com




8 Jaws- Hard Master Jaws Jaws- Soft Top Jaws &S
r~J) -~
S S
S S
) .
S Hard Master Jaws, For 3-Jaw Chucks Soft Top Jaws, For 3-Jaw & 4-Jaw Chucks S
hh@ e American Standard Tongue & Groove Jaws ) hh@
e Sold in sets e American Standard Tongue & Groove Jaws
E e Sold by piece
. : - - s I (u)
; DEij#gE*m ' el -
K K K K K K K K K [ A

BoefoHoHo] S050HO S ‘3%5 '
L N L — SRR EDE DS FEET
T ‘ - ‘ ‘ _ Dia. Lbs

" 257to 32" Diameter 20" Diameter ® 12"to 16" Diameter  ® 5"t0 10" Diameter 2520 0866 1520 .3129 05910 1-U/4 500 1000 .1260 .283 5/16-18 0.66  STJ-PS1-125

Chu OAL Thread Wt. Part No. 6-1/4"  3.071 1.000 1634 .3129 0838 1-1/2 500 1339 .1260 .283 3/8-16 1.01 STJ-PS1-160
Dia. Lbs 8" 3.543 1.063 1.713 .3129 09488 1-3/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS1-200

5 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-8 0.93 MJ-PS3-125 10" 4.173 1.280 2.028 .5000 10827 2-1/8 750 1.772 .1260 .283 1/2-13 2.54 STJ-PS1-250
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS3-160 12-1/2" 4.724 1.575 2.165 .5000 12087 2-1/2 750 2087 .2480 .283 1/2-13 3.53 STJ-PS1-315

8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS3-200 15-3/4" 5.512 1.654 2539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS1-400

10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS3-250 20" 5512 1.969 2933 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 5.29 STJ-PS1-500
12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS3-315 25"8&32" 6.299 2.047 3.288 5000 1.3543 3 750 2480 .2480 .406 3/4-10 9.26 STJ-PS1-630
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS3-400

20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS3-500

25" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS3-630 SOft Top \]aWS’ For 2 JaW ChUCkS
31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS3-800 e American Standard Tongue & Groove Jaws

40" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 12.593 3/4-10 105 MJ-PS3-1000 e Sold by piece

50" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 14.448 3/4-10 116 MJ-PS3-1250

. I
| 1T

4
|

Hard Master Jaws, For 4-Jaw Chucks DEHHEw ! el

e American Standard Tongue & Groove Jaws
e Sold in sets Chuck BoItS|ze Wt. Part No.
E Dia. Lbs.
()]
| —

U U
@) O
2 2
D D
= =
D D
2} (2}
1 1
M Tl
o o
- -
(@] (@]
D D
o o
2 n
— —
D D
2k )
oy} 09)
o o
o o
< <
Y )
- -
D 9]
o o
@ @
o o
> -]
2 2
() (¢}
- -
= =
@ O
>0 =y
c c
() (¢}
~ ~
(7] (7]

6-1/4" 3.071 1575 1634 3129 0838 11/2 500 1339 .1260 283 114 3/8-16 1.35 STJ-PS2-160
E m 8" 3.543 1575 1713 .3129 09488 13/4 500 1575 .1260 283 122 3/8-16 1.85 STJ-PS2-200
o 10" 4173 1.850 2028 5000 10827 2-U8 750 1772 .1260 283 150 1/2-13 3.00 STJ-PS2-250
B 12-1/2" 4.724 2,047 2165 5000 12087 21/2 750 2087 .2480 283 157 1/2-13 4.00 STJ-PS2-315
N N T T — e 15-3/4" 5.512 2047 2539 5000 13543 3 750 2480 .2480 406 179 5/8-11 5.50 STJ-PS2-400
EOEOIIPROROS BoE0R B059) ot
— ™ M
el el o] el = ol | - Hard Master Jaws, For 2-Jaw Chucks
m 25" to 32" Diameter B 20" Diameter m 12"to 16" Diameter ~ ® 5"to 10" Diameter e American Standard Tongue & Groove Jaws

e Sold in sets

Chuck OAL Thread Wt. Part No. * :
Dla LbS ] lﬁl;r]rﬁ [ [’LTL‘] t’L‘i?’L‘l

3" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-8 0.93 MJ-PS4-125 - LJ LJ [] o o 3¢E¢ ‘S%E
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS4-160 — v [ W el H
G H A
8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS4-200 B ‘

10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS4-250 ™ 12"to 16" Diameter ® 5"to 10" Diameter

12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS4-315 Chuck OAL Thread Wi. .
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS4-400 Dia. Lbs.

20"  1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS4-500 6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS2-160
25"  1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS4-630 8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS2-200
31-1/2" 1-1/2 2-1/4 7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS4-800 10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS2-250
40" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 12.593 3/4-10 105 MJ-PS4-1000 12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJI-PS2-315
50"  1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 14.448 3/4-10 116 MJ-PS4-1250 15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS2-400

www.gatorchucks.com www.gatorchucks.com




S Jaws - 1D Jaws Jaws- OD Jaws &S
S S
S S
S S
] . . S
S ID Hard Solid Jaws, For 3-Jaw Chucks OD Hard Solid Jaws, For 3-Jaw Chucks S
ST 57
@ e Sold in sets e Sold in sets @
P P
o) U
o) O 0 o)
wm ﬁ z; (0))
< = 52 <
" c c E
1 [ | ] (W 1
‘|'| m LS 'I'I
o L L B o
-~ -
(@] (@]
D (¢}
o o
(0))] (0))]
= Chuck Wit. /pc Chuck Wt./pc. =
% --n---nn rart fo. Dia. Lbs. Part No. g
5 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 0J-PS3-100 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 1J-PS3-100 5
o 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 0J-PS3-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS3-125 o
% 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS3-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 1J-PS3-160 2—
o 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS3-200 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 1J-PS3-200 =)
8 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS3-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS3-250 C_S
9_ 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 0J-PS3-315 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 .7087 3.268 1.358 2.90 1J-PS3-315 9
9. 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 0J-PS3-400 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 1J-PS3-400 ‘f
g 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS3-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS3-500 g
wm (0))
(@] (@]
-~ -
(@) 1 1 (@]
= ID Hard Solid Jaws, For 4-Jaw Chucks OD Hard Solid Jaws, For 4-Jaw Chucks =k
(@)
9 e Sold in sets e Sold in sets >
c c
(@] (@]
~ ~
n 2) p )
(@] (@]
3zl | CJLEL
szl szl
C C
l ] 1 [
e ipigisisisisisizin LL
L B L B
CSPa“ --ﬂ---ﬂﬂ Wﬁb’é’c C&%fk --ﬂ---ﬂﬂ Wtb’é”
1.2598 1.6535 .5906 .2362 2362 .2756 1.063 0J-PS4-100 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 1J-PS4-100
5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 0J-PS4-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS4-125
6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS4-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 748 .80 1J-PS4-160
8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS4-200 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 1J-PS4-200
10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS4-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS4-250
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 0J-PS4-315 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 1J-PS4-315
15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 0J-PS4-400 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 1J-PS4-400
20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS4-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS4-500

www.gatorchucks.com www.gatorchucks.com




¥ Jaws- Soft Solid Jaws Spare Parts &S
S S
= =
= : . . =
S Soft Solid Jaws, For 3-Jaw Chucks Scroll Plates Pinions Pinion Sleeves =
@ e Sold by piece e Sold by piece OAL e Sold by piece @
= e Sold in sets 2
oD
S S
EEE A
é- 0 SC-PS-080 2.1575 PI-PS-080  .7480 1.0315 3" ; é'
. 9 [ 4"  SC-PS-100 2.7323 4" PI-PS-100 .9843 1.3976 4" = .
g‘l Wl U 5"  SC-PS-125 3.7008 5"  PI-PO-125  .9843 1.3268 5" PS-P-125 g‘l
2 B L 6-1/4" SC-PS-160 4.8819 6-1/4" PI-PO-160  1.1024 1.6063 6-1/4" PS-P-160 =
® 8"  SC-PS-200 6.2598 8"  PI-PO-200 1.1811 1.9882 8" PS-P-200 ®
o 10"  SC-PS-250 7.7953 10"  PI-PO-250  1.3583 2.2638 10" PS-P-250 -
@ --n-- 12-1/2" SC-PS-315 10.1575  12-1/2" PI-PO-315 14764  2.8543 12-1/2" PS-P-315 &
g D Lbs. 15-3/4" SC-PS-400 12.9134 15-3/4" PI-P0O-400  1.7323 3.6614 15-3/4" PS-P-400 g
5 1.2598 1.6535 -5906 -2362 -2362 SJ-PS3-100 20" SC-PS-500 16.4173 20" PI-PO-500 1.9685 3.8780 20" PS-P-500 5
o 5" 1.5748 2.0079 7874 -3150 -3150 .40 SJ-PS3-125 25" SC-PS-630 21.3386 25" PI-PO-630  2.0472 4.7087 25" PS-P-630 o
= 6-1/4" 2.0866 2.7559 7874 -3150 -3150 -80 SJ-PS3-160 31-1/2" SC-PS-800 27.4106 31-1/2" PI-PO-800  2.0472 7.0078 31-1/2" PS-P-800 =
T 8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS3-200 ] . o
3 10" 2.4803 4.1339 11024  .4331 4724 1.73 SJ-PS3-250 Jaw Mounti ng Bolts Half Rlng 3
o 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS3-315 e Sold by piece e Sold by piece @
@ 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 5.20 SJ-PS3-400 e
g 20" 3.9370 7.0866 1.5748 .6299 5512 7.33 SJ-PS3-500 g
(On 1 2 1 1 ((4)
= . =
S Soft Solid Jaws, For 4-Jaw Chucks e BT S
e . ngggd Short Long Dia. ' 0
% 5" 5/16-18 MT-J1-5 0.79 MT-J2-5 1.00 4" § %
o 6-1/4"  3/8-16 MT-J1-6 0.79 MT-J2-6 1.18 5 HR-P-125 o
8" 3/8-16 MT-J1-6 0.79 MT-J2-6 1.18 6-1/4" HR-P-160
10" 1/2-13 MT-J1-10 1.00 MT-J2-10 1.57 g" HR-P-200
12-1/2"  1/2-13 MT-J1-10 1.00 MT-J2-10 1.57 10" HR-P-250
O 15-3/4" 5/8-11 MT-J1-16 1.00 MT-J2-16 1.57 12-1/2" HR-P-315
20" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 15-3/4" HR-P-400
J | L"',f A 25" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 20" HR-P-500
B L 31-1/2"  3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 25" HR-P-630
31-1/2" HR-P-800

Wrenches (Standard & Extended)

y e Sold by piece
S T T YT T T

1.2598 1.6535 .5906 .2362 .2362 SJ-PS4-100 " 2344 2.36 W-P-080

5" 1.5748 2.0079 .7874 .3150 .3150 .40 SJ-PS4-125 4" 3543 3.15 W-P-100 - -

6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .80 SJ-PS4-160 5" 3543 3.15 W-P-125 - -
8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS4-200 6-1/4" 4331 3.90 W-P-160 7.87 W-SP-160
10" 2.4803 4.1339 1.1024 14331 4724 1.73 SJ-PS4-250 ;\ L 8" 4331 3.90 W-P-200 10.02 W-SP-200
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS4-315 L 10" 5512 4.78 W-P-250 8.74 W-SP-250
15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 5.20 SJ-PS4-400 12-1/2" 5512 4.76 W-P-315 10.87 W-SP-315
20" 3.9370 7.0866 1.5748 .6299 .5512 7.33 SJ-PS4-500 15-3/4" 6693 551 W-P-400 10.75 W-SP-400
Standard Wrench Extended Wrench 20" .7480 9.06 W-P-500 18.11 W-SP-500

25" .7480 9.06 W-P-630 - -

31-1/2" .7480 9.06 W-P-800 = -

www.gatorchucks.com www.gatorchucks.com




ﬁm PS Series Semi-Steel Body Universal Scroll Chucks

\A@ e gatorchucks’ Medium Duty

BY FUERDA 2 ,3 &4-Jaw Universal Self-Centering Scroll Chucks.
Semi-Steel Body

Skaiys Jojel
Skaiys Jojel

()
()

Medium Duty Semi-Steel Body
Universal Self-Centering Scroll Chucks

PS Universal Scroll Chucks provide high accuracy and durability Features and Benefits

for toolroom and quality control applications. For use on lathes,
grinders, rotary tables, CNC indexers in a variety of turning and
milling medium duty applications. They are also very useful for
welding, inspections and laser markings.

L)
n
n
D
=
D
(0]
2
D
=
92
—
D
@
09)
(@)
o
<
-
=
<
D
-
(0]
=
2
(¢}
=
=
0O
=
c
(¢}
=
(2}

U
wn
n
1)
=
D
(0]
2
D
=
92
—
D
@
vy}
(@)
o
<
-
2.
<
D
-
(0]
=
2
(¢}
=
=
0O
>
c
(¢}
=~
n

» Along with large selection of the adapter plates, Gator provides a full complement of

spare parts.

All PS chucks come with either American Standard two-piece tongue and groove jaws,

or two sets of hard solid ID & OD Jaws.

Chuck Body is made of high quality castiron. All jaw guideways and bearing surfaces

are precisely machined.

» Scroll plateis drop forged offine alloy steel, hardened and ground.

Hardened jaws and pinionsincrease life of the chuck.

PS chucks are available with Plain Back, Camlock, A& L Mounts.

All Gator chucks with diameters from 3" thru 10" are being

- Shipped ina high quality strong cardboard boxes.

* All Gator chucks withthe diametersfrom 12-1/2" & UP are being shipped in a high
quality strong wooden crates.

www.gatorchucks.com www.gatorchucks.com




Chuck Part Listing Clamping Ranges
PS Series 3 & 4-Jaw Universal Scroll Chucks

B Chucks with Two-Piece E Note:

i *Never exceed chuckgripping ranges.
Reversible Jaws *Master jaws andscroll should bealways in afull engagement.

*Select jaws withthe proper jawgripping surfaces tofit your application.
*Always Use properjaws for roughand finishing machining.

Vayini A

Skaiys Jojel
syany Joyes

()
()

. Hard Solid ID Jaws

. Hard Solid OD Jaws

. Grease Nipple

. Chuck Mounting Bolts

10. Back Cover Mounting Bolts I&z=maximum length ofworkpiece
d=workpiece diameter

11.Chuck Wrench h=height of theclamping jaw step .51
I workpiece is clampedinto the chuck
jaws with outadditional support.

Safe Operating Parameters

Conditions:

1. Chuck Body L’ji [ % Llji_ [
8 2. Back Cover — — 8
0 3. Scroll Plate S N T T e [ e A (NN DA ) A O m
@ 4 P|n|on T, T|T T| © T, T|T T| © @
=. 5. Pinion Screw 1 1 =.
o 6. Hard Master Jaws ’J; | % ’—L- | o
' 7. Hard Top Jaws '
()] 8. Grease Nipple ()]
=. 10. Back Cover Mounting Bolts Dia. D =.
% 11. Chuck Wrench &
S 12 &13. Jaw Mounting Bolts mm Inch Solid ~ Reversble  Sold  Reversble  Sold  Reversible  Solid  Reversible  Solid Reversible y
@ 80 3-1/4 .08-1.06 - .87-1.81 - 1.77-2.72 - .98-1.97 - 1.89-2.80 - @
w 100 4 12-1.30 - .98-2.20 - 2.20-3.43 - 1.26-2.44 - 2.44-3.27 w
= . 125 5 12-1.97  12:1.97 137291 1.34-2.99 283453 2.95-4.65 154327 2.053.78 3.154.92  3.74-4.92 =
‘% " Chucks with Two _Sets of 160 6-1/4 12-252 12252  1.65-394 1.65-3.82 3.70-6.06 346575 197-421 244476 3.86-6.30  4.53-6.30 ‘%
g OD &ID Hard Solid Jaws 200 8 16-354  .16-354 205531 197-512 4.72-7.95 4.13-7.48 236571 2.83-6.14 5.12-7.87 5.24-7.87 g
= 250 10 20-4.65  .20-465 2.44-6.85 2.28-650 570-1043 4.92:9.25 303740 338775 6.30-9.84 6.30-9.84 =
@ 315 12-1/2  .39-516  .20-516  3.07-7.87 256-7.16 6.77-11.77 5.70-10.43 3.54-8.46 4.06-8.90 7.48-12.40 7.48-12.40 )
» 400 15-3/4  .39-7.09  .39-7.09 3.35-9.92 2.83-8.98 827-14.96 6.50-12.95 4.05-10.71 5.00-11.57 9.05-15.75 9.05-15.75 »
= . Chuck Body 500 20 79-9.25 79925 4.72-13.19 4.72-16.14 9.65-18.74 7.87-19.10 551-14.06 4.33-15.75 10.87-19.69 7.48-19.69 =
E.’,) . Back Cover 630 25 1.18-13.19 1.18-13.19 6.30-18.31 5.51-23.23 12.80-24.80 8.27-26.18 7.09-19.17 4.72-22.44 13.58-24.80 7.88-24.80 g’
p . Sprpll Plate 800 31-1/2 591889 5.9-18.89 11.10-24.17 9.92-28.99 17.64-30.71 12.91-31.97 11.89-24.96 9.45-28.50 18.43-31.50 12.44-31.50 o
= - Pinion 1000 40 - 9.84-23.62 - 14.02-42.52 - 16.93-45.28 - 16.73-42.13 - 19.69-45.28 =
9 - Pinion Screw 1250 50 - 12.60-27.56 - 16.54-45.67 - 19.29-48.62 - 22.52-49.61 - 25.20-52.17 9
c c
3 o
~ ~
@) @)

O©CoOoO~NOOA,WNE

_‘_l_

Permissible Spindle Runout

Chuck Diameter [ 3-1/4"| 4" | 5" [6-1/4"| 8" | 10" [12-1/2"[15-3/4"] 20" | 25" [31-1/2"]| 40" | 50"
| 1.2xd 1.5xd 1xd
Toobtain the specifiedclamping accuracy ofa chuck mountedon a machinetool, 7 4xh
itisnecessary to:
1. Reduce playin the spindle bearings to allowable minimum. ChUCk ACCU racy
2. Ensure the machine spindle nose does notexceed the values specified.
3. Meetthe basicrequirements for correct mounting of the chuck onthe spindle nose.
4. Followthe chuck manual. L
7TA /1A _|I
L -’> _ L -h7 AS Dia pindle R 0
|| ] PS Series Semi-SteelBody Chuck Size | 3-1/4"| 4" 5" | 6-1/4"| 8" 10" [12-1/2"|15-3/4"| 20" | 25" |31-1/2"| 40" | 50"
/18 /8 3 -6 - '00012" max. L 1.57 1.57 | 2.36 236 | 3.15 3.15 | 472 | 472 6.3 6.3 6.3 6.3 6.3
8732 .0002"max. Radial Runout |_2_| 0:0008 | 0.0008 | 0.0012 | 0.0012 | 0.0016 | 0.0016 | 0.002 | 0.0024 | 0.004 | 0.004 | 0.0059 | 0.0071 | 0.0071
L I I | unou
b | 0.001 | 0.001 |0.0014 | 0.0014 | 0.0018 | 0.0018 | 0.0022 | 0.0025 | 0.004 | 0.004 | 0.0059 | 0.0071 | 0.0071
Threaded Short Taper Long Taper -
Axial Runout | € | 0.0006 | 0.0006 | 0.0008 | 0.0008 | 0.001 | 0.001 | 0.0012 | 0.0012 | 0.002 | 0.002 | 0.0024 | 0.0031 | 0.0031

www.gatorchucks.com www.gatorchucks.com




¥ Plain Back Scroll Chucks

s

§, 2,3 &4-Jaw Universal Self-Centering Scroll Chucks

<8 Principal Dimensions b1
hh = )

i

Chuck 2-Pc Jaws Selid Jawe Adapter Mounting Bolts
Ll hl Thread M - No. Of Bolts

Plain Back Scroll Chucks
3-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws, Plain Back

Each chuck is provided with:

1 Setof hard master jaws

1 Setof hard top reversible jaws

1 Set ofadapter mounting bolts

1 Spring loadedchuck T- wrench
2 Hex keys

Eye bolts for chucks 10" and larger
3 piniondesign

Lathe Chuck Manual

Hole P'\élfn);i"s"sci)lﬁe i Chuck Hard Top |Hard Master Soft Top Wrech**
Enlargements . Model NEVS Jaws Jaws

&’ 1.2598 1.3456 3200 n PS3-5"A 1-201-0500  TJ-PS3-125 MJ-PS3-125 STJ-PS3-125 W-P-125
6-1/4"  1.6535 1.9252 3000 22 PS3-6"A 1-201-0600  TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 W-P-200
8" 2.1654 2.8189 2500 39 PS3-8"A 1-201-0800  TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 W-P-200
10" 2.9921 3.5827 2000 55 PS3-10"A  1-201-1000  TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 W-P-315
12-1/2"  4.0551 4.4094 1500 110 PS3-12"A  1-201-1200 TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 W-P-315
15-3/4" 53543 57480 1000 187  PS3-16"A  1-201-1600  TJ-PS3-400 MJ-PS3-400 STJ-PS3-400 W-P-400
20" 74803  8.3465 700 320  PS3-20"A  1-201-2000 TJPS3-500 MJ-PS3-500 STJ-PS3-500 W-P-630
25" 9.9213 11.6140 500 551 PS3-25"A  1-201-2500 TJ-PS3-630 MJ-PS3-630 STJ-PS3-630 W-P-630
31-1/2" 12.5984 12.5984 300 886 PS3-32"A  1-201-3200 TJ-PS3-630 MJ-PS3-800 STJ-PS3-630 W-P-800

40" 18.1100 20.0787 300 1727 PS3-40"A  1-201-4000 TJ-PS3-1000 MJ-PS3-1000 STJ-PS3-1000 W-P-1000

50" 21.6535 21.6535 200 3258 PS3-50"A  1-201-5000 TJ-PS3-1250 MJ-PS3-1250 STJ-PS3-1250 W-P-1250

3-1/4" 2.6378 2.2047 0.6299 1181 1.732 0.512 M6 x 1 0.98
4" 3.2677 2.7599 0.7874 1181 1.969 = 0.669 M8 x 1.25 0.98 3
5" 4.2520 3.7402 1.2598 .1575 2.205 1.575 0.787 M8 x 1.25 0.98 3
6-1/4" 55118  4.9213 1.6535 .1575 2.539 1.693 1.260 M10x 1.5 0.98 6
8" 6.9291 6.2992 2.1654 .1575 2.953 1.831 1.142 M10x 1.5 0.98 6
10" 8.8189 7.8740 2.9921 .1969 3.347 2.146 1.339 M12x 1.75 1.18 6
12-1/2" 11.2598 10.2362  4.0551 .1969 3.701 2.362 1.693 M16 x 2 1.18 6
15-3/4" 14.2519 12,9921  5.3545 .1969 4.134 2.854 2.165 M16 x 2 1.57 6
20" 18.0314 16.5354  7.4803 .1969 4.724 3.602 2.205 M16 x 2 157 6
25" 23.0709 21.4567  9.9213 .2756 5.315 3.622 2.756 M16 x 2 1.97 6
31-1/2" 14.5000 17.7170 12.5984 .7874 6.260 3.622 > 1"-8 5.96 6
40" 37.4016 35.8268 18.1102 .3543 7.087 4.409 - 1"-8 7.87 6
50" 43.3071 39.3701 21.6535 .3543 7.087 4.409 - 1"-8 7.87 6

2-Jaw Scroll Chucks with Soft Top Reversible Jaws, Plain Back

U
wn
n
1)
=
D
(0]
2
D
=
92
—
D
Dl
0]
(@)
o
<
-
2.
<
D
-
(0]
L
2
(¢}
=
=
0O
>
c
(¢}
=~
n

Each chuck is provided with:

1 Setof hard master jaws

1 Setof softtop reversible jaws

1 Set ofadapter mounting bolts

1 Spring loadedchuck T- wrench
2 Hex keys

Eye bolts for chucks 10" and larger
2 pinion design

Lathe Chuck Manual

Max.Hole . Chuck

Hard Master| Soft Top Scroll

EEEP;S;IELets Model : Jaws Jaws Plate Wrech**
6-1/4"  1.6535 1.9252 3000 22 PS2-6"S 1-205-0600 MJ-PS2-160 STJ-PS2-160 SC-PS-160  W-P-200
8" 2.1654 2.8189 2500 39 PS2-8"S 1-205-0800 MJ-PS2-200 STJ-PS2-200 SC-PS-200  W-P-200
10" 2.9921 3.5827 2000 55 PS2-10"S  1-205-1000 MJ-PS2-250 STJ-PS2-250 SC-PS-250  W-P-315
12-1/2"  4.0551 4.4094 1500 110 PS2-12"S  1-205-1200 MJ-PS2-315 STJ-PS2-315 SC-PS-315  W-P-315
15-3/4" 5.3543 5.7480 1000 187 PS2-16"S  1-205-1600 MJ-PS2-400 STJ-PS2-400 SC-PS-400  W-P-400
**W-SP-Extended Wrenches available from stock.
See Page 92

www.gatorchucks.com

**W-SP-Extended Wrenches available from stock.
See Page 92

3-Jaw Scroll Chucks with Two Sets of Hard Solid Jaws, Plain Back

Each chuck is provided with:

1 Setof hard solid ID jaws

1 Setof hard solid OD jaws

1 Set ofadapter mounting bolts

1 Spring loadedchuck T- wrench
2 Hex keys

Eye bolts for chucks 10" and larger
3 pinion design

Lathe Chuck Manual

bl ' Chuck ID-Hard | OD-Hard | Soft Solid

P bl o
Frmissib’e Solid Jaws | Solid Jaws REVS Wrech

Enlargements . Model

3" 0.6299 0.7087 4000 33 PS3-3" 1-202-0300 0J-PS3-80 13-PS3-80 SJ-PS3-80 W-P-080
4" 0.7874 0.9055 3500 6.2 PS3-4" 1-202-0400 0OJ-PS3-100  13-PS3-100 SJ-PS3-100  W-P-100
53 1.2598 1.3456 3200 1 PS3-5" 1-202-0500 0OJ-PS3-125  13-PS3-125 SJ-PS3-125  W-P-125
6-1/4"  1.6535 1.9252 3000 22 PS3-6" 1-202-0600 0OJ-PS3-160  13-PS3-160 SJ-PS3-160  W-P-200
8" 2.1654 2.8189 2500 39 PS3-8" 1-202-0800  OJ-PS3-200  13-PS3-200 SJ-PS3-200  W-P-200
10" 2.9921 3.5827 2000 55 PS3-10" 1-202-1000 OJ-PS3-250  13-PS3-250 SJ-PS3-250  W-P-315
12-1/2"  4.0551 4.4094 1500 110 PS3-12" 1-202-1200 OJ-PS3-315  13-PS3-315 SJ-PS3-315  W-P-315
15-3/4"  5.3543 5.7480 1000 187 PS3-16" 1-202-1600  OJ-PS3-400  13-PS3-400 SJ-PS3-400  W-P-400
20" 7.4803 8.3465 700 320 PS3-20" 1-202-2000 OJ-PS3-500  13-PS3-500 SJ-PS3-500  W-P-630

**W-SP-Extended Wrenches available from stock.

See Page 92

www.gatorchucks.com

Vayini A

Syanya Jojes

()

L)
n
2
D
=
D
(0]
2]
D
=
2]
—
D
@
09)
(@)
o
<
-
=
<
D
-
(0]
=
2
(¢}
=
=
0O
=
c
(¢}
=
(2}




¥ Plain Back Scroll Chucks Type AL/A2 Direct Mount Scroll Chucks &S
~ ~
S S
S 4-Jaw Scroll Chucks with Two-Piece Hard Reversible Jaws, Plain Back 3-Jaw Type A1/A2 Direct Mount Scroll Chucks S
© . . . o
S with Two-Piece Hard Reversible Jaws S
= =
§§ Each chuck is provided with: §§
@ B 1 Setof hard master jaws TypeAl spi_ndle has_a 2 bolthole pattern, inside_(sizg B1) andoutside @
. . the taper (sizeB). Either an Al or A2 chuckwill fit onit.
m 1 Setof hardtop rever§|b|elaws Type A2 spindle has 1 bolt pattern, outside the taper (size B), and only
B 1 Set ofadapter mounting bolts an A2chuck will fiton it.
o B 1 Spring loadedchuck T-wrench o
wn H 2 Hex keys wn
wn B Eye bolts for chucks 10" and larger TypeAl/ A2 wn
o B 2 piniondesign 1)
= ®m Lathe Chuck Manual =
o S % o
. Each chuck is provided with: 0 .
% ®m 1 Setof hard master jaws cl %
= m 1 Setof hardtop reversible jaws ol ol o] Bl =
Max.Hole i
- ke Chuck Chuck Hard Top |Hard Master| Soft Top 1 Set'ofchuck mounting bolts -
(Ij) AlE EZ?;%E,??L% Model Part No. Jaws Jaws Jaws LS B 1 Spring loaded chuck T- wrench . a (ID
8 B 2 Hex keys oo g
@ 5" 1.2598 1.3456 3200 1 PS4-5"A  1-203-0500 TJ-PS4-125 MJ-PS4-125 STJ-PS4-125 W-P-125 B Eye bolts for chucks 10" and larger @
W 6-1/4" 16535 19252 3000 22 PS4-6"A 12030600 TJ-PSA-160 MJPS4-160 STJ-PS4-160 W-P-200 : Eaﬂu‘e'ogﬁf;lg'\;'anual c1 m
H h
8_ 8" 2.1654 2.8189 2500 39 PS4-8"A 1-203-0800 TJ-PS4-200 MJ-PS4-200 STJ-PS4-200 W-P-200 ' 8_
< 10" 2.9921 3.5827 2000 55 PS4-10"A  1-203-1000 TJ-PS4-250 MJ-PS4-250 STJ-PS4-250 W-P-315 <
g 12-1/2"  4.0551 4.4094 1500 110 PS4-12"A  1-203-1200 TJ-PS4-315 MJ-PS4-315  STJ-PS4-315 W-P-315 ape ole RP B B 0 g Bo ode g
2' 15-3/4" 5.3543 5.7480 1000 187 PS4-16"A  1-203-1600 TJ-PS4-400 MJ-PS4-400 STJ-PS4-400 W-P-400 Dia e Dia.(C “ - - . ead Q Pa £ E
2 20" 7.4803 8.3465 700 320 PS4-20"A  1-203-2000 TJ-PS4-500 MJ-PS4-500 STI-PS4-500 W-P-630 6-1/4" | A1-5 | 1.6535 |3000| - 24374 | 3.2505| .563 |3.2087 | 1.693| 22 | 7/16-14 | 2-3/4 3 PS3-6"2//A1—5 1-211-0605 ('_E
n . . . | Al-5|1.6535 - | 2.4374|3.2505 | .563 7/16-14 PS3-8"A/A1-5 1-211-0805 P
D 5 9.9213 11.6140 500 551 PS4-25"A  1-203-2500 TJ-PS4-630 MJ-PS4-630 STJ-PS4-630 W-P-630 8 A1-6 | 21653 2500—— 32500 41880 | 625 3.5827|1.831| 42 1/2-13 3-1/8 3 PS3-8"A/A1-6 1-211-0806 )
0 31-1/2" 125984  12.5984 300 886 PS4-32"A  1-203-3200 TJ-PS4-630 MJ-PS4-800 STJ-PS4-630 W-P-800 A2-5 | 2.9921 41260 - 3.2505 | .563 7/16-14 | 4-1/8 PS3-10"A/A2-5 1-211-1005 v
O **W-SP-Extended Wrenches available from stock. 10" | A1-6 | 2.1635 |2000, - |3.2500|4.1880|.625|4.0748|2.146| 71| 1/2-13 | 3-1/2 6 PS3-10"A/A1-6 1-211-1006 (@)
- -
o See Page 92 A1-8 | 2.9921 - |4.3750|5.5007| .688 5/8-11| 3-1/2 PS3-10"A/AL-8 1-211-1008 o
= | A2-6 | 4.0551 5.2520 - 4.1880 | .630 1/2-13 | 4-3/4 PS3-12"A/A2-6 1-211-1206 -
@) 1212 Al-8 | 3.1496 S 4.3750 | 5.5007 | .688 46338 2362 121 5/8-11 | 4-3/16 3 PS3-12"A/A1-8 1-211-1208 @)
> - " >
. . . A2-6 | 4.0551 5.2520 41880 | .630 1/2-13 5 PS3-16"A/A2-6 1-211-1606
c - c
o 4 ‘]aW ScrOII ChUCkS Wlth TWO Sets Of Hard SOIId ‘]aWS’ Plaln BaCk 15-3/4"| A2-8 | 5.3543 | 1000|6.7480 - 5.5007|.709 | 5.0591| 2.854 | 203| 5/8-11 5 6 PS3-16"A/A2-8 1-211-1608 O
g Al1-11| 5.1181 - 6.5000 | 7.7507 | .750 3/4-10 | 4-1/4 PS3-16"A/A1-11 1-211-1611 (7/;_
e A B e L A P B B AR e
B 1 Setof hard solid ID je}ws 25 A2-15| 9.9213 500 13.000| - 11.251|.813 6.4961 3.622| 628 7/8-9 6 6 PS3-25"AJA2-15 1-211-2515
® 1 Setof hard solid OD jaws *C-C1, depth ofcounterbore.
m 1 Set ofadapter mounting bolts All chucks with A1 mountcan be mounted on Alspindles only.
B 1 Spring loadedchuck T - wrench All chucks with A2 mountcan be mounted on either Al and A2 spindles.
B 2 Hex keys
B Eye boltsfor chucks 10" and larger S P
B 2 piniondesign pare arts
® Lathe Chuck Manual Chuck|Taper HardTop | Hard Master = Soft Top Pinions Scroll Pinion |\ e Chuck Mounting Bolts
Dia. | Size NEWE Jaws NEUTE Plates Screws Thread L |oty. PartNo
6-1/4"| A1-5 | TJ-PS3-160 | MJ-PS3-160 | STJ-PS3-160 | PI-PS-160 | SC-PS-160 | PH-P-160 | W-P-160 | 7/16-14 | 2-3/4 BA-06-05
|A1-5 7/16-14 3 | BA-08-05
Mo Hole . 8 AL-6 TJ-PS3-200 | MJ-PS3-200 | STJ-PS3-200 | PI-PS-200 | SC-PS-200 | PH-P-200 | W-P-200 1/2-13 3-1/8 BA-08-06
uele | Pamissie RMPM ﬁhléckl S”?,-dH?rd gfl{(; JHard SOth Solid | \vrech** A2-5 7/16-14 | 4-1/8 BA-10-05
Enlargements | MaX QU olid Jaws | >ofid Jaws aws 10" | A1-6 | TI-PS3-250 | MJ-PS3-250 | STJ-PS3-250 | PI-PS-250 | SC-PS-250 | PH-P-250 | W-P-250 | 1/2-13 | 3-1/2 BA-10-06
A1-8 5/8-11 | 3-1/2 BA-10-08
4" 0.7874 0.9055 3500 6.2 PS4-4" 1-204-0400 0OJ-PS4-100  13-PS4-100 SJ-PS4-100  W-P-100 A2-6 1/2-13 | 4-3/4 BA-12-06
6-1/4" 1.6535 1.9252 3000 22 PS4-6" 1-204-0600 0OJ-PS4-160  1J-PS4-160 SJ-PS4-160  W-P-200 A2-6 1/2-13 5 6 | BA-16-06
g" 2.1654 2.8189 2500 39 PS4-8" 1-204-0800 0J-PS4-200  13-PS4-200 SJ-PS4-200  W-P-200 15-3/4"| A2-8 | TJ-PS3-400 | MJ-PS3-400 | STJ-PS3-400 | PI-PS-400 | SC-PS-400 | PH-P-400 | W-P-400 | 5/8-11 5 BA-16-08
10" 29921 35827 2000 55  PS4-10" 12041000 OJPS4250 13PSA250  SIPSA250  W-P-315 Al-11 8/4-10 | 4-1/4 BA-16-11
20" |A2-11 TJ-PS3-500 | MJ-PS3-500 | STJ-PS3-500 | PI-PS-500 | SC-PS-500 | PH-P-500 | W-P-500 | 3/4-10 | 5-7/8 BA-20-11
12-1/2" 40551  4.4094 1500 110  PS4-12" 12041200 OJPS4-315 1J-PS4-315  SIPS4-315  W-P-315 A2-11 3/4-10 | 7-3/32 BA-25-11
15-3/4" 53543 57480 1000 187 PS4-16"  1-204-1600 0J-PS4-400  1J-PS4-400  SJ-PS4-400  W-P-400 25" [pp-15 1PS3-630 MI-PS3-630 | STI-PS3-630 | PI-PS-630| SC-PS-630| PH-P-630 | W-P-630 =0 6 BA-25-15
**W-SP-Extended Wrenches available from stock. **W-SP-Extended Wrenches available from stock, See Page 92.
See Page 92

www.gatorchucks.com www.gatorchucks.com




¥ Type D1 Direct Mount Scroll Chucks Type L Direct Mount Scroll Chucks S
= ~~
S (=)
~ . . ~
S 3-Jaw Type D1 Direct Mount Scroll Chucks 3-Jaw Type L Direct Mount Scroll Chucks S
3 : : . : : : 3
S with Two-Piece Hard Reversible Jaws with Two-Piece Hard Reversible Jaws S
= 3
73 n
s ®
TypeD1 TypelL
Each chuck is provided with: 57}_ Each chuck is provided with:
. B 1 Setof hard master jaws
® 1 Setof hard master jaws B 1 Setof hardtop reversible jaws
m 1 Setof hardtop reversible jaws ® 1 Spring loaded chuck T - wrench ofr|o|o|]----- 4o -
B 1 Setof Camlock studs and set screws I B 2 Hex keys
® 1 Spring loadedchuck T - wrench B Eye bolts for chucks 10" and larger
B 2 Hex keys ) rrar— B 3 piniondesign Bk
B Eye bolts for chucks 10" and larger B Lathe Chuck Manual -
H 3 piniondesign C
B |Lathe Chuck Manual —E—H N H h

0 jLY)
(0p) (0p)
(0p) (0p)
(0] (0]
=, =
D (0]
7 w
1 1
0)] 0)]
@ @
= 3
1 1
0)] 0)]
— —
(9] (9]
@ Chuck Taper Hole = MaxHole Chuck Camlock Studs @
= Dia. | Size | Dia.(d)  Enlargement PartNo. | Dia. | Thread Qty/ Chuck Taper Hole m
(@) 5" | D1-4|12598| 1.2598 |3200| 3.2520 | 25005 |.5118|2.7559|1.575| 11 | PS3-5"A/D1-4 1-221-0504 | 5/8 M10x1 Dia.(D) | size Dia.(d) (@]
Q D1-3 2.7795 | 2.1250 PS3-6"A/D1-3 1-221-0603 | 9/16 LOO 3-3/4"-6 | 2-3/4 5512 | 2.1260 4.0551 PS3-6"A/LOO 1-241-0601 Q
6-1/4" 1.9685 | 3000 .5118/3.2087| 1.693 | 20 M10x1 -1/4" . - - - .
é D1-4 16535 3.2520 | 2.5005 PS3-6"A/D1-4 1-221-0604 | 5/8 3 6-1/4 LO 165353000 4-1/2" -6 | 3-1/4 .5906 | 2.5197 | 4.4488 1.693 23 PS3-6"A/LO 1-241-0602 é
S D1-3 | 20275| 2.0275 2.7795 | 2.1250 5118 PS3-8"A/D1-3 1-221-0803 | 9/16 M10x1 LOO 3-3/4"-6 | 2-3/4 5512 | 2.1260 4.3701 PS3-8"A/LOO 1-241-0801 S
E' g D1-4 2.3622 2500 3.2520 | 25005 |’ 35827/ 1831 42 PS3-8"A/D1-4 1-221-0804 | 5/8 8" LO |2.1654 | 2500 4-1/2"-6 3-1/4 .5906 | 2.5197 4.7638 1.831 42 PS3-8"A/LO 1-241-0802 E
D D1-5 21653 2.6378 4.1260 | 3.2505 5629 ' ' PS3-8"A/ID1-5 1-221-0805 | 3/4 M12x1 L1 6" -6 4-1/8 .6299 2.9921 | 5.2362 PS3-8"A/L1 1-241-0803 ()
a D1-6 2.6378 5.2520 | 4.1880 | PS3-8"A/D1-6 1-221-0806 | 7/8 | M16x1.5 LO 4-1/2"-6 | 3-1/4 .5906 | 2.5197 | 5.0394 PS3-10"A/LO 1-241-1002 (7)
QO D1-5 2.9922 41260 | 3.2505 (.5629 PS3-10"A/D1-5 | 1-221-1005 | 3/4 M12x1 10" L1 | 2.9921| 2000 6" -6 4-1/8 .6299 2.9921 | 5.5118 | 2.146 64 PS3-10"A/L1 1-241-1003 QO
wn 10" | D1-6 | 29921, 3.7402 |2000 | 5.2520 | 4.1880 |.6299|4.0748/2.146| 71| PS3-10"A/D1-6 | 1-221-1006 | 7/8 | M16x1.5 L2 7-3/4" -5 | 5-1/4 .8661 | 3.5039 | 6.0236 PS3-10"A/L2 1-241-1004 wn
(@] D1-8 3.7402 6.7480 | 5.5007 |.7087 PS3-10"A/D1-8 | 1-221-1008 1 M20x1.5 LO 4-1/2"-6 | 3-1/4 .5906 | 2.5197 | 5.3937 PS3-12"A/LO 1-241-1202 (@)
8 D1-6 4.0551 5.2520 | 4.1880 |.6299(4.6338 PS3-12"'A/D1-6 | 1-221-1206 | 7/8 | M16x1.5 12-1/2"| L1 | 4.0551| 1500 6" -6 4-1/8 .6299 2.9921 | 5.8661 | 2.362 | 134 PS3-12"A/L1 1-241-1203 8
= 12-1/2"| D1-8 | 4.0551| 4.5276 |1500 | 6.7480 | 5.5007 |.7087|4.6338(2.362(112| PS3-12"A/D1-8 | 1-221-1208 1 M20x1.5 6 L2 7-3/4" -5 | 5-1/4 .8661 | 3.5039 | 6.3780 PS3-12"A/L2 1-241-1204 -
(@) D1-11 4.500 9.2520 | 7.7507 |.7874|5.5118 PS3-12"A/D1-11 | 1-221-1211 | 1-3/16 | M22x1.5 15-3/4" L1 2.0551 | 1000 6" -6 4-1/8 .6299 2.9921 6.1811 2854 | 251 PS3-16"A/L1 1-241-1603 (@)
g D1-6 | 4.0551 4.0551 5.2520 | 4.1880 .6299 PS3-16"A/D1-6 | 1-221-1606 | 7/8 | M16x1.5 ) L2 ' 7-3/4" -5 | 5-1/4 .8661 | 3.5039 | 6.6929 ’ PS3-16"A/L2 1-241-1604 t::T
o 15-3/4"| D1-8 | 5.3543| 5.3543 1000 | 6.7480 | 5.5007 |.7087|5.0591|2.854|223| PS3-16"A/D1-8 | 1-221-1608 1 M20x1.5 o
5 D1-11 5.3543| 5.9055 9.2520 | 7.7507 |.7874 PS3-16"A/D1-11 | 1-221-1611 | 1-3/16 | M22x1.5 (7
20" D1-8 |5.3543| 5.3543 700 6.7480 | 5.5007 |.7087 57480|3602 |331 PS3-20"A/D1-8 | 1-221-2008 1 M20x1.5
D1-11 7.5905| 7.5984 9.2520 | 7.7507 |.7874," ' PS3-20'AD1-11 | 1-221-2011 | 1-3/16 | M22x1.5 Spare Parts
25" |D1-11 7.5905| 7.5984 500 | 9.2520 | 7.7507 |.7874|6.4961 3622 604 PS3-25"A/D1-11 | 1-221-2511 | 1-3/16 | M22x1.5

Pinion
Screws

Scroll
Plates

Hard Master
Jaws

Chuck
Dia.

Soft Top
Jaws

Taper
Size

Hard Top

Wrenchs*
Jaws B

Pinions

Spare Parts

Chuck|Taper HardTop | Hard Master = Soft Top - Scroll Pinion Camlock Studs | camlock . LOO
el Taws Sawe Saws Pinions I Screws | VWrenchs® Thread loyl  Stud 6-1/4 o TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 PI-PS-160 | SC-PS-160 PH-P-160 W-P-160
5" | D1-4 | TJ-PS3-125| MJ-PS3-125 | STJ-PS3-125 | PI-PS-125 | SC-PS-125 | PH-P-125 | W-P-125 | 5/8 | M10x1 CA-D-04 L0O
D1-3 9/16 CA-D-03 8" LO TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 PI-PS-200 | SC-PS-200 PH-P-200 W-P-200
6-1/4" TJ-PS3-160 | MJ-PS3-160 | STJ-PS3-160 | PI-PS-160 | SC-PS-160 | PH-P-160 | W-P-160 M10x1
D1-4 5/8 3 | CA-D-04 L1
D1-3 9/16 CA-D-03 Lo
D1-4 58 | M10x1 CA-D-04 10" L1 TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 PI-PS-250 SC-PS-250 PH-P-250 W-P-250
8" 15| TI-PS3-200 MJ-PS3-200 | STJ-PS3-200 | PI-PS-200| SC-PS-200 | PH-P-200 | W-P-200 oo CAD.0S L2
D1-6 718 | M16x1.5 CA-D-06 Lo
D1-5 3/4 | M12x1 CA-D-05 12-1/2" L1 TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 PI-PS-315 | SC-PS-315 PH-P-315 W-P-315
10" | D1-6 | TI-PS3-250 | MJ-PS3-250 | STJ-PS3-250 | PI-PS-250 | SC-PS-250 | PH-P-250 | W-P-250 | 7/8 | M16x1.5 CA-D-06 L2
D1-8 1 | M20x1.5 CA-D-08 15-3/4" L1 TJ-PS3-400 MJ-PS3-400 STJ-PS3-400 PI-PS-400 | SC-PS-400 PH-P-400 W-P-400
D1-6 7/8 | M16x1.5 CA-D-06 L2
12-1/2" D1-8| TJ-PS3-315| MJ-PS3-315 | STI-PS3-315 | PI-PS-315| SC-PS-315 | PH-P-315 | W-P-315 | 1 |M20x1.5| | CA-D-08 **W-SP-Extended Wrenches available from stock, See Page 92.
D1-11 1-3/16 | M22x1.5 CA-D-011
D1-6 718 | M16x1.5 CA-D-06
15-3/4"| D1-8 | TJ-PS3-400 | MJ-PS3-400 | STJ-PS3-400 | PI-PS-400 | SC-PS-400 | PH-P-400 | W-P-400 | 1 | M20x1.5 CA-D-08
D1-11 1-3/16 | M22x1.5 CA-D-011
. | D1-8 1 | M20x1.5 CA-D-08
20" |57 TI-PS3-500| MJ-PS3-500 | STI-PS3-500 | PI-PS-500 | SC-PS-500 | PH-P-500 | W-P-500 -0 CAD-OLL
25" |D1-11 TJ-PS3-630 | MJ-PS3-630 | STJ-PS3-630 | PI-PS-630 | SC-PS-630 | PH-P-630 | W-P-630 | 1-3/16 | M22x1.5 CA-D-011

**W-SP-Extended Wrenches available from stock, See Page 92.

www.gatorchucks.com www.gatorchucks.com




M SM Series Semi-machined Adapter Plate SM Series Semi-machined Adapter Plate &S
S S
~ ~
(] ]
5 : : : : 5
= Type A1/A2 Semi-machined Adapters Type D1Semi-machined Adapters =
", for PO Series & PS Series chucks for PO Series & PS Serieschucks e
Designed for directmounting on Al &A2 spindle noses, Designed for directmounting on CAMLOCKD1 spindle noses,
Can be usedafter machining forscroll or independentchucks, see page 85 After machining canbe used withscroll or independentchucks, see page 85
Spindle side ofadapter is fullyfinished. Spindle side ofadapter is fullyfinished,
Provided with the set of spindle mounting bolts & hex key. Provided with the set of Camlockstuds, set screws & hex key.
All below listed adapters can bemounted eather onAl orA2 spindlenoses. All adapters are made of steelfor longer life.

All adapters are made of steelfor longer life.

P

IE

U L)
wn n
n 2
1) D
= =
D D
(0] (0]
2 2]
D D
= =}
92 2]
— —
D D
@ @
w w
(@) (@)
o o
< <
- -
2. =.
< <
D D
- -
(0] (0]
= =
2 2
(¢} (¢}
= =
= =
0O 0O
> =
c c
(¢} (¢}
~ ~
n (2}

Spindle Taper A HoIe Wt. Part No.

Ch.uck Ta_per A Hgle F Mounting Bolts Part No. Size Lbs.
QTY . D1-3 500 1024 2.78 2.1250 9/16 3 5.7 SM-125/D3
B AS 6.38 157 157 4.126 32505 716-14 4 144 SM-160/A5 > D1-4 5.00 1.024 15 3.252 2.5005 5/8" 3 55 SM-125/D4
Ad 7.9 0.98 240 3.252 2.5005 716-14 4 145 SM-200/A4 D13 6.38 126 2.03 278 2.1250 9/16" 3 117 SM-160/D3
8 AS 7.9 157 157 4.126 3.2505 7116-14 4 236 SM-200/A5 6-1/4" D1-4 6.38 1.26 2.03 3.252 2.5005 5/8" 3 115 SM-160/D4
AB 7.9 169 217 5252 4.1880 1213 4 237 SM-200/A6 D1-5 6.38 1.38 2.03 4.126 3.2505 3/4" 6 121 SM-160/D5
AS 9.96 157 157 4.126 3.2505 716-14 4 377 SM-250/AS D1-4 7.99 1732 2.40 3.252 25005 5/8" 3 256 SM-200/D4
10° AB 9.96 169 217 5252 4.1880 1213 4 389 SM-250/A6 8" D1-5 7.99 1.97 2.40 4.126 3.2505 3/4" 6 223 SM-200/D5
A8 9.96 197 3.13 6.748 5.5005 5/8-11 4 416 SM-250/A8 D1-6 7.99 1.77 2.40 5.252 4.1880 718" 6 243 SM-200/D6
AB 12.52 169 217 5252 4.1880 1213 4 63.6 SM-315/A6 D15 9.96 1.93 313 4.126 3.2505 3/4" 6 326 SM-250/D5
12-1/2" A8 12.52 2.16 313 6.748 5.5005 5/8-11 4 64.4 SM-315/A8 10" D1-6 996 193 3.13 5.252 4.1880 7/8" 6 345 SM-250/D6
All 12.52 2.56 4.06 9.252 7.7507 3/4-10 6 83.2 SM-315/A11 D1-8 9.96 1.93 3.13 6.748 5.5005 1" 6 40.4 SM-250/D8
A6 15.94 1.69 217 5.252 4.1880 1/2-13 6 105.7 SM-400/A6 D1-6 1252 276 4.06 5.252 4.1880 7/8" 6 66 SM-315/D6
15-3/4" A8 15.94 1.93 3.13 6.748 5.5005 5/8-11 6 116.5 SM-400/A8 12-1/2" D1-8 1252 216 4.06 6.748 5.5005 1" 6 59.3 SM-315/D8
All 1594 2.95 4.06 9.252 7.7507 3/4-10 6 137 SM-400/A11 D1-11 1252 2.16 4.06 9.252 7.7507 1-3/16" 6 68.8 SM-315/D11
A8 19.88 2.01 3.13 6.748 5.5005 5/8-11 6 193 SM-500/A8 D1-6 15.94 165 4.06 5.252 4.1880 7/8" 6 100 SM-400/D6
20" All 19.88 2.68 4.72 9.252 7.7507 3/4-10 6 206 SM-500/A11 15-3/4" D1-8 15.94 276 4.06 6.748 55005 1" 6 116 SM-400/D8
Al5 1988 268 535 13000  11.2509 7189 6 228 SM-500/A15 D1-11 15.94 1.97 4.06 9.252 7.7507 1-3/16" 6 102 SM-400/D11
A8 25.00 2.01 3.13 6.748 5.5005 5/8-11 6 311 SM-630/A8 D1-8 19.88 177 5.36 6.748 5.5007 1" 6 165 SM-500/D8
25" ALl 2500 2.60 4.72 9.252 7.7507 3/4-10 6 391 SM-630/A11 20" D1-11 19.88 2.83 5.36 9.252 7.7507 1-3/116" 6 188 SM-500/D11
Al15 25.00 2.52 7.48 13.000 11.2509 7/8-9 6 350 SM-630/A15 D1-15 19.88 2.36 5.36 13.00 11.2509 1-3/8" 6 173 SM-500/D15
D18 25.00 177 5.36 6.748 5.5007 1" 6 269 SM-630/D8
25" D1-11 25.00 2.83 7.79 9.252 7.7507 1-3/16" 6 278 SM-630/D11
D1-15 25.00 236 7.48 13.00 11.2509 138" 6 270 SM-630/D15

www.gatorchucks.com www.gatorchucks.com




M SM Series Semi-machined Adapter Plate SM Series Semi-machined Adapter Plate &S
S S
~N ~N
] ]
5 : : : : 5
= Type L Semi-machined Adapters Type Threaded Semi-machined Adapters =
e for PO Series & PS Serieschucks for PO Series & PS Serieschucks et
Designed for directmounting on longtaper Lspindle noses, Designed for directmounting on athreaded spindle noses,
Can be usedafter machining forscroll or independentchucks, see page 85 Can be usedafter machining withscroll or independentchucks, see page 85
Spindle side ofadapter is fullyfinished, Spindle side ofadapter is fullyfinished,
All adapters are made of steelfor longer life. All adapters are made of steelfor longer life.

U L)
wn n
n n
1) D
= =
D D
(0] (0]
2 2
D D
= =}
92 92
— —
D D
@ @
w w
(@) (@)
o o
< <
- -
2. =.
< <
D D
- -
(0] (0]
= =
2 2
(¢} (¢}
= =
= =
0O 0O
> =
c c
(¢} (¢}
~ ~
n (2}

Thru
6-1/4" 6.38 LOO 3-3/4-6 2.750 2.20 1.063 2.342 12.7 SM-160/L00 4 1-10 UNS-2B 4.09 1.0150 0.50 2.165 1.535 0.709 4.85 SM-100/T1
6-1/4" 6.38 LO 4-1/2-6 3.250 2.60 1.063 2.736 15 SM-160/L0 1-1/2 -8 UN-2B 4.09 1.5150 0.50 2.68 1.535 0.709 5.29 SM-100/T2
8" 7.99 LOO 3-3/4-6 2.750 2.20 1.083 2.362 19.2 SM-200/L00 1-1/8-12W 5.08 1.2496 0.50 2.165 1.535 0.709 4.05 SM-125/T3
8" 7.99 LO 4-1/2-6 3.250 2.60 1.083 2.756 215 SM-200/L0 5 1-1/2-8 UN-2B 5.08 1.5150 0.50 2.68 1535 0.709 6.61 SM-125/T2
8" 7.99 L1 6-6 4,125 3.35 1.083 2.992 26.5 SM-200/L1 2-3/16 - 10 Hardinge 5.08 2.1889 0.626 311 1.772 0.709 7.05 SM-125/T4
10" 9.96 LOO 3-3/4-6 2.750 2.20 1.338 2.618 352 SM-250/L00 2-1/4 -8 UN-2B 5.08 2.2600 0.626 3.18 1.83 0.709 6.80 SM-125/T5
10" 9.96 LO 4-1/2-6 3.250 2.60 1.338 2.52 355 SM-250/L0 1-1/2-8 UN-2B 6.535 1.5150 0.50 2.68 1.535 0.787 7.05 SM-160/T2
10" 9.96 L1 6-6 4,125 3.35 1.338 3.307 424 SM-250/L1 6-1/4" 2-3/16 - 10 Hardinge 6.535 2.1889 0.50 311 1.85 0.787 7.50 SM-160/T4
12-1/2" 12.52 LO 4-1/2-6 3.250 2.60 1.40 2.64 57.8 SM-315/L0 2-1/4-8 UN-2B 6.535 2.2600 0.626 3.18 1.79 0.787 7.94 SM-160/T5
12-1/2" 12.52 L1 6-6 4.125 3.35 1.40 311 62.7 SM-315/L1 1-1/2 -8 UN-2B 8.11 1.5150 0.50 2.68 1535 0.866 9.92 SM-200/T2
12-1/2" 12.52 L2 7-3/4-5 5.250 4.29 145 3.50 72.8 SM-315/L.2 8" 2-1/4-8 UN-2B 8.11 2.2600 0.626 3.18 1.79 0.866 11.46 SM-200/T5
15-3/4" 15.94 L1 6-6 4.125 3.35 1.50 3.23 103 SM-400/L1 2-3/8-6 UN-2B 8.11 2.3850 0.626 4.33 2.047 0.866 13.89 SM-200/T6
15-3/4" 15.94 L2 7-3/4-5 5.250 4.29 1.50 3.70 113 SM-400/L.2 10" 2-3/8-6 UN-2B 10.08 2.3850 0.626 4.33 2.047 0.984 30 SM-250/T6
15-3/4" 15.94 L3 10-3/8-4 6.500 5.43 1.50 4.18 139 SM-400/L3 12-1/2" 2-3/8-6 UN-2B 12.64 2.3850 0.626 4.33 2.047 1.102 50 SM-315/T6

20" 19.88 L2 7-3/4-5 5.250 4.29 1.50 3.70 167 SM-500/L2

www.gatorchucks.com www.gatorchucks.com




M FM Series Pre-machined Adapter Plate FM Series Pre-machined Adapter Plate S
S S
~N ~N
] ]
Sy - - Sy
= Type A1/A2 Pre-machined Adapters Type D1 Pre-machined Adapters =
et for PO Series & PS Serieschucks for PO Series & PS Serieschucks e
Note: Note:
Skim cut onthe face ofthe adapter flangeand boss isrequired to makea Skim cut onthe face ofthe adapter flangeand boss isrequired to makea
press fit betweenadapter boss (size C) and chuckcounterbore, see page 85 press fit betweenadapter boss (size C) and chuckcounterbore, see page 85
All adapters comewith the setof spindle mountingbolts & hexkey All adapters comewith the Camlock Studs, set screws & hex key.
All below listed adapters can be mounted either on Al or A2 spindlenoses. All adapters are made of steelfor longer life.

All adapters are made of steelfor longer life.

LB

Camlock Stud
Chuck | Taper A c Hole E F G - Wt. Part No.
Dia. Size d m Lbs.

Splndle
Chuck | Taper Hole MountlngBoIts
N S [ b

U L)
wn n
n 2
1) D
= =
D D
(0] (0]
2 2]
D D
= =}
92 2]
— —
D D
@ @
w w
(@) (@)
o o
< <
- -
2. =.
< <
D D
- -
(0] (0]
= =
2 2
(¢} (¢}
= =
= =
0O 0O
> =
c c
(¢} (¢}
~ ~
n (2}

. D13 492 1024 38 203 278 42520 21250 916" 3 52 FM-125/D3

Call 6.30 313 4126 55118 32505  7/16-14 6 65 FM-160/A5 ° D14 492 1024 382 240 3252 42520 25005 58 3 48  FM-125/D4
A4 787 8 6378 240 3252 69201 25005  7/16-14 6 118 FM-200/A4 D13 630 106 5 203 278 55118 21250 916° 3 96 FM-160/D3

e A5 787 8 6378 313 4126 69201 32505 71614 6 n FM-200/A5 6-1/4"  D-4 630 106 5 240 3252 55118 25005 58" 3 91 FM-160/D4
A6 787 8 6378 406 5252 69201 41880  1/2-13 6 9.6 FM-200/A6 DI5 630 118 5 313 4126 55118 32505 34 6 90 EM-160/D5

A5 984 102 79527 313 4126 88189 32505  7/16-14 6 227 FM-250/A5 D4 787 106 6378 240 3252 69291 25005  5/8" 3 152  EM-200/D4

e A6 984 102 79527 406 5252 88189 4.1880 12-13 6 21 FM-250/A6 8" D15 787 118 6378 313 4126 69291 32505 34" 6 155  FM-200D5
ABTN O IT.028 B 95270 I 361 6748 5 [N8.8189 [55005 5/8-11 6 Liae =L D16 787 144 6378 406 5252 69291 41880  7/8" 6 167  FM-200D6

A6 1240 130 10315 406 5252 112598 4.1880 1213 6 45.5 FM-315/A6 D15 98 118 79527 313 4126 88189 32505  3/4" 6 262  FM-250/D5

12-1/2° A8 1240 130 10315 536 6748 112598 55005  5/8-11 6 41 FM-315/A8 10" D16 984 144 79527 406 5252 88189 41880  7/8" 6 204  EM-250ID6
All 1240 138 10315 7.59 9252 112598 7.7507  3/4-10 6 34 FM-315/A11 DI-8 984 154 79527 536 6748 88189 55005  1° 6 267  EM-250/D8

A6 1575 130 1311 406 5252 142519 4.1880 1/2-13 6 fiet TAELORE D16 1240 156 10315 406 5252 112598 41880  7/8" 6 544  FM-315/D6

153/4" A8 1575 130 1311 536 6748 142519 55005  5/8-11 6 726 FM-400/A8 12-1/2* D18 1240 165 10315 536 6748 112598 55005 1" 6 527  EM-315DD8
ALl 1575 130 1311 759 9252 142519 7.7507 3/4-10 6 63.2 FM-400/A11 D111 1240 205 10315 759 9252 112508  7.7507 1-3/16" 6 501  FM-315/D1l

A8 1996 134 166535 536 6748 180314 55005 5/8-11 6 122 FM-500/A8 D16 1575 156 1311 406 5252 142519 41880 78" 6 911  FM-400/D6

20" All 1996 134 16.6535 7.59 9.252 18.0314 7.7507 3/4-10 6 112 FM-500/A11 15-3/4" D1-8 15.75 154 13.11 5.36 6.748 14.2519 5.5005 1" 6 85.8 FM-400/D8
Al5 1996 154 166535 1108 13000 180314 112509  7/8-9 6 103 FM-500/A15 D111 1575 18 1311 759 9252 142519  7.7507 1-3/16" 6 898  FM-400/D11

A8 2480 165 21575 536 6748 230709 55005 5/8-11 6 — FM-630/A8 D18 1969 154 166535 536 6748 180314 55007 1 6 1404  FM-500/D8

25 All 2480 165 21575 759 9252 230709 77507  3/4-10 6 235 FM-630/A11 20" D111 1969 185 166535 759 9252 180314  7.7507 1-316' 6 1555  FM-500/D11
A15 (2480 | 165 | 21,575 | 1108 13000 230709 112509  7/89 6 AL AU AL D1-15 1969 197 166535 1108 1300 180314 112509 138" 6 1328  FM-500/D15

D1-8 248 154 21575 536 6748 230709 55007 1 6 2205  FM-630/D8

25" D111 2480 185 21575 759 9252 230709 77507 136" 6 263  FM-630/D11

D1-15 2480 197 21575 1108 1300 230709 112509 138" 6 247  FM-630/D15

www.gatorchucks.com www.gatorchucks.com




M FM Series Pre-machined Adapter Plate BPD Series Base Plate &
=y )
S S
) : )
= Type L Pre-machined Adapters BPD Base Plate =
et for PO Series & PS Serieschucks for PO Series & PS Series 3 &4 Jaw Plain Back e
Note: Front Mount Scroll Chucks
Skim cut onthe face ofthe adapter flangeand boss isrequired to makea
press fit betweenadapter boss (size C)land chuckcounterbore, see page 85 Designed for usewith 3 &4 jaw scrollfront mount plainback chucks
All adapters are made of steelfor long life. Ideal for useon a CNCor manual rotarytables and indexerswith the 3,4, 6 and8 T-Slots

Base plates are provided with mountingbolts with T-Nuts and hex key.
All base platesare made of steel for longerlife.
Full front mountchuck specification seeon the page 115

7
_
7

U L)
wn n
n n
1) D
= =
D D
(0] (0]
2 2
D D
= =}
92 92
— —
D D
@ @
w w
(@) (@)
o o
< <
- -
2. =.
< <
D D
- -
(0] (0]
= =
2 2
(¢} (¢}
= =
= =
0O 0O
> =
c c
(¢} (¢}
~ ~
n (2}

Part No.
o | pmem | ow | g
6-1/4" 6.30 LOO 3-3/4-6 2.126 0.7283 5 2.20 2.750 5.5118 9.76 FM-160/L00 Bolts Mounting Bolts
6-1/4" 6.30 LO 4-1/2-6 252 0.7283 5 2.60 3.250 5.5118 12.3 FM-160/L0 H'---ﬂ & Pe Part No.
G1 Jaws
8" 7.87 LOO 3-3/4-6 2.126 0.7086  6.378 2.20 2.750 6.9291 13.6 FM-200/L00 . - C Bolts Bolts
8" 7.87 LO 4-1/2-6 2.52 0.7086  6.378 2.60 3.250 6.9291 16.2 FM-200/L0 5 4.921 S e P un ] e 2.205 2.422 1575 BPD-125
g 787 L1 6-6 299 07086 6378 335 2125 6.9291 235 FM-200/L1 6-1/4" 6.299 4921 5512 1.850 0.636 3/8"-16 3 M8 4 2.539 2.756 1.693 BPD-160
10" 9.87 LOO 3-3/4-6 2.126 0.827 7.9527 2.20 2.750 8.8189 22.5 FM-250/L00 8 B N 3 M8 4 2.953 8.150 L1772 BPD-200
10" 087 Lo 41/2-6 259 0827 79527 260 3950 8.8189 24.9 EM-250/L0 10" 9.843 7874 8819 3.189 0.787 1/2"-13 3 M10 4 3.347 3.543 2.087 BPD-250
10" 0.87 L1 6-6 299 0.827 79527 335 2125 8.8189 318 EM-250/L1 12-1/2" 12402 10.236 11.260 4.252 0.984 5/8"-11 3 M10 4 3.701 3.937 2.244 BPD-315
12-1/2" 12.40 Lo 21/2-6 252 1102 10315 260 3.950 11.2598 461 FM-315/L0 15-3/4" 15.748 12992 14252 5551 1.063 5/8"-11 3 M12 4 4.134 4.331 2.693 BPD-400
i |20 11 6-6 299 1102 10315 335 4125 11.2508 519 FM-3151.1 20" 19685 16535 18.031 7.677 1.181 3/4"-10 3 M16 4 4,527 4.685 3.150 BPD-500
12-1/2" 12.40 L2 7-3/4-5 3.504 1.102 10.315 4.29 5.250 11.2598 63.5 FM-315/L.2
15-3/4" 15.83 L1 6-6 2.99 1.102 13.11 3.35 4.125 14.2519 79 FM-400/L1
15-3/4" 15.83 L2 7-3/4-5 3.504 1.102 13.11 4.29 5.250 14.2519 90 FM-400/L.2 .H.n- ]‘L’[
15-3/4" 15.83 L3 10-3/8-4 3.937 1.102 13.11 5.43 6.500 14.2519 118 FM-400/L3 M1
20" 19.80 L2 7-3/4-5 3.504 1142 166535 429  5.250 18.0314 133 FM-500/L.2 /] w
5" M6 3150 .5118 .1969 .3543 .5118 “ﬂ/ -
6-1/4" M8 3937 5906  .2362 4724 .5906
8" M8 .3937 5906 .2362  .4724 .5906 A
10" M10 4724 7087 2756  .5512 .7087
12-1/2" M10 4724 7087 2756 .5512 .7087 4’ a)
15-3/4" M12 5512 .8661 .3150 .6299 .8661 |— ‘|
20" M16 .7087 1.1024 .3937 .7874 1.1024 OT

www.gatorchucks.com www.gatorchucks.com




Adapter Plate Installation Recommendations Jaws - Hard Top Jaws

For SM & FM Adapter Plate
Note: All Gator Adapter Plates are made of steel. Hard TOp Jaws, For 3-Jaw Chucks

Vayini A

Syanya Jojes
Syanya Jojes

Va4iniAg

()
()

e American Standard Tongue & Groove Jaws
e Hardened & Ground

® Sold in sets

® Jaw clamping rangessee on page4

L~ "5
T N
=z
o 1171 =% o|w|w| o =
w M_M_R 17 ©
i [ T s 2
UJ} [ — — i )Ly
al{—<{ Lo -JR- G| _H
I A 5" to 12-1/2" 15-3/4" & up

bia. --...n....nnn-
i Di
SM & FMAdapter mounting Chuck mounting dimension s Lbs

dimensions after machining

U L)
wn n
n 2
1) D
= =
D D
(0] (0]
2 2]
D D
= =}
92 2]
— —
D D
@ @
w w
(@) (@)
o o
< <
- -
2. =.
< <
D D
- -
(0] (0]
= =
2 2
(¢} (¢}
= =
= =
0O 0O
> =
c c
(¢} (¢}
~ ~
n (2}

5/8 57/64 4996 3129 .157 .126 315 1516 .866 2.205 .571 1.38 0.93 TJ-PS3-125
Required Counter bore 6-1/4" 3/4 1-1/8 499% .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS3-160
BOS;D'a- D|I4a7E 8" 7/8 1-3/8 4996 .43 .71 3129 .157 .126 413 1.772 1.181 3.347 .984 2.09 2.10 TJ-PS3-200
py— pym— 10" 1-1/16 1-9/16 749% .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS3-250
4" 2'7560 3.2677 0.0984 3.9370 2'7559 3.2677 0.1181 3.9370 12-1/2" 1-1/4 1-7/8 749 .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 5.10 TJ-PS3-315
3'7411 3'7415 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS3-400
5 : 4.2520 0.1378 4.9213 : 4.2520 0.1575 4.9213 20" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 .787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS3-500
3.7403 3.7402 25'%32" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630
6-1/4" 4.9224 5.5118 0.1378 6.2992 4.9228 55118 0.1575 6.2992 40€50" 1-1/2 2-1/4 7496 .87 1.3 5004 .157 .248 984 4.331 3.346 8.268 1.99 3.33 66.0 TJ-PS3-1000
4.9214 4.9213
6.3003 6.3008
g" 6.9291 0.1378 7.8740 6.9291 0.1575 7.8740 .
6.2003 6,209 Hard Top Jaws, For 4-Jaw Chucks
10" 7.8753 8.8189 0.1772 9.8425 7.8758 8.8189 0.1969 9.8425 e American Standard Tongue & Groove Jaws
7.8742 7.8740 e Hardened & Ground
® Sold in sets
12-1/2" 102376 11.2598 0.1772 12.4016 10.2383 11.2598 0.1969 12.4016 e Jaw clamping rangessee on page 4
10.2364 10.2362
15-3/4" 12.9937 14.2519 0.1772 15.7480 12.9944 14.2519 0.1969 15.7480 P
12.9923 12.9921 2
2
20" 16.5372 18.0314 0.1772 19.6850 16.5379 18.0314 0.1969 19.6850 =
16.5356 16.5354 MM R By 0
I T }
25" 21.4584 23.0709 0.2362 24.8031 21.4594 23.0709 0.2756 24.8031 ! ! W Ty
21.4577 21.4567 o< o 2 6 TH
— A 5" to 12-1/2" 15-3/4" & up

1/ Before adapterinstallation using dialindicator verify spindlenose radial &face run outs.
Go to page 44 to verifyspindle nose accuracyrequirements.

3/ For Camlock mount besure that all Camlock studs andset screws are mounted correctly. — Lbs.

4/ After selecting suitable back plate, mountit onto the lathe spindle nose. S | S0 | SiEn] e ey AN | i |2 S0l | R [ (e IalRealales
5/ p dapter installation i . tant in ordert tricity bet th 6-1/4" 3/4 1-1/8 499% .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS4-160
roper adapterinstallation is veryimportant in orderto secure concentricity between the - ) s
lathe's spindle nose and the chuck. 8 7/18 1-3/8 4996 .43 .71 3129 .157 .126 413 1772 1181 3.347 .984 2.09 2.10 TJ-PS4-200

He chuck _ < finish . | h o 10" 1-1/16 1-9/16 7496 .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS4-250
6/ The chuck counterbore diameter is finished by manufacturer to H7 Class, with depth, C. 12-1/2" 1-1/4 1-7/8 74% .55 .78 5004 .157 .126 689 2283 1654 4.252 1.22 3.01 510  TJ-PS4-315
7/ Prior tomachining the adapter,accurately measure thechuck's counterbore diameter, E and 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS4-400

depth, C. 20" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 .787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS4-500
8/ A good press fit, H7/k6, is mostdesirable. See chartabove. 25'%32" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS4-630
9/ Toinsure verygood chuck concentricity, itis importantthat this procedure isdone accurately. 40'850" 1-1/2 2-1/4 749 .87 1.3 5004 .157 .248 .984 4.331 3.346 8.268 1.99 3.33  66.0 TJ-PS4-1000

10/ After theinstallation check chuckface & radial run outs andusing a precisionground stock
mount it ina chuck jawsand check itsradial run out. See page 70

www.gatorchucks.com www.gatorchucks.com




8 Jaws- Hard Master Jaws Jaws- Soft Top Jaws &S
~ —
S S
S S
S S
S Hard Master Jaws, For 3-Jaw Chucks Soft Top Jaws, For 3-Jaw & 4-Jaw Chucks S
hh@ e American Standard Tongue & Groove Jaws ) hh@
e Sold in sets e American Standard Tongue & Groove Jaws
E e Sold by piece
. : - - s I (u)
. oEHj%(Em ' el w 1=
K K K K K K K K K I’L"L‘I A

Eodoflosbog Bodols = S
i fﬁ - fﬁ e 30+ Lol c Lol e o lnl o Lo ]

" 257t0 32" Diameter 20" Diameter % 12"to 16" Diameter  ® 5"t0 10" Diameter 2520 0866 1520 .3129 05910 1-U/4 500 1000 .1260 .283 5/16-18 0.66  STJ-PS1-125

Chuck OAL Thread Wt. Part No. 6-1/4"  3.071 1.000 1634 .3129 0838 1-1/2 500 1339 .1260 .283 3/8-16 1.01 STJ-PS1-160
Dia. Lbs 8" 3.543 1.063 1.713 .3129 09488 1-3/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS1-200

5" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-18 0.93 MJ-PS3-125 10" 4.173 1.280 2.028 .5000 1.0827 2-1/8 .750 1.772 .1260 .283 1/2-13 2.54 STJ-PS1-250
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS3-160 12-1/2" 4.724 1.575 2.165 .5000 12087 21/2 .750 2.087 .2480 .283 1/2-13 3.53 STJ-PS1-315
8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS3-200 15-3/4" 5.512 1.654 2539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS1-400
10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS3-250 20" 5.512 1.969 2933 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 5.29 STJ-PS1-500
12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS3-315 25"8&32" 6.299 2047 3288 .5000 1.3543 3 750 2480 .2480 .406 3/4-10 9.26 STJ-PS1-630
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .1260 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS3-400
20" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS3-500
Soft Top Jaws, For 2-Jaw Chucks
25" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS3-630
31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS3-800 e American Standard Tongue & Groove Jaws
40" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 12.593 3/4-10 105 MJ-PS3-1000 e Sold by piece
50" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 14.448 3/4-10 116 MJ-PS3-1250
F E O
| 1T
e i ! 1 p—— 1.
u — G H f—
Hard Master Jaws, For 4-Jaw Chucks Hj#kﬁ ra—

U L)
wn n
n 2
1) D
= =
D D
(0] (0]
2 2]
D (1)
= =}
92 2]
— —
D D
@ @
w w
(@) (@)
o o
< <
- -
2. =.
< <
D (1)
- -
(0] (0]
= =
2 2
(¢} (¢}
= =
= =
0O 0O
> =
c c
(¢} (¢}
~ ~
n (2}

e American Standard Tongue & Groove Jaws
® Sold in sets Chuck BOltSIZe Wit. Part No.
F Dia. Lbs.
()]

lnj: 6-1/4" 3.071 1575 1634 .3129 08386 11/2 500 1339 .1260 .283 114 3/8-16 1.35 STJ-PS2-160
E m 8" 3543 1575 1713 .3129 09488 1:3/4 500 1575 .1260 283 122 3/8-16 1.85 STJ-PS2-200
o 10" 4.173 1850 2028 .5000 10827 2-1/8 750 1772 .1260 283 150 1/2-13 3.00 STJ-PS2-250
B 12-1/2" 4.724 2,047 2165 .5000 12087 21/2 .750 2087 .2480 .283 157 1/2-13 4.00 STJ-PS2-315
S A I | T T A — e 15-3/4" 5.512 2,047 2539 .5000 13543 3 750 2480 .2480 406 179 5/8-11 5.50 STJ-PS2-400
BOEQMoROR05 B9E0RY B059) Eatss
— 1 M
T el Sl — Hard Master Jaws, For 2-Jaw Chucks
® 25" to 32" Diameter B 20" Diameter m 12"to 16" Diameter ~ ® 5"to 10" Diameter * American Standard Tongue & Groove Jaws

® Sold in sets

F
Chuck OAL Thread Wit. Part No. * Kk KK
Dia. Lbs. - PRt KKy

3" 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-18 0.93 MJ-PS4-125 - — E¢E¢ *E%E jJ;E}
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS4-160 [ W el H
G H A
8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS4-200 B )

10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS4-250 ® 12"to 16" Diameter ® 5"to 10" Diameter

12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS4-315 Chuck OAL Thread Wi. Part N
ar 0. J
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS4-400 Dia. Lbs.

20"  1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS4-500 6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS2-160
25"  1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS4-630 8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS2-200
31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS4-800 10"  1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS2-250
40" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 12.593 3/4-10 105 MJ-PS4-1000 12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJI-PS2-315
50"  1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 14.448 3/4-10 116 MJ-PS4-1250 15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS2-400

www.gatorchucks.com www.gatorchucks.com




S Jaws - 1D Jaws Jaws - OD Jaws o
2 2y
S S
S S
S S
] . . L~
S ID Hard Solid Jaws, For 3-Jaw Chucks OD Hard Solid Jaws, For 3-Jaw Chucks S
2w e
@ e Sold in sets e Sold in sets @
;o) P P U
" -—-|0 o) "
wm (0))
10 S 10
= szl szl =,
i c c 5
1 :I (W :I [W 1
(V)] S L (V)]
® L B L B ®
= =
1 1
\ \
= Chuck Wt./pc.|  bort No. Chuck Wt/pe. | part No. o
— Dia. Lbs. Dia. Lbs. —
o o
o 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 0J-PS3-100 1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 1J-PS3-100 o
% 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 0J-PS3-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS3-125 ,3-
C 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS3-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 1J-PS3-160 C
E_ 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS3-200 8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 1J-PS3-200 E
é 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS3-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS3-250 ('<D
a 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 0J-PS3-315 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 .7087 3.268 1.358 2.90 1J-PS3-315 (‘/‘;
Q_J 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 0J-PS3-400 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 1J-PS3-400 Q_J
wn 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS3-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS3-500 wn
2 2
o o
o ID Hard Solid Jaws, For 4-Jaw Chucks OD Hard Solid Jaws, For 4-Jaw Chucks o
> o
c ; : [
o e Sold in sets e Sold in sets o
~ ~
wn wn
P P
O 0
3zl | :EL
szl szl
C C
=W 7 [
L LL
L B L B
Chuck Wt. /pc Chuck Wt. /pc
1.2598 1.6535 .5906 .2362 2362 .2756 1.063 0J-PS4-100 1.2598 1.6535 .5906 .2362 2362 .2756 1.063 1J-PS4-100
5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 0J-PS4-125 5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 512 .40 1J-PS4-125
6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS4-160 6-1/4" 2.0866 2.7559 7874 .3150 .3150 .3937 1.772 748 .80 1J-PS4-160
8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS4-200 8" 2.1260 3.3459 .9843 .3543 .3937 4724 2.244 .906 1.07 1J-PS4-200
10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS4-250 10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 1J-PS4-250
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 0J-PS4-315 12-1/2" 2.9528 4.9213 1.2598 .5000 4724 7087 3.268 1.358 2.90 1J-PS4-315
15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 0J-PS4-400 15-3/4" 3.6220 5.7087 1.4173 .5906 5512 .8661 3.898 1.417 5.20 1J-PS4-400
20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS4-500 20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 1J-PS4-500

www.gatorchucks.com www.gatorchucks.com




¥ Jaws- Soft Solid Jaws Spare Parts &S
S S
S S
Sy - . . Sy
S Soft Solid Jaws, For 3 Jaw-Chucks Scroll Plates Pinions Pinion Screws =
~tn e Sold by piece e Sold by piece OAL e Sold by piece =t
@ e Sold in sets @
oD
T T
(0)] (0)]
EIE S
@ o SC-PS-080 2.1575 PI-PS-080  .7480 1.03 3" PH-P-080 @
. 7 [m 4" SC-PS-100 2.7323 4" PI-PS-100  .9843 1.40 4" PH-P-100 .
% Ll UuuuUuLIILT 5"  SC-PS-125 3.7008 5" PI-PS-125  .9843 1.63 5" PH-P-125 %
= B L 6-1/4" SC-PS-160 4.8819 6-1/4" PI-PS-160  1.1024 1.87 6-1/4" PH-P-160 =
T 8"  SC-PS-200 6.2598 8"  PI-PS-200  1.1811 2.30 8" PH-P-200 T
2 10"  SC-PS-250 7.7953 10"  PI-PS-250  1.3583 2.72 10" PH-P-250 e
2 --n-- 12-1/2" SC-PS-315 101575  12-1/2" PI-PS-315  1.4764 3.60 12-1/2" PH-P-315 L
5 RICE Lbs. 15-3/4" SC-PS-400 12.9134 15-3/4" PI-PS-400  1.7323 4.41 15-3/4" PH-P-400 5
o 1.2598 1.6535 -5906 -2362 -2362 SJ-PS3-100 20"  SC-PS-500 16.4173 20"  PI-PS-500  1.9685 5.3 20" PH-P-500 o
= 5" 1.5748 2.0079 7874 -3150 -3150 40 SJ-PS3-125 25"  SC-PS-630 21.3386 25"  PI-PS-630  2.0472 5.87 2o PH-P-630 =
C 6-1/4" 2.0866 2.7559 1874 -3150 -3150 -80 SJ-PS3-160 31-1/2" SC-PS-800 27.4106 31-1/2" PI-PS-800  2.0472 8.07 31-1/2" PH-P-800 C
=) 8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS3-200 ] =3
< 10" 2.4803 4.1339 1.1024  .4331 4724 1.73 SJ-PS3-250 Jaw Mounti ng Bolts Chuck Mounting <
- 12-1/2"  2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS3-315 e Sold by piece Bolts a
O 15-3/4"  3.6220 5.7087 1.4173 .5906 5512 5.20 SJ-PS3-400 e Sold by piece o
v 20" 3.9370 7.0866 1.5748 .6299 5512 7.33 SJ-PS3-500 @ﬁ 0
(@) (@)
- =
% - o %
o Soft Solid Jaws, For 4-Jaw Chucks Bolts No. 1 Bolts No 2 - Size o
= Thread Long 3"  MB-BS-080 M6x1 =
= e Sold in sets Size . PartNo. | L | 4" MB-BS-100 M8x1.25 5
73 5" 5/16-18 MT-J1-5 0.79 MT-J2-5 1.00 5"  MB-BS-125 M8x1.25 73
6-1/4"  3/8-16 MT-J1-6 0.79 MT-J2-6 1.18 6-1/4" MB-BS-160 M10x 1.5
8" 3/8-16 MT-J1-6 0.79 MT-J2-6 1.18 8"  MB-BS-200 M10x1.5
10" 1/2-13 MT-J1-10 1.00 MT-J2-10 1.57 10" MB-BS-250 M12x1.75
12-1/2"  1/2-13 MT-J1-10 1.00 MT-J2-10 1.57 12-1/2" MB-BS-315  M16x 2
o 15-3/4"  5/8-11 MT-J1-16 1.00 MT-J2-16 1.57 15-3/4" MB-BS-400 M16x 2
20" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 20"  MB-BS-500 M16x 2
J | = 25" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 25"  MB-BS-630 M16x 2
B L 31-1/2"  3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 31-1/2" MB-BS-800 1"-8

Wrenches (Standard & Extended)

y e Sold by piece
Dia. Size Part No. Part No.

1.2598 1.6535 .5906 .2362 .2362 SJ-PS6-100 3" 2344 236 W-P-080

5" 1.5748 2.0079 .7874 .3150 .3150 .40 SJ-PS6-125 4" 3543 3.15 W-P-100 - -

6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .80 SJ-PS6-160 5" 3543 3.15 W-P-125 R i
8" 2.1260 3.3459 .9843 .3543 .3937 1.07 SJ-PS6-200 6-1/4" 4331 3.90 W-P-160 7.87 W-SP-160
10" 2.4803 4.1339 1.1024 14331 4724 1.73 SJ-PS6-250 ;\ L 8" 4331 3.90 W-P-200 10.02 W-SP-200
12-1/2" 2.9528 4.9213 1.2598 .5000 4724 2.90 SJ-PS6-315 L 10" 5512 4.78 W-P-250 8.74 W-SP-250
15-3/4"  3.6220 5.7087 1.4173  .5906 5512 5.20 SJ-PS6-400 | e | 295 | e | e | s
20" 3.9370 7.0866 1.5748 .6299 .5512 7.33 SJ-PS6-500 15-3/4" .6693 551 W-P-400 10.75 W-SP-400
Standard Wrench Extended Wrench 20" .7480 9.06 W-P-500 18.11 W-SP-500

25" .7480 9.06 W-P-630 - -

31-1/2" .7480 9.06 W-P-800 = -

www.gatorchucks.com www.gatorchucks.com




ﬁm PI Series 4-Jaw Independent Chucks

\A@ > gatorchucks Medium Duty

BY FUERDA Semi-Steel Body and Cast Steel Body

Va4iniAg

Syanya Jojel

Syanya Jojes

()
()

Medium Duty Independent Chucks
Semi-Steel and Cast Steel Body

Pl Series Gator 4-Jaw cast iron and cast steel body chucks can
be used for machining operations were scroll chucks are used
and forvariety operations where odd shape workpieces have to
be machined. Accurate round workpiece requires the use ofa
dial indicator. High accuracy, high gripping power and durability
make themvery usefulon avariety medium duty turning, milling
or grinding operations. * Pl Chucks are provided with 2-Pc Hard Reversible Jaws or Hard Solid Jaws.

* The jaws are made of high quality alloy steel and hardened.

* Thrust bearings and operating screws are made of case hardened steel.

* Chucks 10"and up are provided with T-slots .

* Plain Back Chucks with large selection of Adapter Plates (A, D-1,L & Threaded)
and Direct (A & D-1) mounts secure a large variety of the Spindle mounting
options.

» High quality cast steel body construction allows for higher lathe speeds.

« All Plchuck adapter plates are made of steel forlong life.

* Chucks 40" & up are cast steel body

Features and Benefits

3 9
0] 0]
(9] (9]
o o
(7] (7]
0] 0]
() (¢}
= S
0)) 0]
~—+ ~—+
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
O O
> >
c [
(@] (@]
~ ~
wn w

www.gatorchucks.com www.gatorchucks.com




Permissible Spindle Runout For Pl Chucks Clamping Ranges

PI Series 4-Jaw Independent Chucks

N\ ™\ N\ B Note:
/1A A *Never exceed chuckgripping ranges.

(/1A : .
L —r» L hﬁ L Chuck Dia. Spindle Runout *Master jaws and operating screws shouldbe in a fullengagement.

[/ 1A
*Select jaws withthe proper jawgripping surfaces tofit your application.
N J 83?(’52 .Oooooolzzll':ae;x. *Always Use properjaws for roughand finishing machining.
J‘ /18 JL /1B J—UJJ 40" - 50" :0004"max: _
U L — e

Vay3ni A

Syanya Jojes

Va4ini A9

Syanya Jojes

()
()

v LY
& S SRERI 11 [ Y SRR T IS CPRRE SEAR-15= 1 I EER 3 1 &
= Chuck Accuracy 1 T =
" - | - @)
1 1
@ oo . @
~[d]x
s L 5
1 ~—r] |—] 1 1
% Dia. D JAWS %
~—+ - - - ~—+
g mm Inch Solid Reversible Solid Reversible Solid Reversible Solid Reversible Solid Reversible g
= 80 3-1/4  .157-153 - .984-2.17 - 1.97-3.15 - .945-2.32 - 1.89-3.15 =
Ro [~[b]x] 100 4 .197-1.575 - 1.38-2.76 - 2.48-3.86 - 1.30-2.83 - 2.40-3.94 Ro
g? 125 5 276-1.97 - 1.77-3.46 - 3.19-4.80 - 1.61-3.46 - 3.03-4.92 8
. n
4 Chuck Size | 3-1/4"| 4" 5° |6-1/4"| 8" | 10" |12-1/2"|15-3/4"| 20" | 25" [31-1/2"| 40" | 50" ey e | Hleaer - 1.97-4.53 - 3.54-5.71 - 1.97-4.69 - 3.58-6.30 —-
2 a | Radial Runout| 0.0008 | 0.0008 | 0.0012 | 0.0012 | 0.0016 | 0.0016 | 0.0020 | 0.0024 | 0.0040 | 0.0040 | 0.0059 | 0.0071 | 0.0071 = 8 e O e e O s O e O I T I 2 IS e s S OIS \
g b | Face Runout | 0.0006 | 0.0006 | 0.0008 | 0.0008 | 0.0010 | 0.0010 | 0.0012 | 0.0012 | 0.0020 | 0.0020 | 0.0024 | 0.0031 | 0.0040 250 10 -394-480 .394-4.41 2.87-7.28 228630 563984 531-945 248709 3586.77 524984  6.61-9.84 g
— ¢ | SolidJaws | 0.0008 | 0.0008 | 0.0008 | 0.0008 | 0.0012 | 0.0012 | 0.0012 | 0.0012 | 0.0020 | 0.0020 | 0.0024 | 0.0031 | 0.0040 315 12-1/2 591575 591547 2.68-7.68 268-7.56 591-10.83 6.22-11.22 4.06-9.25 4.13-8.86 7.20-12.40 7.68-12.40 —
E)D c 2-Pc Jaws - - - - 0.0016 | 0.0016 | 0.0016 | 0.0016 | 0.0024 | 0.0024 | 0.0024 | 0.0031 | 0.0040 400 15-3/4  .787-8.03 .787-7.87 3.46-10.63 2.76-9.84 7.09-14.37 7.01-14.17 4.96-12.13 5.16-11.50 858-15.75 9.41-15.75 g’
o d Solid Jaws [ 0.0008 | 0.0008 | 0.0008 | 0.0008 | 0.0012 | 0.0012 | 0.0012 | 0.0012 | 0.0020 | 0.0020 | 0.0024 | 0.0031 | 0.0040 500 20 1.77-10.43 1.77-11.89 4.65-13.31 4.65-14.76 9.25-17.91 8.66-18.82 6.46-15.12 5.43-15.63 11.02-19.69 9.49-19.69 o
o d | 2-Pclaws - - - - 10.0016 ] 0.0016 | 0.0016 | 0.0016 | 0.0024 | 0.0024 ] 0.0024 | 0.0031 | 0.0040 630 25  197-1437 1.97-17.87 559-17.99 4.80-20.71 10.63-23.03 8.66-24.80 7.32-19.76 5.67-20.67 12.40-24.80 8.90-24.80 =
g_ 800 31-1/2 1.97-19.06 1.97-24.53 559-22.68 5.20-27.75 11.61-28.70 9.06-31.50 8.27-25.39 11.42-27.56 14.37-31.50 15.55-31.50 g_
9) 1000 40 6.69-25.20 6.69-32.87 12.21-30.71 13.19-39.37 19.69-38.19 - 12.99-31.50 - 20.67-39.37 12.99-39.37 ()
-8 ) ) _ ) _ ) 1250 50 6.69-35.43 6.69-47.72 12.21-40.94 13.19-49.21 19.69-48.43 - 13.19-41.34 - 20.87-49.21 12.99-49.21 _g
= Chuck with Hard Solid Reversible Jaws Chuck with Hard Two-Piece Reversible Jaws S
o H o
@ Safe Operating Parameters @
= h h h =
— Conditions: -
(@) |&z=maximum length of workpiece @)
> d=workpiece diameter >
c 10 h=height of theclamping jaw step o =
o workpiece is clampedinto the chuck o
~ 7 jaws without additionalsupport. ~
(@) (@)
Chuck Diameter | 3-1/4" [ 4" | 5" [6-1/4"| 8" [ 10" [12-1/2"[15-3/4"] 20" | 25" [31-1/2"| 40" | 50"
| 1.2xd 1.5xd 1xd
z 4xh
Recommended Maximum Speeds (RPM )
Chuck Size 3-1/4" 4" 5" 6-1/4" 8" 10" |12-1/2"|15-3/4"| 20" 25" |[31-1/2"| 40" 50"
Semi-Steel Body | 4000 | 4000 | 3500 | 3200 | 1800 | 1500 | 1200 800 500 400 300 -
Cast Steel Body - - - - - - - 1100 700 550 450 200 150
1. Chuck Body ; Max. Load Capacity for Supported Workpieces ( Ibs.)
2. Operating Screw
1. Chuck Body 3. Thrust Bearing . Chuck Size | 3-1/4"| 4" 5" | 6-1/4"| 8" 10" [12-1/2"|15-3/4"| 20" 25" |31-1/2"| 40" 50"
2. Operating Screw 4. SetScrew ~ Semi-Steel Body | 33 110 | 330 | 550 | 1320 | 2200 | 3300 | 6600 | 9900 | 14300 | 18700 | -
3. ThrustBearing : 5. Hard Master Jaws s o« " Cast Steel Body - - - - - - - 8600 | 12900 | 18600 | 24300 | 32900 | 37600
4. Set SCFGYV ) 6. Hard TOp Jaws_ 6 Note: Max. load capacity is rated per one Plchuck. Max. load capacity has beencalculated for symmetricalworkpiece SUPPORDED withthe live center,
5. Hard Solid Reversible Jaws 7 & 8.Jaw Mou nt|ng Bolts steady rest orbeing gripped intwo chucks. Forthe odd shapeworkpieces the RPMshould be reducedsignificantly.
6. Chuck MountingBolts 9. Chuck MountingBolts Recommended Torqueson aChuck Wrench
7. Chuck Wrench 10. Chuck Wrench
8. T-Slot Screw 11.T-Slot Screw Chuck Size | 3-1/4"| 4" 5" | 6-1/4"| 8" 10" |12-1/2"|15-3/4"| 20" 25" |[31-1/2"| 40" 50"
Nm 25 30 50 70 100 150 180 280 350 400 450 550 600
Io.ft. 18.5 22.2 37 52 74 111 133 207 258 295 332 406 443

www.gatorchucks.com www.gatorchucks.com




¥ 4-Jaw Independent Chucks, Plain Back 4-Jaw Independent Chucks, Plain Back &=
—~ )
=8 Solid Reversible Jaws Two Piece Hard Reversible Jaws =
= =
] - - ]
E Semi-Steel Body 3" to 32" Semi-Steel Body 3" to 32" E
= =
A Cast-Steel Body 40" to 50" Cast-Steel Body 40" to 50" A
Chuck with solid jaw provided with: Chuck with solid jaw provided with:
o B 1 Setof hard solid reversible jaws H 1 Setof hardtop jaws nv)
o B 1 Set adaptermounting bolts B 1 Setof hard master jaws —
g ® 1 Spring loadedchuck T- wrench H 1 Set adaptermounting bolts %
= B 1 Hex keys B 1 Spring loaded chuck T- wrench —
o B Eye boltsfor chucks 10" and larger B 1 Hex keys o
%2 m 10" chucks & larger have T-Slot B Eye boltsfor chucks 10" and larger 2
! B |athe Chuck Manual B 10" chucks & larger have T-Slot !
w B | athe Chuck Manual Y
D D
3 =
1 1
9 H H2 H H2 9
D M L H H2 L _H H2 don H H2 don D
o] ) n h : L ‘ o]
Ro = Ro
Q) @)
Y i )
z | | | o
o o
al bl w o — Ol bl Ww|o — QL wo —_—
0 > F F o
M | HA LA M
v 2 2 M 2 M =
W = = w
= S — S : - — — S
< <
g- 3"1 4II’ 5II 6II1 8ll, 32"’40", 50" 10", 12"1 16”,20"1 25" 8”, 32"140"’ 50" 10", 12", 16"’20”, 25" g-
D D
S [ Chuck Hole(d) 1 M e Solid Jaws Hote(d) | Hole o . M |wt | Two-Piece Jaws =~
2 Qbia.(b) Lbs.|  Model Part No . Dia.( Enlargement Lbs.| Model | Part No. =
D 3-1/4" 2.165 1.654 0.138 P14-3" 1-302-0300 8" 3.740 0.236 M10 4 P14-8"A  1-301-0800 D
2 4" 2.835 3.307 0.984 2.126 3.031 0.157 M8 4 Pl4-4" 1-302-0400 10" 5.906 4.126 2.559 2.653 3.347 2.3780 0.276 M12 4 Pl4-10"A 1-301-1000 3
'®) 5" 3.740 4.252 1.181 2.205 3.071 0.177 M8 4 11 Pl14-5" 1-302-0500 12-1/2" 6.890 5.252 3.150 3.858 3.740 2.3980 0.276 M16 4 86 Pl4-12"A 1-301-1200 0
= 6-1/4" 2.559 3.740 1.772 2.559 3.799 0.196 M10 4 16 Pl4-6" 1-302-0600 15-3/4" 7.874 6.748 3.937 4.621 4.134 2.8465 0.394 M16 4 134 PI4-16"A 1-301-1600 =
c 8" 2.953 3.740 2.205 2.953 4.331 0.236 M10 4 22 P14-8" 1-302-0800 20" 10.630 9.252 4.921 6.266 4.724 3.5551 0.472 M20 4 231 Pl4-20"A 1-301-2000 c
% 10" 5.906 4.126 2.559 3.347 4.700 0.276 M12 4 55) P14-10" 1-302-1000 25" 10.630 9.252 6.299 7.087 5.512 3.8504 0.472 M20 4 359 PI4-25"A 1-301-2500 ';
wn 12-1/2" 6.890 5.252 3.150 3.740 5.701 0.276 M16 4 86 P14-12" 1-302-1200 32" 9.843 11.811 8.268 - 5.709 3.6929 0.472 M20 8 703 Pl4-32"A 1-301-3200 wn
15-3/4" 7.874 6.748 3.937 4.134 6.095 0.394 M16 4 134 P14-16" 1-302-1600 40" * 12,598 14.567 10.236 = 5.906 4.6850 0.591 M20 8 816 PI4-40"A 1-301-4000
20" 10.630 9.252 4.921 4.724 7.070 0.472 M20 4 231 P14-20" 1-302-2000 50"* 15.748 19.685 7.087 = 6.496 4.6850 0.591 M20 8 1543 PI4-50"A 1-301-5000
25" 10.630 9.252 6.299 5.512 7.866 0.472 M20 4 359 P14-25" 1-302-2500 * Cast steel body
32" 9.843 11.811 8.268 5.709 8.268 0.472 M20 8 703 P14-32" 1-302-3200
40" * 12.598 14.567 10.236 5.906 9.488 0.591 M20 8 816 P14-40" 1-302-4000 S are Parts
50" * 15.748 19.685 7.087 6.496 10.074 0.591 M20 8 1543 P14-50" 1-302-5000 p

* Cast steel body Chuck| Hard Solid Hard Master | O
perating Thrust
Spare Parts Dia. (D) Reversible Jaw | Hard Top Jaw | Soft Top Jaw A e Behring Wrench
Chuck | Hard Solid T = — Thrust RJ-PI-200  TJ-PI-200  STJ-PI-200  MJ-PI-200  OS-PI-200  TB-PI-200  W-PI-250
Dia.(D)| Reversible Jaw | Hard Top Jaw| Soft Top Jaw Jaw Screw Bearing Wrench 10 RJ-PI-250  TJ-PI-250  STJ-PI-250  MJ-PI-250  OS-PI-250  TB-PI-250  W-PI-250
12-1/2"  RJ-PI-315  TJ-PI-315  STJ-PI-315  MJ-PI-315  OS-PI-315  TB-PI-315  W-PI-400

SREET RYEI2050 O PP HUSY | Ve O MNREE(RHEY 15-3/4"  RJ-PI-400 TJ-PI-400  STJ-PI-400  MJ-PI-400  OS-PI-400  TB-PI-400 W-PI1-400
=i e RIS - - - O P g | viE Pl 00 P 0 20" RJ-P1-500 TJ-PI-500  STJ-PI-500  MJ-PI-500  OS-PI-500  TB-PI-500 W-P1-630
3 Rk 2 - - - O dpizs | TBPAs | bGPl 25" RJ-PI-630 TJ-PI-630  STJ-PI-630  MJ-PI-630  OS-PI-630  TB-PI-630  W-PI-630
6-1/4" RJ-PI-160 - - - 0S-PI-160  TB-PI-160  W-PI-160 -
/ Lo e — L 200 o 32 RJ-PI-800 TJ-PI-800  STJ-PI-800  MJ-PI-800  OS-PI-800  TB-PI-800  W-PI-800
Gl i U e =l = A ahl sl e MNERI=2S 40"*  RJ-PI-1000  TJ-PI-1000  STJ-PI-1000 MJ-PI-1000  OS-PI-1000  TB-PI-1000  W-PI-1000
o RHFI 250 ULplbZey | odee 2sl | widbPlesl | ©5 2 ae | Ve Rl 250 Pl 250 50"*  RJ-PI-1250  TJ-PI-1250 STJ-PI-1250 MJ-PI-1250 OS-PI-1250  TB-PI-1250  W-PI-1250
12-1/2"  RJ-PI-315 TJ-PI-315  STJ-PI-315  MJ-PI-315  OS-PI-315  TB-PI-315  W-PI-400 )
15-3/4" RJ-PI-400 TJ-PI-400 STJ-PI-400  MJ-PI-400 0S-PI-400 TB-PI-400 W-PI-400 Cast steel body
20" RJ-PI-500 TJ-PI-500  STJ-PI-500  MJ-PI-500  OS-PI-500  TB-PI-500  W-PI-630
25" RJ-PI-630 TJ-PI-630  STJ-PI-630  MJ-PI-630  OS-PI-630  TB-PI-630  W-PI-630
32" RJ-PI-800 TJ-PI-800  STJ-PI-800  MJ-PI-800  OS-PI-800  TB-PI-800  W-PI-800

40" * RJ-P1-1000 TJ-P1-1000 STJ-PI-1000 MJ-PI-1000 0OS-PI1-1000 TB-P1-1000 W-P1-1000
50" * RJ-PI-1250 TJ-P1-1250 STJ-PI-1250 MJ-PI-1250 0S-PI1-1250 TB-PI-1250 W-PI-1250
* Cast steel body

www.gatorchucks.com www.gatorchucks.com




M 4-Jaw Independent Chucks, Type AL/A2 4-Jaw Independent Chucks, Type A1J/A2 B3
) - - - - S
s Solid Reversible Jaws Two Piece Hard Reversible Jaws s
E Semi-Steel Body 3" to 32" Semi-Steel Body 3" to 32" E
A Cast-Steel Body 40" to 50" Cast-Steel Body 40" to 50" A
Chuck with solid jaw provided with: Chuck with solid jaw provided with:
B 1 Setof hard solid reversible jaws H 1 Setof hardtop jaws
B 1 Set chuckmounting bolts B 1 Setof hard master jaws
® 1 Spring loadedchuck T- wrench H ] Set adaptermounting bolts
m 1 Hex keys m 1 Spring loadedchuck T- wrench
B Eye bolts for chucks 10" and larger B 1 Hex keys
B 10" chucks & larger have T-Slot B Eye boltsfor chucks 10" and larger
B [athe Chuck Manual B 10" chucks & larger have T-Slot
B | athe Chuck Manual

3 9
0] 0]
(9] (9]
=. =.
() ()
(7] (7]
0] 0]
() (¢}
= S
0] 0]
—_ —
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
@) @)
> >
c [
(@] (@]
~ ~
[7)] (7]

TypeA TypeA
LELR Taper
H1 Model Part No. H2 Model Part No.
- ..n...- . e ..n...- o
8" A2-5 3.251 4.125 2.205 4.331 2.953 0.512 7/16"-14 3-1/8 38 P14-8"/A2-5 1-312-0805 A2-5 3.251 4.125 2.205 1.8268 2.953 0.512 7/16"-14 3-1/8 38 P14-8"A/A2-5 1-311-0805
A2-5 3.251 4.125 0.512 7/16"-14 3-1/8 4 P14-10"/A2-5 1-312-1005 A2-5 3.251 4.125 0.512 7/16"-14 3-1/8 4 P14-10"A/A2-5 1-311-1005
10" A2-6 4.188 5.250 2.559 4.700 3.347 0.591 1/2"-13 3-1/8 4 55) Pl14-10"/A2-6 1-312-1006 10" A2-6 4.188 5.250 2.559 2.3780 3.347 0.591 1/2"-13 3-1/8 4 55 PIl4-10"A/A2-6 1-311-1006
A2-8 5.501 6.750 0.709 5/8"-11 3-3/8 4 Pl4-10"/A2-8 1-312-1008 A2-8 5.501 6.750 0.709 5/8"-11 3-3/8 4 Pl4-10"A/A2-8 1-311-1008
A2-5 3.251 4.125 3.091 0.512 7/16"-14 3-1/2 4 P14-12"/A2-5 1-312-1205 A2-5 3.251 4.125 3.091 0.512 7/16"-14 3-1/2 4 P14-12"A/A2-5 1-311-1205
12-1/2" A2-6 4.188 5.250 3.150 5.701 3.740 0.591 1/2"-13 3-1/2 4 86 Pl4-12"/A2-6 1-312-1206 12-1/2" A2-6 4.188 5.250 3.150 2.3980 3.740 0.591 1/2"-13 3-1/2 4 86 Pl4-12"A/A2-6 1-311-1206
A2-8 5.501 6.750 0.709 5/8"-11  3-1/4 4 P14-12"/A2-8 1-312-1208 A2-8 5,501 6.750 ' 0.709 5/8"-11  3-1/4 4 P14-12"A/A2-8 1-311-1208
A2-6 4.188 5.250 0.591 1/2"-13 4 Pl4-16"/A2-6 1-312-1606 A2-6 4.188 5.250 0.591 1/2"-13 4 Pl4-16"A/A2-6 1-311-1606
15-3/4" A2-8 5.501 6.750 3.937 6.095 4.134 0.709 5/8"-11 4 4 140 Pl4-16"/A2-8 1-312-1608 15-3/4" A2-8 5.501 6.750 3.937 2.8465 4.134 0.709 5/8"-11 4 4 140 Pl4-16"A/A2-8 1-311-1608
A2-11 7.751 9.252 0.787 3/4"-10 4 Pl14-16"/A2-11 1-312-1611 A2-11 7.751 9.252 0.787 3/4"-10 4 P14-16"A/A2-11 1-311-1611
" A2-8 5.501 6.750 0.709 5/8"-11 4 P14-20"/A2-8 1-312-2008 " A2-8 5.501 6.750 0.709 5/8"-11 4 Pl14-20"A/A2-8 1-311-2008
Y A2-11 7.751 9.252 e Rl s 0.787 3/4"-10 Lz 4 245 P14-20"/A2-11 1-312-2011 Y A2-11 7.751 9.252 Sl R IR 0.787 3/4"-10 iz 4 245 Pl4-20"A/A2-11 1-311-2011
" A2-11 7.751 9.252 0.787 3/4"-10 4 P14-25"/A2-11 1-312-2511 " A2-11 7.751 9.252 0.787 3/4"-10 4 P14-25"A/A2-11 1-311-2511
25 A2-15 11.251 13.00 e e 0.827  7/8"-9 Sl 4 358 P14-25"/A2-15 1-312-2515 25 A2-15 11.251 13.00 el e B 0.827  7/8"-9 SRl 4 358 P14-25"A/A2-15 1-311-2515
" A2-11 7.751 9.252 0.787 3/4"-10 5-7/8 8 Pl14-32"/A2-11 1-312-3211 " A2-11 7.751 9.252 0.787 3/4"-10 5-7/8 8 P14-32"A/A2-11 1-311-3211
32 A2-15 11.251 13.00 e 0.827  7/8"-9 6-1/8 8 672 P14-32"/A2-15 1-312-3215 32 A2-15 11.251 13.00 e 0.827  7/8"-9 6-1/8 8 672 P14-32"A/A2-15 1-311-3215
A2-11 7.751 9.252 0.787 3/4"-10 7-3/32 8 P14-40"/A2-11 1-312-4011 A2-11 7.751 9.252 0.787 3/4"-10 7-3/32 8 P14-40"A/A2-11 1-311-4011
"ok "o
"0 A2-15 11.251 13.00 e R 0.827 7/8"-9 7-3/32 8 110 Pl14-40"/A2-15 1-312-4015 i A2-15 11.251 13.00 e 0.827 7/8"-9 7-3/32 8 4y Pl4-40"A/A2-15 1-311-4015
* Cast steel body * Cast steel body
40" with A2-20 (Part N0.1-312-4020) is available ; 50" with A2-11,A2-15,A220 are available. 40" with A2-20 (Part N0.1-311-4020) is available ; 50" with A2-11,A2-15A2-20 are available.
Spare Parts Spare Parts
Chuck Hard Solid Hard Master Operating Thrust Chuck Hard Solid Hard Master Operating Thrust
Dia.(D) Reversible Jaw | Hard Top Jaw [ Soft Top Jaw Jaw Screw Bearing Wrench Dia.(D) Reversible Jaw | Hard Top Jaw | Soft Top Jaw Jaw Scrow Bt Wrench
8" RJ-PI1-200 TJ-PI1-200 STJ-PI-200 MJ-PI1-200 0OS-PI-200 TB-PI1-200 W-P1-250 8" RJ-PI-200 TJ-PI1-200 STJ-PI-200 MJ-PI1-200 0S-PI-200 TB-PI1-200 W-PI1-250
10" RJ-PI1-250 TJ-PI1-250 STJ-PI-250 MJ-PI1-250 0S-PI-250 TB-PI1-250 W-P1-250 10" RJ-PI-250 TJ-PI1-250 STJ-PI-250 MJ-PI1-250 0S-PI-250 TB-PI1-250 W-PI1-250
12-1/2" RJ-PI-315 TJ-PI-315 STJ-PI-315 MJ-PI1-315 0S-PI-315 TB-PI1-315 W-P1-400 12-1/2" RJ-PI-315 TJ-PI-315 STJ-PI-315 MJ-PI1-315 0S-PI-315 TB-PI-315 W-PI1-400
15-3/4" RJ-PI1-400 TJ-PI1-400 STJ-PI-400 MJ-P1-400 0OS-PI-400 TB-PI1-400 W-P1-400 15-3/4" RJ-PI-400 TJ-PI1-400 STJ-PI-400 MJ-PI1-400 0S-PI-400 TB-PI1-400 W-P1-400
20" RJ-PI-500 TJ-PI-500 STJ-PI-500 MJ-PI1-500 0OS-PI-500 TB-PI-500 W-P1-630 20" RJ-PI-500 TJ-PI1-500 STJ-PI-500 MJ-PI1-500 0OS-PI-500 TB-PI-500 W-PI1-630
25" RJ-PI1-630 TJ-PI-630 STJ-PI1-630 MJ-PI1-630 0OS-PI-630 TB-PI1-630 W-P1-630 25" RJ-PI-630 TJ-PI1-630 STJ-PI-630 MJ-PI1-630 0OS-PI-630 TB-PI1-630 W-PI1-630
32" RJ-PI1-800 TJ-PI1-800 STJ-PI-800 MJ-P1-800 0OS-PI-800 TB-PI1-800 W-P1-800 32" RJ-PI-800 TJ-PI1-800 STJ-PI-800 MJ-PI1-800 0S-PI-800 TB-PI1-800 W-P1-800
40" * RJ-PI1-1000 TJ-P1-1000 STJ-PI-1000 MJ-PI-1000 0OS-PI-1000 TB-PI1-1000 W-P1-1000 40" * RJ-PI1-1000 TJ-PI-1000 STJ-PI-1000 MJ-PI-1000 0OS-PI-1000 TB-PI1-1000 W-P1-1000
50" * RJ-PI1-1250 TJ-PI1-1250 STJ-PI-1250 MJ-PI-1250 0S-PI-1250 TB-PI1-1250 W-P1-1250 50" * RJ-PI1-1250 TJ-PI-1250  STJ-PI-1250 MJ-PI-1250 0OS-PI-1250 TB-PI1-1250 W-P1-1250

www.gatorchucks.com www.gatorchucks.com




4-Jaw Independent Chucks, Type D1

Solid Reversible Jaws

Semi-Steel Body 3" to 32"
Cast-Steel Body 40" to 50"

4-Jaw Independent Chucks, Type D1

Two Piece Hard Reversible Jaws

Semi-Steel Body 3" to 32"
Cast-Steel Body 40" to 50"

Syanya Jojes
Syanya Jojes

Vay3ni A

Va4ini A9

()
()

Chuck with solid jaw provided with: Chuck with solid jaw provided with:

1 Setof hard solid reversible jaws
1 setof Camlock Studs

1 Setof Camlock Stud Set Screws
1 Spring loaded chuck T- wrench
1 Hex keys

Eye bolts for chucks 10" and larger
10" chucks & larger have T-Slot
Lathe Chuck Manual

1 Setof hard top jaws

1 Setof hard master jaws

1 setof Camlock Studs

1 Setof Camlock Stud Set Screws
1 Spring loadedchuck T- wrench
1 Hex keys

Eye bolts for chucks 10" and larger
10" chucks & larger have T-Slot
Lathe Chuck Manual

H1 H1

I

N
\

NN\ S \\\\\
D

%

N\ NN I S\
)

3 [

AN
A\

A\
A\

3 9
0] 0]
(9] (9]
=. =.
() ()
(7] (7]
0] 0]
() (¢}
= S
0] 0]
—_ —
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
@) @)
> >
c [
(@] (@]
~ ~
[7)] (7]

%,
e H H2 e H H2
Type D1 Type D1

Chuck Taper Camlock Studs Wi. Chuck | Taper
D1-4 M10x1 Pl4-8"/D1-4  1-322-0804 . D1-4 2.501 3.252 0.5118 5/8 M10x1 3 Pl4-8"A/D1-4 1-321-0804
D1-5 3251 4126 ELUD || G | B 05906 3/4 M12x1 6 e Pl14-8"/D1-5  1-322-0805 & TE | o | A | W | e | R T e 3/4 Mi2x1 6 22 Pl14-8"A/D1-5 1-321-0805
D1-4 2.501 3,252 2.362 0.5118 5/8 M10x1 3 P14-10"/D1-4 1-322-1004 D1-4 2.501 3.252 2.362 0.5118 5/8 M10x1 3 P14-10"A/D1-4 1-321-1004
10" D1-5 3.251 4.126 , .., 4700 3.347 0.5906 3/4 M12x1 6 60 Pl4-10"/D1-5 1-322-1005 10" D1-5 8.251 4.126 , ;-4 2.3780 3.347 0.5906 3/4 M12x1 5 60 Pl4-10"A/D1-5 1-321-1005
D1-6 4.188 5.252 0.6299 7/8 M16x1.5 P14-10"/D1-6  1-322-1006 D1-6 4.188 5.252 0.6299 7/8 M16x1.5 P14-10"A/D1-6 1-321-1006
. D1-6 4.188 5.252 0.6299 7/8 M16x1.5 Pl4-12"/D1-6  1-322-1206 . D1-6 4.188 5.252 0.6299 7/8 M16x1.5 Pl4-12"A/D1-6 1-321-1206
12 die D1-8 5.501 6.748 i e 0.7087 1 M20x1.5 9] v Pl4-12"/D1-8 1-322-1208 Lz diz D1-8 5.501 6.748 e e G 0.7087 1 M20x1.5 9| By Pl4-12"A/D1-8 1-321-1208
D1-6 4.188 5.252 0.6299 7/8 M16x1.5 Pl4-16"/D1-6  1-322-1606 D1-6 4.188 5.252 0.6299 7/8 M16x1.5 Pl4-16"A/D1-6 1-321-1606
15-3/4" D1-8 5.501 6.748 3.937 6.095 4.134 0.7087 1  M20x1.5 6 132 PI4-16"/D1-8 1-322-1608 15-3/4" D1-8 5.501 6.748 3.937 2.8465 4.134 0.7087 1 M20x1.5 6 132 PIl4-16"A/D1-8 1-321-1608
D1-11 7.751 9.252 0.7874 1-3/16 M22x1.5 Pl4-16"/D1-11 1-322-1611 D1-11 7.751 9.252 0.7874 1-3/16 M22x1.5 Pl4-16"A/D1-11 1-321-1611
. D1-8 5.501 6.750 0.7087 1 M20x1.5 P14-20"/D1-8 1-322-2008 . D1-8 5.501 6.750 0.7087 1 M20x1.5 P14-20"A/D1-8 1-321-2008
Ay D1-11 7.751 9.252 +921 7.070 4724 42074 1:3/16 M22x1.5 9 & P14-20"/D1-11 1-322-2011 Y D1-11 7.751 9.252 +921 3.5551 4724 42074 1.3/16 M22x1.5 L P14-20"A/D1-11 1-321-2011
25" D1-11 7.751 9.252 6.299 7.866 5.512 0.7874 1-3/16 M22x1.5 6 364 PIl4-25"/D1-11 1-322-2511 25" D1-11 7.751 9.252 6.299 3.8504 5.512 0.7874 1-3/16 M22x1.5 6 364 PI4-25"A/D1-11 1-321-2511

* Cast steel body * Cast steel body

32" with D1-11 is availabk.Part No.: 1-322-3211. 32" with D1-11 is availabk.Part No.: 1-321-3211.

Spare Parts

Chuck Hard Solid Hard Master Operating Thrust
Dia. (D) Reversible Jaw | Hard Top Jaw [ Soft Top Jaw Jaw Screw Bearing Wrench

Spare Parts

Chuck Hard Solid Hard Master Operating Thrust
Dia. (D) Reversible Jaw | Hard Top Jaw [ Soft Top Jaw Jaw Screw Bearing Wrench

RJ-P1-200 TJ-PI1-200 STJ-PI-200 MJ-P1-200 0S-PI-200 TB-PI1-200 W-PI-250 RJ-P1-200 TJ-PI-200 STJ-PI-200 MJ-P1-200 0S-PI-200 TB-PI1-200 W-PI-250

O" RJ-P1-250 TJ-PI1-250 STJ-PI-250 MJ-P1-250 0OS-PI-250 TB-PI-250 W-PI-250 O" RJ-P1-250 TJ-PI-250 STJ-PI-250 MJ-P1-250 0S-PI-250 TB-PI1-250 W-PI-250
12-1/2" RJ-PI-315 TJ-PI-315 STJ-PI-315 MJ-PI1-315 0OS-PI-315 TB-PI1-315 W-P1-400 12-1/2" RJ-PI-315 TJ-PI-315 STJ-PI-315 MJ-PI1-315 0OS-PI-315 TB-PI-315 W-P1-400
15-3/4" RJ-PI1-400 TJ-PI1-400 STJ-PI1-400 MJ-P1-400 OS-PI-400 TB-PI1-400 W-P1-400 15-3/4" RJ-PI1-400 TJ-PI1-400 STJ-PI-400 MJ-P1-400 OS-PI-400 TB-PI1-400 W-P1-400
20" RJ-P1-500 TJ-PI-500 STJ-PI-500 MJ-P1-500 0OS-PI-500 TB-PI1-500 W-PI-630 20" RJ-P1-500 TJ-PI-500 STJ-PI-500 MJ-P1-500 0OS-PI-500 TB-PI1-500 W-PI-630
25" RJ-P1-630 TJ-PI1-630 STJ-PI-630 MJ-P1-630 OS-PI-630 TB-PI1-630 W-PI-630 25" RJ-P1-630 TJ-PI-630 STJ-PI-630 MJ-P1-630 OS-PI-630 TB-PI1-630 W-PI-630
32" RJ-PI1-800 TJ-PI1-800 STJ-PI-800 MJ-P1-800 OS-PI-800 TB-PI1-800 W-P1-800 32" RJ-PI1-800 TJ-PI1-800 STJ-PI-800 MJ-P1-800 OS-PI-800 TB-PI1-800 W-P1-800
40" * RJ-P1-1000 TJ-P1-1000  STJ-PI-1000 MJ-PI-1000 0OS-PI1-1000 TB-PI1-1000 W-P1-1000 40" * RJ-PI1-1000 TJ-P1-1000  STJ-PI-1000 MJ-PI1-1000 OS-PI-1000 TB-PI1-1000 W-P1-1000
50" * RJ-P1-1250 TJ-PI-1250  STJ-PI-1250 MJ-PI-1250 0OS-PI-1250 TB-PI1-1250 W-PI-1250 50" * RJ-P1-1250 TJ-PI-1250  STJ-PI-1250 MJ-PI-1250 0OS-PI1-1250 TB-PI1-1250 W-PI-1250

www.gatorchucks.com

* Cast steel body

* Cast steel body

www.gatorchucks.com




g FLISeries Fully Machined Adapter Plate FLI Series Fully Machined Adapter Plate &Y
S S
S S
<8 Type AL/A2Steel Adapters, Fully Machined Type D1 Steel Adapters, Fully Machined S
A, for Pl Series Plain Back Independent Chucks for P1 Series Plain Back Independent Chucks e

Note: Note:

No machining required No machining required

All adapters come with the setof spindle mountingbolts and hexkey All adapterscome with the set of Camlock Studs and setscrews
All below listed adapters can be mounted either onAl orA2 spindlenoses All adaptersare made ofsteel for longlife

All adapters are made of steelfor long life

G Spmdle M
Mountlng Bolts Chuck Taper Chuck .
Tgi;;er f B1 : Part No. Dia. Size A | E Mounting - . el .

3 9
0] 0]
(9] (9]
=. =.
() ()
(7] (7]
0] 0]
() (¢}
= S
0] 0]
—_ —
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
@) @)
> >
c [
(@] (@]
~ ~
[7)] (7]

6-1/4" A5 6.378 32505 1.772 2559 3.740 M10 4.125 7/16-14 1260 0177 7.8 FLI-160/A5 6-1/4" D1-4 6378 25005 1772 2559 3.740 M10  3.250 5/8 3 1693 0.77 1425 FLI-160/D4
g A5 7.874 32505 2205 2953 3.740 M10 4125 7/16-14 4 1378 02165 123 FLI-200/A5 g D1-4 6378 25005 2205 2953 3.740 M10  3.250 5/8 3 1575 0.2165 93 FLI-200/D4
A6 7874 41880 2205 2953 3.740 M10 5250 1/2-13 4 1890 02165 224 FLI-200/A6 D1-6 7126 41880 2205 2953 3.740 M10  5.250 7/8 6 1969 0.2165 18.7 FLI-200/D6
10" A6 8661 41880 2559 5906 4.126 M12 5250 1/2-13 4 1771 03543 20.1 FLI-250/A6 10" D1-6 7.992 41880 2559 5.906 4.126 M12  5.250 7/8 6 1.890 0.3543 232 FLI-250/D6
12-1/2" A6 8268 41880 3150 6.890 5252 M16 5250 1/2-13 4 1378 0315 152 FLI-315/A6 D1-8 8858 55005 2559 5.906 4.126 M12  6.750 1 6 1929 0.3543 274 FLI-250/D8
A8 1122 55005 3150 6.890 5.252 M16 6.750 5/8-11 4 2165 0315 403 FLI-315/A8 12-1/2" D1-6 8858 41880 3150 6.890 5.252 M16  5.250 7/8 6 2756 03150 34.1 FLI-315/D6
A6 7874 41880 3937 7.874 6.748 M16 5250 1/2-13 6 1575 = 18.3 FLI-400/A6 D1-8 8858 55005 3.150 6.890 5.252 M16  6.750 1 6 2165 03150 31.8 FLI-315/D8
15-3/4" A8 10.236 55005 3937 7.874 6.748 M16 6.750 5/8-11 6 1850 0.394 285 FLI-400/A8 15-3/4" D1-6 7874 418380 3937 7.874 6.748 M16  5.250 718 6 1575 = 17.8 FLI-400/D6
A1l 13386 7.7507 3.937 7.874 6.748 M16 9.250 3/4-10 6 1969 0.394 50.8 FLI-400/A11 D1-11 1173 7.7507 4900 7.874 6.748 M16  9.252 1-3/16 6 2165 0394 515 FLI-400/D11
20" A8 1240 55005 4.921 10.63 9252 M20 6.750 5/8-11 6 1969 0551 427 FLI-500/A8 20" D1-8 1240 55005 4921 10.63 9.252 M20  6.750 1 6 1969 0551 491 FLI-500/D8
All 12.78 7.7507 4921 10.63 9.252 M20 9.250 3/4-10 6 1969 0551 487 FLI-500/A11 D1-11 1173 7.7507 4921 10.63 9.252 M20 13.000 1-3/16 6 2165 0551 526 FLI-500/D11
g A8 1240 55005 4.921 10.63 9.252 M20 6.750 5/8-11 6 1969 0551 427 FLI-630/A8 g D1-8 10.63 55005 5315 10.63 9.252 M20  6.750 1 6 1.772 = 38 FLI-630/D8
All 1227 7.7507 4921 10.63 9.252 M20 9.250 3/4-10 6 1969 0551 487 FLI-630/A11 D1-11 1173 7.7507 6.300 10.63 9.252 M20  13.000 1-3/16 6 2441 0551 538 FLI-630/D11
31-1/2" | A15 1575 11.2509 8.268 9.843 11811 M20 13.000 7/8-9 6 3071 0394 115 FLI-800/A15

www.gatorchucks.com www.gatorchucks.com




W FLI Series Fully Machined Adapter Plate SM Series Semi-machined Adapter Plate &S
Q3 1]
) Sy
S S
= : : : =
= Type L Steel Adapters, Fully Machined Type A1/A2 Semi-machined Adapters S
e . . . e
® for Pl Series Plain Back Independent Chucks for PI Series chucks ®
Note: Designed for directmounting onAl &A2 spindle noses,
No machining required Can be usedafter machining forscroll or independentchucks,
) All adaptersare made ofsteel for longlife Spindle side ofeach adapter isfully finished. o
- Provided with the set of spindle mounting bolts & hex key. —
(0p) All below listedadapters can be mounted eather onAl orA2 spindlenoses. wn
@ All adapters aremade of steelfor longer life. @
(0)] (0]
1 1
()] — - w
1) 1)
= 3
1 1
wn wn
— —+
D D
@ =
Ro < Ro
0O 0O
QD Q
(9] (7))
— —t
% %
® < o
o] < o]
vy} - 09)
o o
o o
< <
=1 =3
T o
% A Spindle D
© B1 Taper A Hole F Mounting Bolts S
® B Size o @
= 2
o o
g 6-1/4" A5 6.38 157 157 4.126 3.2505 7/16-14 4 14.4 SM-160/A5 (':D
— Ad 7.99 0.98 2.40 3.252 2.5005 7/16-14 4 145 SM-200/A4 >
g 8" A5 7.99 157 157 4.126 3.2505 7/16-14 4 23.6 SM-200/A5 9
g A6 7.99 1.69 217 5.252 4.1880 1/2-13 4 237 SM-200/A6 %
~ A5 9.96 157 157 4.126 3.2505 7/16-14 4 37.7 SM-250/A5 ~
(0] (0)]
10" A6 9.96 1.69 217 5.252 4.1880 1/2-13 4 38.9 SM-250/A6
T A8 9.96 1.97 3.13 6.748 5.5005 5/8-11 4 41.6 SM-250/A8
Chuck |[Taper .
Dia. |size| A Japer, | L € Bl Part No. AG 1252 1.69 2.17 5.252 4.1880 1/2-13 4 63.6 SM-315/A6
' 12-1/2" A8 12.52 2.16 3.13 6.748 5.5005 5/8-11 4 64.4 SM-315/A8
31-1/2" L2 15.748 7-3/4"-5 5.250 429 9.8425 M20 11.811 3724 1102 922 FLI-800/L2 All 1252 256 4.06 9.252 7.7507 3/4-10 6 83.2 SM-315/A11
L3 15748 10-3/8'-4 6.500 5433 9.8425 M20 11811 4016 1181 1152 FLI-800/L3 A6 15.94 1.69 217 5.252 4.1880 1/2-13 6 105.7 SM-400/A6
15-3/4" A8 15.94 1.93 3.13 6.748 5.5005 5/8-11 6 116.5 SM-400/A8
All 15.94 2.95 4.06 9.252 7.7507 3/4-10 6 137 SM-400/A11
A8 19.88 2.01 3.13 6.748 5.5005 5/8-11 6 193 SM-500/A8
20" All 19.88 2.68 4.72 9.252 7.7507 3/4-10 6 206 SM-500/A11
A15 19.88 2.68 5.35 13.000 11.2509 7/8-9 6 228 SM-500/A15
A8 25.00 2.01 3.13 6.748 5.5005 5/8-11 6 311 SM-630/A8
25" All 25.00 2.60 4.72 9.252 7.7507 3/4-10 6 391 SM-630/A11
A15 25.00 252 7.48 13.000 11.2509 7/8-9 6 350 SM-630/A15

*Please verify ouradapter & yourchuck mounting dimensionbefore ordering.

www.gatorchucks.com www.gatorchucks.com




M SM Series Semi-machined Adapter Plate SM Series Semi-machined Adapter Plate &S
S S
S S
= Type D1 Semi-machined Adapters Type L Semi-machined Adapters S
WY for Pl Series chucks for P1Series chucks e
Designed for directmounting on CAMLOCKD1 spindle noses, Designed for directmounting on longtaper Lspindle noses,
After machining canbe used withscroll or independentchucks Can be usedafter machining forscroll or independentchucks,
Spindle side ofeach adapter isfully finished, Spindle side ofeach adapter isfully finished,
Provided with the set of Camlock studs, set screws & hex key. All adapters are made of steelfor longer life.

All adapters are made of steelfor longer life.

i

3 9
0] 0]
(9] (9]
=. =.
() ()
(7] (7]
0] 0]
() (¢}
= S
0] 0]
—_ —
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
@) @)
> >
c [
(@] (@]
~ ~
[7)] (7]

1z€ Lbs. e e HoIe Part No.
Size T -UNS3 .
o D1-3 500 1024 278 21250 9/16 3 57 SM-125/D3
D14 500 1024 15 3.252 2.5005 5i8" 3 55 SM-125/D4 Cal e ERD-E 20 | AR L) A L2 SUaLOH Y
D13 633 196 903 b8 01950 916" PR - SM.160/D3 6-1/4" 6.38 Lo 412-6 3250 260 1.063 2736 15 SM-160/L0
6-1/4" D1-4 6.38 1.26 203 3.252 25005 5i8" 3 115 SM-160/D4 8 7.9 Loo o EE N 1.083 2.362 19.2 SHLIGEOD
D15 6.38 1.38 2,03 4.126 3.2505 314" 6 il SM-160/D5 i e L0 L2 S8 | 25D LS CSCN ETS S HZTED
D14 799 1732 240 3252 255005 5/8" 3 256 SM-200/D4 8 799 L1 6-6 e | o | e | em | e SM-200L1
o L5 209 107 240 4126 39505 aa P — SM200/D5 10" 9.96 L0o 3-3/4-6 2750 220 1338 2618 352 SM-250/L.00
D16 7.99 177 240 5.252 4.1880 718" 6 243 SM-200/D6 07 e LY el 2t Sl | 60 R 252 50 S ZEEY
D15 9.96 1.93 313 4126 3.2505 34" 6 326 SM-250/D5 L0 hoe = 6-6 Gz | Sk 1.338 L Sz
10" L6 996 103 313 5 250 41880 g P — SM250/D6 12-172" 1252 Lo 412-6 3250 260 1.40 2,64 57.8 SM-315/L0
oLe 096 103 313 6.748 5 5005 " PR —— SM250/D8 12-1/2" 1252 L1 6-6 4125 335 140 311 62.7 SM-315/L1
ST I E— 406 5 250 21880 g . o 3156 12-1/2" 1252 L2 7-314-5 5250 429 145 350 728 SM-315/L2
12-2° D18 1252 216 4.06 6.748 5.5005 i 6 593 SM-315/D8 el 15.94 = 6-6 O D 150 323 108 Sl L
DLl 1252 216 4.06 9.252 77507  1316° 6 688 SM-315/D11 Leet 0 L2 (R Sy | A 150 3.70 L SR
R R R 406 5 957 41880 g 6 100 SMA00/D6 15-3/4" 15.94 L3 1038-4 6500 543 150 418 139 SM-400/L3
15-3/4" D18 1594 276 406 6.748 55005 T 6 116 SM-400/D8 20" 19.88 L2 7-34-5 R 150 370 167 SM-5001L.2
D1-11 15.94 197 406 9252 77507 1-3/16" 6 102 SM-400/D11 *Please verify ouradapter & yourchuck mounting dimensionbefore ordering.
D18 1988 177 5.36 6.748 55007 1" 6 165 SM-500/D8
20" D111 1988 283 5.36 9.252 77507 1316" 6 188 SM-500/D11
D115 1988 236 5.36 1300 112500 1.3 6 173 SM-500/D15
D18 2500 177 5.36 6.748 55007 1 6 269 SM-630/D8
25" D111 2500 283 7.79 9.252 77507 1316" 6 278 SM-630/D11
D115 2500 236 7.48 1300 112509 138" 6 270 SM-630/D15

*Please verify ouradapter & yourchuck mounting dimensionbefore ordering.

www.gatorchucks.com www.gatorchucks.com




M SM Series Semi-machined Adapter Plate Jaws - Hard Top Reversible Jaws &S
S S
S S
E Type Threaded Semi-machined Adapters Hard Top Jaws, For Pl Series 4-Jaw Chucks E
hh@ for Pl Series ChUCkS e American Standard Tongue & Groove Jaws ”"I®

e Hardened & Ground

) ) ) ) ® Sold in sets
Designed for directmounting on athreaded spindle noses, ® Jaw clamping rangessee on page 96

Can be usedafter machining withscroll or independentchucks,
All adapters are made of steelfor longer life.

S il

m 8"to 32" Diameter ® 40" to 50" Diameter

Chuck Wi,
o L G+ JoTololelelolw [olx [ululo] e [ mmo

3.2280 1.3386 1.7126 .3130 .1575 .1260 .4996 1.3858 .4331 .7087 .8760 .3740 .8661 2.0866 1.65 TJ-PI-200
7 10"  3.7992 1.3386 2.0276 .5004 .1575 .1260 .7496 1.5748 .5512 .7874 1.0630 .4724 .9843 2.4409 2.25 TJ-PI-250
12-1/2" 4.4291 1.6535 2.1654 .5004 .1575 .1260 .7496 1.8858 .5512 .7874 1.2500 .5118 1.0630 2.7756 3.40 TJ-PI-315
15-3/4" 5.0787 1.6535 2.5394 .5004 .1575 .2480 .7496 2.2598 .7087 1.0236 1.5000 .5315 1.0433 3.1102 4.50 TJ-PI-400

20"  5.3543 2.1260 2.9331 .5004 .1575 .2480 .7496 2.2835 .8881 1.2992 1.5000 .7087 1.4764 3.4252 7.00 TJ-PI-500

BL | 25" 53543 2.1260 3.2283 .5004 .1575 .2480 .7496 2.2835 .8881 1.2992 1.5000 .8268 1.4764 3.4252 7.60 TJ-PI-630
B 31-1/2" 5.3543 2.8346 3.4646 .5004 .1575 .2480 .7496 2.2835 .8881 1.2992 1.5000 .9449 1.5748 3.5039 11.0 TJ-PI-800
40"  6.2992 3.2283 4.0157 .5004 .1575 .2480 .7496 2.7748 .8881 1.2992 1.5000 2.2441 3.1496 - 17.3 TJ-PI-1000
50"  6.2992 3.2283 4.0157 .5004 .1575 .2480 .7496 2.7748 .8881 1.2992 1.5000 2.2441 3.1496 - 17.3 TJ-PI-1250

3 9
0] 0]
(9] (9]
=. =.
() ()
(7] (7]
0] 0]
() (¢}
= S
0] 0]
—_ —
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
@) @)
> >
c [
(@] (@]
~ ~
[7)] (7]

" 1-10UNS-2B 409 10150 050 2165 1535 0709 4.85 SM-100/T1
1-1/2-8UN-2B 4.09 15150 0.50 268 1535 0709 5.29 SM-100/T2 Hard Master Jaws, For 3-Jaw Chucks
1-U8-12W 508 12496 050 2165 1535 0709 4.05 SM-125/T3 o American Standard Tongue & Groove Jaws
o 1-1/2-8UN-2B 508 15150 0.50 268 1535 0709 6.61 SM-125/T2 ¢ Hardened & Ground
23/16-10Hardinge 508 21889 0626 311 1772 0709 7.05 SM-125/T4
2-1/4-8UN-2B 508 22600 0626 318 1.83 0.709 6.80 SM-125/T5
1-1/2-8UN-2B 6535 15150 0.50 268 1535 0787 7.05 SM-160/T2 gj j%j
6-1/4"  2:3/16-10Hardinge 6535 21889 0.50 311 1.85 0.787 7.50 SM-160/T4 %x ‘DIH%X
2-1/4-8UN-2B 6535 22600 0626 3.8 179 0.787 7.94 SM-160/T5 iy {3;?‘
1-1/2-8UN-2B 811 15150 0.50 268 1535 0866 9.92 SM-200/T2 K=y {%x
8" 2-1/4-8UN-2B 811 22600 0626 318 179 0866 1146 SM-200/T5 ‘ © y
2-3/8-6 UN-2B 811 23850 0626 433 2047 0866 1389 SM-200/T6 ‘ o @
10" 2-3/8-6UN-2B 1008 23850 0626 433 2047 0984 30 SM-250/T6 ‘
8"to 10" 12"to 16" 25"to 32" 36" to 50"
12-1/2" 2-3/8-6UN-2B 1264 23850 0626 433 2047 1102 50 SM-315/T6

B e Lo [ole ool e [ [nl e lul b e
rea

1.0630 1.3071 .4996 .1575 .3937 .3125 1.2598 .4528 8760 3.1102 3/8-16 24x4sqg. 1.65 MJ-PI-200
10" 1.0630 14764 .7496 .1575 .3937 .5000 1.4961 .4528 1.0630 3.7008 1/2-13 24x4sq. 2.25 MJ-PI-250
12-1/2" 15748 1.7874 .7496 .1575 .4724 5000 1.5354 .3819 1.2500 4.3307 1/2-13 Tr32x6 3.40 MJ-PI-315
15-3/4" 15748 2.1614 .7496 .2835 .4724 5000 1.7323 .3819 15000 5.0787 5/8-11 Tr32x6 4.50 MJ-PI-400
20" 20472 21850 .7496 .2835 .5906 .5000 2.3228 4606 1.5000 6.6142 3/4-10 Tr36x6 7.00 MJ-PI-500
25" 2.0472 21850 .7496 .2835 .7087 .5000 2.3228 6181 1.5000 8.1102 3/4-10 Trd0x6 7.60 MJ-PI-630
31-1/2" 27559 2.1850 .7496 .2835 .7874 .5000 2.3228 .6181 15000 8.1102 3/4-10 Tr44x8 11.0 MJ-PI-800
40" 3.1496 2.2732 7496 .2835 .9843 5000 3.1496 .9843 15000 12.7953 3/4-10 Tr55x8 17.3 MJ-PI-1000
50" 3.1496 22732 .7496 .2835 .9843 .5000 3.1496 .9843 1.5000 12.7953 3/4-10 Tr55x8 17.3 MJ-PI-1250

www.gatorchucks.com www.gatorchucks.com




M Jaws- Hard Two-Piece Reversible Jaws Jaws - Soft Top Jaws S
S S
~N ~N
mg hg
E Hard Topand Master Jaw Set, For P1 Series 4-Jaw Chucks Soft TopJaw Set, For Pl Series 4-Jaw Chucks E
§h® e Jaws are mountedand ground together e American Standard Tongue & Groove Jaws Eh@

Perfect as areplacement for Plchucks
with solid or2-pc Jaws.
e Sold in sets

® Sold by piece

C

F E
| [T

~1 T 1T
A
Ch Chuck
g

HlL
+

L
|

3.2280 3.1102 1.7126 1.2598 13386  1.0630 .3740 .8661 2.0866 24x4sg. RJA-PI-200 3543 1.063 1.713 .3129 09488 1-3/4 500 1575 .1260 .158 1.22 3/8-16 1.43 STJ-PS1-200
10" 3.7992 3.7008 2.0276 1.4961 13386  1.0630 AT724 .9843 2.4409 24x4sq. RJA-PI-250 10" 4173 1280 2.028 .5000 1.0827 2-1/8 .750 1772 .1260 .158 1.50 1/2-13 2.54 STJ-PS1-250
12-1/2" 4.4291 4.3307 2.1654 1.5354 1.6535 1.5748 5118 1.0630 2.7756 Tr32x6 RJA-PI-315 12-1/2" 4.724 1575 2.165 .5000 12087 2-1/2 .750 2.087 .1260 .158 1.57 1/2-13 3.53 STJ-PS1-315
15-3/4"  5.0787 5.0787 2.5394 1.7323 1.6535 1.5748 .5315 1.0433  3.1102 Tr32x6 RJA-PI-400 15-3/4" 5512 1.654 2539 5000 13543 3 750 2480 .2480 .158 1.79 5/8-11 4.85 STJ-PS1-400
20" 5.3543 6.6142 2.9331 2.3228 2.1260 2.0472 .7087 1.4764 3.4252 Tr36x 6 RJA-PI-500 20" 5512 1.969 2933 5000 13543 3 750 2480 .2480 .158 2.20 3/4-10 5.29 STJ-PS1-500
25" 5.3543 8.1102 3.2283 2.3228 2.1260 2.0472 .8268 14764  3.4252 Tr40 x 6 RJA-PI1-630 25" 6.299 2.047 3.288 .5000 13543 3 750 2480 .2480 .158 252 3/4-10 9.26 STJ-PS1-630
31-1/2"  5.3543 8.1102 3.4646 2.3228 2.8346  2.7559 .9449 15748  3.5039 Tr44 x 8 RJA-PI-800 31-1/2" 6.299 2.047 3.288 5000 13543 3 750 2480 .2480 .158 252 3/4-10 9.26 STJ-PS1-630
40" 6.2992 12.7953 4.0157 3.1496  3.2283 3.1496 2.2441 3.1496 - Tr55x8  RJA-PI-1000
50" 6.2992 12.7953 4.0157 3.1496 3.2283 3.1496 2.2441  3.1496 - Tr55x 8 RJA-PI-1250

Jaws - Hard Solid Reversible Jaws
Jaw Mounting Bolts

e Sold by piece

Hard Solid Reversible Jaw Set, For Pl Series 4-Jaw Chucks

® Hardened & Ground
® Designed for strongand rigid gripping A
® Sold in sets H1

® Jaw clamping rangessee on page 96

3 9
0] 0]
(9] (9]
=. =.
() ()
(7] (7]
0] 0]
() (¢}
= S
0] 0]
—_ —
D (¢}
® o]
Ro Ro
O O
Q Q
(7)) (7]
— ~—+
0] 0]
~—+ ~—+
(¢} (¢}
@ o]
vy) vy}
o (@]
o o
< <
=} 5
o o
(¢} D
© ©
(¢} D
> -}
o o
() (¢}
> -]
—+ —+
@) @)
> >
c [
(@] (@]
~ ~
[7)] (7]

Bolts No.1 Bolts No.1

Size

1]
'ELF::::::::::::#;E % 8" 3/8-16 MT-J1-8 0.79 MT-J2-8 1.18
1 2
— 1 ) 10" 1/2-13 MT-J1-10 1.00 MT-J2-10 1.57

12-1/2" 1/2-13 MT-J1-12 1.00 MT-J2-12 1.57
e T L L T e
20 3/4-10 MT-J1-20 1.57 MT-J2-20 2.17
3-1/4" 1.2992 1.2992 .5906 14x3sqg. .3150 .2362 .8661 4724 .2362 RJ-PI-080 25" 3/4-10 MT-J1-25 1.57 MT-J2-25 2.36
4" 1.6535 1.6535 6299 16x3sqg. .3150 .2756 1.1024 .5512 .3150 .33 RJ-PI-100 31-1/2" 3/4-10 MT-J1-32 1.57 MT-J2-32 236
5" 2.0866 1.6535 .7087 18x4sq. .3150 .3150 1.4173 .7087 .3150 44 RJ-PI-125 40" 3/4-10 MT-J1-40 1.97 MT-J2-40 3.15 1 1
6-1/4" 2.4213 2.0079 71874  22x4sq. .3937 .3543 1.6142 71874 .3937 a7 RJ-PI-160 50" 3/4-10 MT-J1-50 1.97 MT-J2-50 3.15
8" 3.3465 2.4213 1.0630 24x4sq. .3937 .4528 2.2835 1.2009 4724 154 RJ-PI-200 * Bolts aremade in aClass B12.9
10" 3.6220 24213 1.0630 24x4sq. .3937 .4528 25787  1.2009 4724 1.65 RJ-PI-250
12-1/2"  4.3701 3.0118 15748 Tr32x6 4724 .3819 26380 1.0630 .7097 331 RJ-PI-315
15-3/4"  5.0787 3.0118 15748 Tr32x6 4724 .3819 3.0906 1.2795 .7097 3.97 RJ-PI-400
20" 6.0039 3.6811 2.0472  Tr36x6 .5906 .4606 3.6614  1.3780 .8661 75 RJ-PI-500
25" 6.9685 3.9567 2.0472  Tr40x6 .7087 .6181 4.2913 1.7717 .9843 8.8 RJ-PI-630
31-1/2"  7.9528 4.5079 27559  Tr44x8 7874 .6181 4.8031 1.7323 .9843 18 RJ-PI-800
40" 9.4488 5.9055 3.1496  Tr55x8 .9843 .9843 6.2992 25591 15748 28 RJ-PI-1000
50" 9.4488 5.9055 3.1496  Tr55x8 .9843 .9843 6.2992 25591 1.5748 28 RJ-PI-1250

www.gatorchucks.com www.gatorchucks.com




W Spare Parts Spare Parts &S
Q) Q)
S S
= =
5 : : 5
<8 Operating Screw Spring Loaded Chuck T-Wrench IR
h"’@ e Sold by piece e Sold by piece hh@
L o Chuck 1 N S Wrench Y
i Dia. mm inch Part No .
(0p) (0p)
@ H 3-1/4" 2.56 3.54 6 0.236 W-PI-080 @
o ) 4 2.76 433 7 0.276 W-PI-100 o
@ 5" 3.94 5.51 7 0.276 W-PI-125 @
% P ¥ ] Socker — 6-1'/'4 3.94 5.91 10 0.394 W-PI-160 A g
z Dia. | Size d Square : 8 472 8.46 10 0.394 W-PI-200 N =
T 3-1/4" 14x3sq. 0650  1.142 236 0S-PI-080 107 4.72 8:46 10 0.394 W:Rl-250 - T
n 4 16x3sq. 0770 1476 276 0S-PI-100 12-1/2 6.50 12.20 — 0.551 W-PI-315 L )
o 5" 18x4sq. 0866 1811 276 0S-PI-125 15-3/4 6.50 12.20 14 0.551 W-P1-400 =
20 6-1/4" 22x4sq. 0770 2205 304 0S-PI-160 20 9.06 17.72 17 0.669 W-PI-500 2o
O 8" 24x4sq. 0965 2756 394 0S-PI-200 = 2L 1702 L 2LEE R O
0 10"  24x4sq. 0984  3.345 394 0S-PI-250 31-1/2 e Lol C et AR o
= 12-1/2"  Tr32x6 1083  4.134 551 0S-PI-315 40 10.43 19.69 22 0.866* W-P1-1000 —~
2 15-3/4"  Tr32x6 1673 5315 551 OS-PI-400 50 10.43 19.69 2 0.866* W-PI-1250 \
g 20" Tr36x6 2.776 6.575 .669 0S-PI-500 * For Square Sockets g
o 25" TrA0x6  3.346 8740 669 0S-PI-630 -
o 31-1/2"  Tr44x8 4980 11496  .748 0S-PI-800 o
g 40" Tr55x8 6358 14488  .866 0S-PI-1000 S
— 50" Tr55x8 6555 18701 866 0S-PI-1250 =
>
o o
o o
bo] . . . o
® Thrust Bearing Plain Back Chuck Mounting Bolts ®
o e Sold by piece e Sold by piece o
o o
5 S
—+ —+
O O
= =
C
= chek OAL Part No. CRUCKISNInead L Part No. =
=~ Dia. Dia. Size =
» 3-1/4" 0.539 0.748 TB-PI-080 3-1/4" M6 6299 MB-BI-080 v
4 0.630 1.083 TB-PI-100 4 M8 2.1654 MB-BI-100
5 0.701 1.102 TB-PI-125 5 M8 2.1654 MB-BI125
6-1/4" 0.866 1.417 TB-PI-160 6-1/4" M10 2.5591 MB-BI-160
8" 0.945 1.890 TB-PI1-200 8" M10 3.1496 MB-BI-200
10" 0.945 2.126 TB-PI-250 10" M12 3.1496 MB-BI-250
12-1/2" 1417 2.323 TB-PI-315 12-1/2" M16 3.5433 MB-BI-315
15-3/4" 1417 2,520 TB-PI-400 15-3/4" M16 3.7402 MB-BI-400
20" 1575 2.835 TB-PI-500 20" M20 3.9370 MB-BI-500
25" 1772 3.307 TB-PI-630 25" M20 4.7244 MB-BI-630
31-1/2"  1.890 3.661 TB-PI-800 31-1/2" M20 5.9055 MB-BI800
40" 2.165 3.386 TB-PI-1000 40" M20 6.2992 MB-BI-1000
50" 2.165 3.808 TB-PI-1250 50" M24 6.6929 MB-BI-1250
Note: Afterthe installation everythrust bearing * Bolts aremade in aClass B12.9

has to besecured with theset screw.

www.gatorchucks.com www.gatorchucks.com




ﬁp Front Mounting Scroll Chucks

w ﬂﬂl”r””””ks 3 &4-Jaw Medium Duty, Plain Back,

By FUERDA Front Mounting Scroll Chucks
with Semi-Steel Body & Forged Steel Body

Va4ini A9

Skaiys Jojel
syanya Joyes

®
()

:
z

Principal Dimensions

Chuck Top Solid 2 Pc. Solid Mounting Bolts
- Dia.D PS PO Jaws Jaws Javvs Jaws
Front Mounting ,

T T
@) O
Ro Ro
o T
n n
n n
D D
=) =,
D (¢
(0] (0]
| T
- -
o o
> >
—t ~—t
< <
o o
c c
> >
= =
> >

«Q «Q
n n
(¢} (¢}
- -
=) =)
@ @
> >
c c
(¢} (¢}
~ ~
(2} n

3-1/4" 2.6378 22047 0.6299 1181 1.732  1.732 - 4331 0512  1/4"-20 M6 x 1 3
4" 32677 27599 0.7874 .1181 1.969  1.969 - 5906 - 0669 51618 3 M8x125 3
5" 42520 3.7402 1.2598 .1575 2205 2343 .866 .7874 1575 0787 5/16-18 3  M8x1.25 3
PO & PS Serles Front Mounting SCfO” Chucks 6-1/4" 55118 4.9213 16535 .1575 2559 2.677 984 7874 1693 1.260 3/8-16 3  M10x15 3
] 8" 69291 6.2992 21654 .1575 2953 3.071 1181 .9843 1772 1142 3/8-16 3  MI10x15 3
3_JaW & 4_JaW P|a|n BaCk 10" 8.8189 7.8740 29921 .1969 3.347 3504 1.417 1.1024 2087 1.339  1/2"-13 3 MI12x175 3
; ; ! ! 12-1/2" 11.2598 10.2362 4.0551 .1969 3.701  3.787 1654 12598 2.244 1693 5811 3  MI16x2 3
Wlth Seml-St66| & Forged Steel BOdy 15-3/4" 14.2519 12.9921 53545 .1969 4.134 4252 1770 14173 2639 2165 58-11 3  M16x2 3
20" 18.0314 165354 7.4803 .1969 4.724 4685 1978 15748 3.504 2205 3/4-10 3  MI16x2 3
r Front Mountin hucks ar igned for n T-Slotrotar
Gato ont Mounting Chuc sare designed or useo _S otrotary Clamplng Ranges
tables, CNCindexers, lathe spindle noses, milling machine tables o
. . ote:
and other devices were back mounting chucks cannotbe used. *Never exceed chuckgripping ranges.
. *Master jaws andscroll should bealways in afull engagement.
They canbe mountedon 3/6 & 4/8 T-Slot rotary tables and indexers. +Select jaws with the proper jawgripping surfaces tofit your application.
Fully finished steel Base Plates are available for 5" thru 20" chucks *Always Use properjaws for roughand finishing machining.
33 3|8 - g |- 38

e

-

d

d‘1
laa

Dia.

gey L@ [ @ [ @us | dum [ Suw |

JAWS

mm Inch Solid Reversible Solid Reversible Solid Reversible Solid Reversible Solid Reversible
80 3-1/4 .08-1.06 - .87-1.81 - 1.77-2.72 - .98-1.97 - 1.89-2.80

100 4 .12-1.30 - .98-2.20 - 2.20-3.43 - 1.26-2.44 - 2.44-3.27

125 5 12-1.97 12-1.97 1.37-291 1.34-2.99 2.83-453 2.95-465 154-3.27 2.05-3.78 3.15-4.92 3.74-4.92
160 6-1/4 .12-2.52 .12-2.52 1.65-3.94 1.65-3.82 3.70-6.06 3.46-5.75 1.97-4.21 2.44-476 3.86-6.30 4.53-6.30
200 8 .16-3.54 .16-3.54 2.05-5.31 1.97-512 4.72-795 4.13-7.48 2.36-5.71 2.83-6.14 5.12-7.87 5.24-7.87
250 10 .20-4.65 .20-4.65 2.44-6.85 2.28-6.50 5.70-10.43 4.92-9.25 3.03-7.40 3.38-7.75 6.30-9.84 6.30-9.84
315 12-1/2 .39-5.16 .20-5.16 3.07-7.87 2.56-7.16 6.77-11.77 5.70-10.43 3.54-8.46 4.06-8.90 7.48-12.40 7.48-12.40
400 15-3/4 .39-7.09 .39-7.09 3.35-9.92 2.83-8.98 8.27-14.96 6.50-12.95 4.05-10.71 5.00-11.57 9.05-15.75 9.05-15.75
500 20 .79-9.25 .79-9.25 4.72-13.19 4.72-16.14 9.65-18.74 7.87-19.10 5.51-14.06 4.33-15.75 10.87-19.69 7.48-19.69

www.gatorchucks.com www.gatorchucks.com




" PS3 Series Semi-Steel Body Scroll Chucks PS4 Series Semi-Steel Body Scroll Chucks "
§- with Two Sets of Hard Solid Jaws, Plain Back with Two Sets of Hard Solid Jaws, Plain Back §-
) )
§§ Each chuck is provided with: Each chuck is provided with: §§

®
()

1 Setof hard master jaws

1 Setof hard top reversible jaws

1 Set ofadapter mounting bolts

1 Spring loadedchuck T- wrench
2 Hex keys

Eye bolts for chucks 10" and larger
2 pinion design

Lathe Chuck Manual

1 Setof hard solid ID jaws

1 Setof hard solid OD jaws

1 Set ofadapter mounting bolts
1 Spring loadedchuck T- wrench
2 Hex keys

3 pinion design

Lathe Chuck Manual

Semi- Steel Body Semi- Steel Body

P'\élran):i.'s-'soi:ﬁe Weight Chuck Chuck ID_-Hard OD - Hard Soft Solid EI?IZ Phélfr:](iss?L?e Chuck Chuck Hard Top |Hard Master Soft Top Elaastg
Enlargements Ibs. Model Part No. Solid Jaws | Solid Jaws NEWE part No. Enlargements Model Part No. NEWES Jaws Jaws Part No.
3" 0.6299 0.7087 4000 33 PS3-3"(F) 1-202-0301 0J-PS3-80 13-PS3-80 SJ-PS3-80 - 5" 1.2598 1.3456 3200 11 PS4-5"A(F) 1-203-0501  TJ-PS4-125 MJ-PS4-125 STJ-PS4-125 BPD-125
4" 0.7874 0.9055 3500 6.2 PS3-4"(F) 1-202-0401 0OJ-PS3-100  1J-PS3-100 SJ-PS3-100 - 6-1/4"  1.6535 1.9252 3000 22 PS4-6"A(F) 1-203-0601 TJ-PS4-160 MJ-PS4-160 STJ-PS4-160 BPD-160
5" 1.2598 1.3456 3200 n PS3-5"(F) 1-202-0501  0J-PS3-125  1J-PS3-125 SJ-PS3-125 BPD-125 8" 2.1654 2.8189 2500 39 PS4-8"A(F) 1-203-0801 TJ-PS4-200 MJ-PS4-200 STJ-PS4-200 BPD-200
6-1/4"  1.6535 1.9252 3000 22 PS3-6"(F) 1-202-0601 0OJ-PS3-160 1J-PS3-160 SJ-PS3-160 BPD-160 10" 2.9921 3.5827 2000 55 PS4-10"A(F) 1-203-1001  TJ-PS4-250 MJ-PS4-250 STJ-PS4-250 BPD-250
8" 2.1654 2.8189 2500 39 PS3-8"(F) 1-202-0801  OJ-PS3-200  1J-PS3-200 SJ-PS3-200 BPD-200 12-1/2" 4.0551 4.4094 1500 110 PS4-12"A(F) 1-203-1201  TJ-PS4-315 MJ-PS4-315 STJ-PS4-315 BPD-315
For Spare Parts See Page 124 15-3/4" 5.3543 5.7480 1000 187 PS4-16"A(F) 1-203-1601  TJ-PS4-400 MJ-PS4-400 STJ-PS4-400 BPD-400

v
o
Ro
B
(0)]
()]
D
=.
D
wn
T
.
(@)
>
—
<
(@)
=
>
—
>
(o]
n
2 For Spare PartsSee Page 124
e

@)

>

c

(@)

>

(7]

U
O
Ro
U
(0]
w
P
-
n
T
il
(@)
S
<
(@)
c
=
=
Q
w
O
=
0
>
c
o
=
n

PS3 Series Semi-Steel Body Scroll Chucks PO3 Series Forged Steel Body Scroll Chucks
with Two-Piece Hard Reversible Jaws, Plain Back with Two-Piece Hard Reversible Jaws, Plain Back
Each chuck is provided with: Each chuck is provided with:
m 1 Setof hard master jaws m 1 Setof hard master jaws
m 1 Setof hardtop reversible jaws m 1 Setof hardtop reversible jaws
m 1 Set ofadapter mounting bolts m 1 Set ofadapter mounting bolts
m 1 Spring loadedchuck T- wrench m 1 Spring loadedchuck T- wrench
B 2 Hex keys B 2 Hex keys
m Eye boltsfor chucks 10" and larger m Eye boltsfor chucks 10" and larger
H 3 pinion design ® 3 pinion design
: [ ]
Semi- Steel Body Lathe Chuck Manual Forged Steel Body Lathe Chuck Manual
Hole | pomtios | RPM Chuck Hard Top |Hard Master| Soft Top Hole RPM Chuck Hard Top |Hard Master|  Soft Top
Enlargements Max Model NEVT Jaws Jaws Max Model Jaws NEVTS Jaws
5" 1.2598 1.3456 3200 11 PS3-5"A(F) 1-201-0501  TJ-PS3-125 MJ-PS3-125 STJ-PS3-125 BPD-125 5" 1.2598 4800 1 PO3-5"A(F) 1-105-0501  TJ-PS3-125 MJ-PS3-125 STJPS3-125 BPD-125
6-1/4"  1.6535 1.9252 3000 22 PS3-6"A(F) 1-201-0601  TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 BPD-160 6-1/4" 1.6535 4500 22 PO3-6"A(F) 1-105-0601  TJ-PS3-160 MJ-PS3-160 STJ-PS3-160 BPD-160
8" 2.1654 2.8189 2500 39 PS3-8"A(F) 1-201-0801 TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 BPD-200 8" 2.1654 4000 39 PO3-8"A(F) 1-105-0801 TJ-PS3-200 MJ-PS3-200 STJ-PS3-200 BPD-200
10" 2.9921 3.5827 2000 55 PS3-10"A(F) 1-201-1001 TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 BPD-250 10" 2.9921 3500 55 PO3-10"A(FP) 1-105-1001 TJ-PS3-250 MJ-PS3-250 STJ-PS3-250 BPD-250
12-1/2"  4.0551 4.4094 1500 110 PS3-12"A(F) 1-201-1201 TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 BPD-315 12-1/2" 4.0551 2800 110 PO3-12"A(F) 1-105-1201 TJ-PS3-315 MJ-PS3-315 STJ-PS3-315 BPD-315
15-3/4" 5.3543 5.7480 1000 187 PS3-16"A(F) 1-201-1601 TJ-PS3-400 MJ-PS3-400 STJ-PS3-400 BPD-400 For Spare Parts See Page 124

20" 7.4803 8.3465 700 320 PS3-20"A(F) 1-201-2001  TJ-PS3-500 MJ-PS3-500 STJ-PS3-500 BPD-500
For Spare PartsSee Page 124

www.gatorchucks.com www.gatorchucks.com




M BPD Series Base Plate Jaws- Hard Top Jaws &S
~ ~
- -
S Sy
= BPD Base Plate Hard Top Jaws, For 3-Jaw Chucks S
s for PO Series & PS Series 3 &4 Jaw Plain Back o American Standard Tongue & Groove Jaws P
Front Mount Scroll Chucks “Soidimsets
® Jaw clamping rangessee on page4
Designed for usewith 3 &4 jaw scrollfront mount plainback chucks
Ideal for useon a CNCor manual rotarytables and indexerswith the 3,4, 6 and 8 T-Slots P
Base plates are provided with mounting bolts with T-Nuts and hex key. r-%
All base platesare made of steel for longerlife. Z|
Full front mountchuck specification seeon the Page xxx. =z
Mo MR | O

I I Lu; [ — ]
]
A 5"to 12-1/2" 15-3/4" & up
Chuck OAL Wt.
Dia. Lbs.

5/8 57/64 .499 3129 .157 .126 315 1.516 .866 2.205 .571 1.38 0.93 TJ-PS3-125

6-1/4" 3/4 1-1/8 499%6 .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS3-160

8" 7/8 1-3/8 4996 .43 .71 3129 .157 .126 413 1.772 1.181 3.347 .984 2.09 2.10 TJ-PS3-200

10" 1-1/16 1-9/16 7496 .55 .78 5004 .157 .126 531 2.087 1.417 3.740 1.14 2.52 3.20 TJ-PS3-250

‘ F ‘ 12-1/2" 1-1/4 1-7/8 7496 .55 .78 5004 .157 .126 689 2283 1.654 4.252 1.22 3.01 5.10 TJ-PS3-315
TLL 5 1 15-3/4" 1-1/2 2-1/4 7496 .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46 7.30 TJ-PS3-400
& ( Tﬁ W 20" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 787 3.425 1.654 5.157 2.05 3.23 14.4 TJ-PS3-500
@:\N i N : T 25'&32" 1-1/2 2-1/4 7496 .87 1.3 5004 .157 .248 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630
L D' ‘ngl 40'€50" 1-1/2 2-1/4 74% .87 1.3 5004 .157 .248 .984 4.331 3.346 8.268 1.99 3.33 66.0 TJ-PS3-1000

B g
@) @)
Ro Ro
U i)
wn 0
n n
D D
—. =
D D
(0] (0]
L Tl
= =
o o
> >
— —
< <
o o
= c
> >
= =5
> >
(@] (@]
wn n
(¢} (@)
= =
=4 =
0O 0O
> >
c =
(¢} (@)
~ ~
(2} (0]

Hard Top Jaws, For 4-Jaw Chucks

e American Standard Tongue & Groove Jaws
e Hardened & Ground

2- Pc Part No. e Sold in sets
NEWS ® Jaw clamping rangessee on page4
5" 4921 3740 4252 1.875 0551 5/16"-18 2205 2422 1.575 BPD-125 P
6-1/4" 6299 4921 5512 1.850 0.636 3/8"-16 3 M8 4 2539 2756  1.693 BPD-160 %
8" 7874 6299 6929 2.362 0.709 3/8"-16 3 M8 4 2953 3150  1.772 BPD-200 Z
10" 9843 7.874 8819 3.189 0787 1/2"-13 3 M10 4 3.347 3543 2087 BPD-250 M M R —'I =N 0
12-1/2" 12402 10236 11.260 4.252 0984 5/8"-11 3 M10 4 3.701  3.937 2244 BPD-315 [ T whh Hidy,
15-3/4" 15748 12992 14252 5551 1.063 5/8"-11 3 M12 4 4134 4331 2693 BPD-400 Dﬁ%j##ﬁ'm ' -f—( LQ.L%
20" 19685 16.535 18.031 7.677 1181 3/4"-10 3 M16 4 4527 4685  3.150 BPD-500 — 5"to 12-1/2" 15-3/4" & up

B Chuck OAL Wit.
.H.n- 5 o

M1 5" 5/8 57/64 499 3129 .157 .126 1516 .866 2.205 .571 1.38 0.93 TJ-PS4-125

e W 6-1/4" 3/4 1-1/8 4996 .43 .71 3129 .157 .126 335 1.634 .984 2.638 .807 1.69 1.20 TJ-PS4-160

5" M6  .3150 5118 .1969  .3543 5118 ML | L 8"  7/8 1-3/8 499 .43 .71 3129 .157 .126 413 1772 1.181 3.347 .984 2.09 2.10 TJ-PS4-200
6-1/4" M8  .3937 5006 .2362 .4724 5906 10" 1-1/16 1-9/16 749% .55 .78 5004 .157 .126 531 2.087 1417 3.740 1.14 2.52 3.20 TJ-PS4-250
8" M8 3937 5006 2362 4724 5906 A 12-1/2" 1-1/4 1-7/8 749%6 .55 .78 5004 .157 .126 689 2283 1654 4.252 1.22 3.01 5.10 TJ-PS4-315
10" M10 4724 7087 2756 5512 7087 15-3/4" 1-1/2 2-1/4 749% .71 1.0 5004 .157 .248 689 2.756 1.772 5.000 1.85 3.46  7.30 TJ-PS4-400
12-1/2  M10 4724 7087 2756 5512 7087 a 20" 1-1/2 2-1/4 74% .87 1.3 5004 .157 .248 787 3.425 1654 5.157 2.05 3.23 14.4 TJ-PS4-500
e | o | smie | Ees | eiem | Gees L F T 25'¢32" 1-1/2 2-1/4 74% .87 1.3 5004 .157 .248 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS4-630
20" o T ool e T T ) 40'850" 1-1/2 2-1/4 749% .87 1.3 5004 .157 .248 984 4.331 3.346 8.268 1.99 3.33  66.0 TJ-PS4-1000

www.gatorchucks.com www.gatorchucks.com




8 Jaws- Hard Master Jaws Jaws- Soft Top Jaws &S
<) )
=~ =
S S
) .
S Hard Master Jaws, For 3-Jaw Chucks Soft Top Jaws, For 3-Jaw & 4-Jaw Chucks S
hg”@ e American Standard Tongue & Groove Jaws ) hh@
e Sold in sets e American Standard Tongue & Groove Jaws
E e Sold by piece
B F E O
K K K K K K K K K I’L“fL‘l E F’i II II’_1 —h %
(- (1 1 — ) 0o 7 T o G H —

m 25"to 32" Diameter B 20" Diameter m 12"to 16" Diameter m 5"to 10" Diameter

Chu OAL Thread Wt Chuck BoItS|ze Wt.

B 0
@) @)
Ro Ro
U )
wn 0
n n
D D
—. =
D D
(0] (0]
AL L
@) (@)
> >
— —
< <
o o
= =
> >
= =
> >
(@] (@]
wn wn
(¢} (¢}
= =
=4 =
0O 0O
> =
c c
(¢} (¢}
~ ~
(2} (2}

5 5/8 57/64 .4996 5/16 .1575 .1260 .4724 .3150 .3150 .7874 1.1024 2.1259 5/16-8 0.93 MJ-PS3-125 2.520 0.866 1.520 .3129 05910 1-/4 500 1.000 .1260 .283 5/16-18 0.66 STJ-PS1-125
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS3-160 6-1/4" 3.071 1.000 1.634 .3129 08386 1-1/2 500 1.339 .1260 .283 3/8-16 1.01 STJ-PS1-160
8" 7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS3-200 8" 3.543 1.063 1.713 .3129 09488 13/4 500 1575 .1260 .283 3/8-16 1.43 STJ-PS1-200
10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS3-250 10" 4.173 1.280 2.028 .5000 10827 21/8 750 1.772 .1260 .283 1/2-13 2.54 STJ-PS1-250
12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS3-315 12-1/2" 4.724 1.575 2.165 .5000 12087 2-1/2 .750 2.087 .2480 .283 1/2-13 3.53 STJ-PS1-315
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS3-400 15-3/4" 5.512 1.654 2.539 .5000 1.3543 3 750 2480 .2480 .406 5/8-11 4.85 STJ-PS1-400
20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS3-500 20" 5.512 1.969 2.933 .5000 1.3543 3 750 2480 .2480 406 3/4-10 5.29 STJ-PS1-500
25" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS3-630
31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS3-800
40" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 12.593 3/4-10 105 MJ-PS3-1000 JaWS SOﬂ Solid JaWS
50" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 14.448 3/4-10 116 MJ-PS3-1250
Hard Master Jaws, For 4-Jaw Chucks Soft Solid Jaws, For 3-Jaw Chucks
e American Standard Tongue & Groove Jaws e Sold in sets
® Sold in sets
F
()]
[ﬁﬂ
2 =
== w
[a)
O
B
L
K K K K K K K K K f'—""L'l :] l w
4 1 )
BBt Godgos  Ebdeksy B : L
| | ] | | [] | M Gl H
lel Lef el u | lel lel n | 6l H | A

B 25"t0 32" Diameter B 20" Diameter m 12"to 16" Diameter B 5"to 10" Diameter

Chuc OAL Thread Wit.

Chuck wt./pc.
Dia. E

5/8

57/64

.4996

5/16

.1575

.1260 .4724

.3150

.3150

.7874 1.1024 2.1259

5/16-8

0.93

MJ-PS4-125

1.2598 1.6535 5906 2362 2362 SJ-PS3-100 SJ-PS4-100
6-1/4" 3/4 1-1/8 .4996 5/16 .1575 .1260 .5511 .3150 .3150 .7874 1.1416 2.5590 3/8-16 1.20 MJ-PS4-160 B 1.5748 2.0079 7874 3150 3150 40 SJ-PS3-125 SJ-PS4-125
8"  7/8 1-3/8 .4996 5/16 .1575 .1260 .5511 .3543 .3937 .9843 1.2992 3.1102 3/8-16 2.10 MJ-PS4-200 YV p— 2 7559 i 3150 3150 80 SJ-PS3-160 SJ-PS4-160
10" 1-1/16 1-9/16 .7496 1/2 .1575 .1260 .6299 .4331 .4724 1.1024 1.4173 3.6220 1/2-13 3.20 MJ-PS4-250 B SN5es 3.3459 9843 3543 3937 1.07 SJ-PS3-200 SJ-PS4-200
12-1/2" 1-1/4 1-7/8 .7496 1/2 .1575 .1260 .6299 .5000 .4724 1.2598 1.5748 4.3307 1/2-13 5.10 MJ-PS4-315 T WG A 1.1024 4331 Lo 1.73 SJ-PS3-250 SJ-PS4-250
15-3/4" 1-1/2 2-1/4 .7496 1/2 .2835 .2480 .8661 .5906 .5512 1.4173 1.9291 5.1181 5/8-11 7.30 MJ-PS4-400 A | e T 12508 T ey 290 S]-PS3-315 SJ-PS4-315
20" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.5748 2.1259 6.5351 3/4-10 14.4 MJ-PS4-500 I e Ee— p— e 2006 = =0 - S P A0
25" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.2677 3/4-10 27.1 MJ-PS4-630 p— EEE D) E— s s = mp $J-PS3-500 $J-PS4-500
31-1/2" 1-1/2 2-1/4 .7496 1/2 .2835 .24801.2598 .6299 .5512 1.9685 2.1457 8.8583 3/4-10 27.1 MJ-PS4-800
40" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 12.593 3/4-10 105 MJ-PS4-1000
50" 1-1/2 2-1/4 .7496 1/2 .2835 .12601.5748 .9843 .9843 3.1496 3.0315 14.448 3/4-10 116 MJ-PS4-1250

www.gatorchucks.com

www.gatorchucks.com




va4iniAg

Syanya Jojes

®

B
@)
Ro
U
wn
n
®
=
D
(0]
Al
(@)
>
—
<
o
=
>
=
>
(@]
2
(¢}
=
=4
0
>
c
(¢}
=~
(2}

Jaws - ID Jaws

ID Hard Solid Jaws, For 3-Jaw Chucks

e Sold in sets

Bl e Ll Lo Ll e o N
Dl Lbs.
1.2598 1.6535 .5906 .2362 .2362 .2756 1.063 0J-PS3-100 0J-PS4-100
5" 1.5748 2.0079 7874 .3150 .3150 .3150 1.313 .512 .40 0J-PS3-125 0J-PS4-125
6-1/4" 2.0866 2.7559 .7874 .3150 .3150 .3937 1.772 .748 .80 0J-PS3-160 0J-PS4-160
8" 2.1260 3.3459 .9843 .3543 .3937 .4724 2.244 .906 1.07 0J-PS3-200 0J-PS4-200
10" 2.4803 4.1339 1.1024 .4331 4724 5512 2.736 1.102 1.73 0J-PS3-250 0J-PS4-250
12-1/2" 2.9528 4.9213 1.2598 .5000 .4724 .7087 3.268 1.358 2.90 0J-PS3-315 0J-PS4-315
15-3/4" 3.6220 5.7087 1.4173 .5906 .5512 .8661 3.898 1.417 5.20 0J-PS3-400 0J-PS4-400
20" 3.9370 7.0866 1.5748 .6299 5512 1.0236 4.705 1.969 7.33 0J-PS3-500 0J-PS4-500

Spare Parts

Pinion Sleeves & Screw
e Sold by piece

Pinions

e Sold by piece

Scroll Plates

e Sold by piece

Jaws - OD Jaws

OD Hard Solid Jaws, For 4-Jaw Chucks

e Sold in sets

oD
ﬂ ﬂ Chuck
Dia. Dia. Dia.
SC-PS-080 2.1575 3" .7480 PI-PS-080 PI-PS-080 PH-P-080
4" SC-PS-100 2.7323 4" .9843  PI-PS-100 PI-PS-100 4" - PH-P-100
" SC-PS-125 3.7008 " .9843 PI-PO-125 PI-PS-125 " PS-P-125 PH-P-125
6-1/4" SC-PS-160 4.8819 6-1/4" 1.1024 PI-PO-160 PI-PS-160 6-1/4" PS-P-160 PH-P-160
8" SC-PS-200 6.2598 8" 1.1811 PI-PO-200 PI-PS-200 8" PS-P-200 PH-P-200
10"  SC-PS-250 7.7953 10" 1.3583 PI-PO-250 PI-PS-250 10" PS-P-250 PH-P-250
12-1/2" SC-PS-315 10.1575 12-1/2" 1.4764 PI-PO-315 PI-PS-315 12-1/2" PS-P-315 PH-P-315
15-3/4" SC-PS-400 12.9134 15-3/4" 1.7323 PI-PO-400 PI-PS-400 15-3/4" PS-P-400 PH-P-400
20" SC-PS-500 16.4173 20" 1.9685 PI-PO-500 PI-PS-500 20" PS-P-500 PH-P-500
25"  SC-PS-630 21.3386 25"  2.0472 PI-PO-630 PI-PS-630 25" PS-P-630 PH-P-630
31-1/2" SC-PS-800 27.4106 31-1/2" 2.0472 PI-PO-800 PI-PS-800 31-1/2" PS-P-800 PH-P-800
Jaw Mounting Bolts Half Ring
e Sold by piece e Sold by piece
2 1 1
5" 5/16-18 MT-J1-5 0.79 MT-J2-5 1.00 4" -
6-1/4" 3/8-16 MT-J1-6 0.79 MT-J2-6 1.18 5" HR-P-125
8" 3/8-16 MT-J1-6 0.79 MT-J2-6 1.18 6-1/4" HR-P-160
10" 1/2-13 MT-J1-10 1.00 MT-J2-10 1.57 g HR-P-200
12-1/2" 1/2-13 MT-J1-10 1.00 MT-J2-10 1.57 10" HR-P-250
15-3/4" 5/8-11 MT-J1-16 1.00 MT-J2-16 1.57 12-1/2" HR-P-315
20" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 15-3/4" HR-P-400
25" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 20" HR-P-500
31-1/2" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 25" HR-P-630
31-1/2" HR-P-800

Chuc
Dia.
4

5"
6-1/4"
g"
10"
12-1/2"
15-3/4"
20"

www.gatorchucks.com

1.2598
1.5748
2.0866
2.1260
2.4803
2.9528
3.6220
3.9370

1.6535
2.0079
2.7559
3.3459
4.1339
4.9213
5.7087
7.0866

.5906
.7874
.7874
.9843
1.1024
1.2598
1.4173
1.5748

.2362

.3150
.3150
.3937
4724
4724
.5512
5512

.2756 1.063
.3150 1.313
.3937 1.772
4724 2.244
5512 2.736
.7087  3.268
.8661  3.898
1.0236 4.705

.512

.748

.906
1.102
1.358
1.417
1.969

e L le e e [ v e [o N

.2362
.3150
.3150
.3543
4331
.5000
.5906
.6299

.40

.80

1.07
1.73
2.90
5.20
7.33

Part No.
1J-PS3-100 1J-PS4-100
1J-PS3-125 1J-PS4-125
1J-PS3-160 1J-PS4-160
1J-PS3-200 1J-PS4-200
1J-PS3-250 1J-PS4-250
1J-PS3-315 1J-PS4-315
1J-PS3-400 1J-PS4-400
1J-PS3-500 1J-PS4-500

Wrenches (Standard & Extended)

e Sold by piece

Chuck | Square| _ Standard | Extended |
ola | Size --

.2344 2.36 W-P-080
4" .3543 3.15 W-P-100 - -
5" .3543 3.15 W-P-125 - -
6-1/4" 4331 3.90 W-P-160 7.87 W-SP-160
. L 8" 4331 3.90 W-P-200 10.02 W-SP-200
10" .5512 4.78 W-P-250 8.74 W-SP-250
12-1/2" .5512 4.76 W-P-315 10.87 W-SP-315
15-3/4" .6693 5.51 W-P-400 10.75 W-SP-400
Standard Wrench Extended Wrench 20" .7480 9.06 W-P-500 18.11 W-SP-500
25" .7480 9.06 W-P-630 - -
31-1/2" .7480 9.06 W-P-800 - -

www.gatorchucks.com

Vayini A

SyanyaJojes

()

0
@)
Ro
)
n
n
D
=
(1)
(0]
Ly
(@)
>
—
<
o
=
>
=
>
(@]
n
(¢}
=
=
0
=
c
(¢}
>
(2}




ﬁm PSL Series Steel Body Large Thru Hole Chucks

\A@ > gatorchucks® Medium Duty

BY FUERDA

Syanya Jojel

va4iniAg
Va4ini A9

Syanya Jojes

Forged Steel Body 3-Jaw Self-Centering Scroll Chucks.
Plain Back with Large Thru Hole

®
()

*Forged Steel, Medium Duty Body

*Large thru-holes

*American Standard two-piece tongue & groove jaws

*High Gripping Accuracy

*All chuck body & jaw working surfaces are hardened and ground
*Chucks can be installed on the lathes individually or in pairs

*All chucks are balanced

*ANSI, DIN & ISO Standards

*Perfect for pipe machining, welding operations or special applications
*Can be mounted on Lathes, VTL's and differentkind of Indexers and welding fixtures
*Front mounting option is available onrequest

Features and Benefits

B Chuck Body
*Forged Steel Body Construction
*One piece body construction for 15-3/4",20" & 26"
*Two piece body construction for31-1/2" & UP
*All working surfaces are induction hardened and precisely ground.

MEd I U m DUty FO rg ed Steel B Ody *Each chuck is balanced within fine limits for longer life

*3 Pinion Design

3-Jaw Self-Centering Scroll Chucks = Jaws
Made of high alloy steel,

EXtra Larg e Th ru HOIe American Standard Tongue & Groove 2-Pc Jaws.

Jaw teeth and guideways are hardened and fully ground on both sides.

B Scroll Plate
*Drop forged of high quality alloy steel and hardened.
*Thread flanks are ground on both sides.
*Each scroll is individually balanced for chuck longer life and higher accuracy.

B Pinions
*Hardened and ground.
*Each pinionis insertedin a steel special bushing to secure precision engagement
with the scroll and protect chuck body againstworn out.

U L)
92 n
— —
%2 2
D D
= =
®D D
2} (2}
L Tl
o o
= =
(@] (@]
®D ®D
o o
92 92
— —
D D
2 L
09) 09)
@) (@)
o o
< <
I P
(@] (@]
QD QD
= =
%2 n
(¢} (¢}
= =
= =
0 0
> =
(= =
(¢} (¢}
~ ~
2} (2}
= =
— -
> >
— —
g 2
(@] (@]
® D
— —
> >
c =
I aC
=4 =4
@D ®D

- .
Bushlngs. Hardened and
Made of high grade alloy steel. Ground Surfaces
Hardened and ground.

Each bushingis pressed into pinion
seat extending chuck life time.

www.gatorchucks.com www.gatorchucks.com




11. Chuck Mounting Bolts

12. Back CoverMounting Pin
13. Back CoverMounting Bolts
14. Chuck Wrench
15.&16.Jaw mounting bolts

10. Back CoverMounting Bolts
11. Chuck Wrench
12 & 13.Jaw Mounting Bolts

Weight of Workpiece Chuck Jaw
Max. Jaw Stroke Max. Mounting Mounting Chuck Chuck
RPM . Without Support | With Support Bolts Bolts Model Part No.
110

M Clamping Ranges Large Thru Hole Scroll Chucks &S
Xy )
~ . ~
S PSL Series 3 -Jaw Large Thru Hole Scroll Chucks Medium Dut S
:E. B Note: y 3§
§§ *Never exceed chuckgripping ranges. FOI’ ed SteEI BOd 3'JaW Se|f-CeI’lterln SCI‘O” ChUCkS §§
= =
2 *Master jaws andscroll should be always in afull engagement. . . A
® *Select jaws withthe proper jawgripping surfaces tofit your application. Plaln BaCk Wlth Large Th ru HOle ®
*Always Use properjaws for roughand finishing machining.
Standard Accessories: Optional Accessories:

U Lﬁ 1 setof hard master jaws Soft top jaws T
(ﬂ # — 1 setof hardtop reversible jaws Semi-Finished AdapterPlates 2
wn B R TN f) I R R ) 1 setof chuck mounting bolts Base Platesfor Indexers and Rotary Tables o
@ Tyo|° T 1 Spring loaded chuck T-wrench @
g. B 2 hex keys (__—l;-

- Eye bolts (10" and larger)

2} s H1 (2}

' Lathe Chuck Manual C .. '
T ’,A}\\\ T
2 Chuck M’Q&_\ﬂ 9‘
Q S d1 d2 d3 d4 ds N \\\\E\\X\{' <
o 3= o
wn mm Inch Min. Max. Min. Max. Min. Max. Min. Max. Min. Max. wn
o 400 15-3/4 5.12 10.36 9.06 13.78 11.81 15.75 8.86 13.39 11.81 15.75 . S
@ 500 20 9.84 14.96 12.99 17.72 15.16 19.69 1252 17.72 14.96 19.69 < olw @
o 630 25 14.80 18.50 17.91 22.64 20.28 25.00 18.11 23.62 19.69 25.00 oy}
8_ 800 31-1/2 10.24 22.28 14.17 29.53 16.54 31.50 13.78 2953 16.93 31.50 8_
< <
i o
(@] (]
5 Chuck Part Listing 5
% 15-3/4", 20" & 26" 31-1/2" & UP — %
3 One piece body construction Two piece body construction 3
= 1. Chuck Body Thru —~
O 2. Back Cover Hole H H1 F al bl c Clrzs @)
g % (Bzgglgkcg\?g?/ 3. Scroll Plate E o ,::T

. 4. Pinion
2_ i- g_CnFPO'LP'ate 5. Pinion HalfRing 15-3/4"  8.66  4.13 4.4685 15.000 14.252 4.72 5000 1.770 1.4173 .74996 128 PSL3-16" 1-207-1600 2_
. PNl P

@ 5. Pinion Screw g- E?&??ﬁﬁiﬁam 20" 12.60 4.72 50394 18957 18.189 4.72 5.157 1.978 1.8110 .74996 168 PSL3-20" 1-207-2000 @
i ?- :::g #"O%SJtZ\fA;’SaWS 8. Hard TopJaws 26" 15.98 5.32 5.6023 24.409 22.835 5.00 5.157 2.047 1.9685 .74996 258 PSL3-26" 1-207-2600 i
= 8. Grease Nipple ?bGéeaiecN'Pp'a ina Bol 31-1/2" 16.14 595 6.3386 18.110 27.953 8.86 5.157 2.047 1.9685 .74996 468 PSL3-32" 1-207-3200 >
— 9. Chuck Mounting Bolts - Back CoverMounting Bolts —
Q Q
- =
«Q «Q
(o) @
— —
> >
. 15-3/4" 500 6.614 11.34 3307 M12 x 40 M12 x 40 PSL3-16" 1-207-1600 .

20" 350 9.874 14.96 177 5512 M12 x 40 M12 x 40 PSL3-20" 1-207-2000

I I
= 26" 250 14.80 19.57 265 7716 M16 x 40 M16 x 40 PSL3-26" 1-207-2600 =2
o 31-1/2" 200 7.402 22.28 441 8820 M24 x 160 M24 x 160 PSL3-32" 1-207-3200 @

Spare parts

Hard Master | Hard To Soft To P Pinion Pinion Chuck
NEWS Jaws P NE P Slcrg((:v:ll Pin;)gn W;epncch Screw Half Ring Mounting
3 pcs./set 3 pcs./set 1pc 1 pc. 1 pc. Bolts, 1 pc.
Part No.

15-3/4" MJ-PSL-400 TJ-PS3-400 STJ-PS1-400 SC-PL-400 PI-PL-400 W-PL-400 PI-L-508 - MB-PL-400
20" MJ-PSL-508 TJ-PS3-500 STJ-PS1-500 SC-PL-508 PI-PL-508 W-PL-500 PI-L-508 - MB-PL-508
26" MJ-PSL-660 TJ-PS3-630 STJ-PS1-630 SC-PL-660 PI-PL-660 W-PL-630 PI-L-508 - MB-PL-660

31-1/2" MJ-PSL-800 TJ-PS3-630 STJ-PS1-630 SC-PL-800 PI-PL-800 W-PL-800 - HR-P-800 MB-PL-800

www.gatorchucks.com www.gatorchucks.com




W Spare Parts Spare Parts &
S S
= =
. .
<8 Hard TopJaws, For3-Jaw Chucks Scroll Plates Pinions Pinion Screw S
) ) e Sold by piece e Sold by piece OAL e Sold by piece )
= e American Standard Tongue & Groove Jaws 2
e Hardened & Ground P
® Sold in sets o ob
® Jaw clamping rangessee on page 127 ob
P4
z[
M_ M_R - O
Ly el il e | 0o G el oo [ o Jll i
A 15-3/4" SC-PL-400 14.0945 15-3/4" PI-PL-400 1.4960 2.992 15-3/4" PH-L-508
20" SC-PL-508 18.0315 20" PI-PL-508 1.7717 3.228 20" PH-L-508
Chuck OAL Wi. NG 26" SC-PL-660 22.5980 26" PIl-PL-660 1.8897 4.016 26" PH-L-508
Dia. Lbs. 31-1/2" SC-PL-800 27.7559 31-1/2" PI-PL-800 2.0472 5.787 31-1/2" -
15-3/4" 1-1/2 2-1/4 .7496 .5004 1.57 .2480 .689 2.756 1.770 5,000 1.85 3.46 7.30 TJ-PS3-400 . .
20" 1-1/2 2-1/4 .7496 .87 1.3 .5004 1.57 .2480 .787 3.425 1.978 5157 2.05 3.23 144 TJ-PS3-500 JaW M ounti ng BOltS Chuck Mountlng
26" 1-1/2 2-1/4 .7496 .87 1.3 .5004 1.57 .2480 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630 e Sold by piece O tS

31-1/2" 1-1/2 2-1/4 :7496 .87 1:3 :5004 1:57 .2480 .787 3.425 2.047 5.157 2.05 3.23 27.1 TJ-PS3-630 e Sold by piece
Hard Master Jaws, For 3-Jaw Chucks : 5 , ,

Chuck | part N Thread
e American Standard Tongue & Groove Jaws Dia. CI N Size
Bolts No.1 Bolts No.2
Thread Short Long 15-3/4" MB-PL-400 M12x1.75

e Hardened & Ground
Size
_PartNo. | L | PartNo. | L | 20" MB-PL-508  M16x2

® Sold in sets

[%2]
B |[_L1 15-3/4" 5/8-11 MT-J1-16 1.00 MT-J2-16 1.57 26" MB-PL-660 M16 x 2
L85] w 20" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95 31-1/2" MB-PL-800 M24x3
= 26" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95
B
31-1/2" 3/4-10 MT-J1-20 1.57 MT-J2-20 2.95
K K K K K K K K K
BodoHoHo] 3¢E¢:¢3¢E}T 3¢E¢3¢% Pinion Sleeves Half Ring
o] Lol [el = el el =« 6l H | e Sold by piece e Sold by piece
® 26" to 32" Diameter B 20" Diameter m 15-3/4" Diameter

Chuck OAL Thread Wt
15-3/4" 1-1/2 2-1/4 .7496 .2835 .2480 .8661 .5315 5118 1.4173 4.7244 5/8-11 7.30 MJ-PSL-400
20"  1-1/2 2-1/4 .7496 .50 .2835 .2480 1.2598 .6693 .7087 1.811 4.7244 3/4-10 14.4  MJ-PSL-508 CSI%CK CSI%CK

26" 1-1/2 2-1/4 .7496 .50 .2835 .2480 1.2598 .6693 .7087 1.811 ) 3/4-10 27.1  MJ-PSL-660

U L)
92 n
— —
%2 2
D D
= =
®D D
2} (2}
L Tl
o o
= =
(@] (@]
®D ®D
o o
92 92
— —
D D
2 L
09) 09)
@) (@)
o o
< <
I P
(@] (@]
QD QD
= =
%2 n
(¢} (¢}
= =
= =
0 0
> =
(= c
(¢} (¢}
~ ~
2} (2}
= =
— -
> >
— —
g 2
(@] (@]
® D
— —
> >
c =
I aC
=4 =4
@D ®D

31-1/2" 1-1/2 2-1/4 .7496 .50 .2835 .2480 1.2598 .6299 .5512 1.9685 8.8583 3/4-10 27.1  MJ-PSL-800 152;"/'4 1522’14
26" - 26" -
Soft TOp Jaws, For 3-Jaw Chucks 31-1/2" PS-P-800 31-1/2" HR-P-800

e American Standard Tongue & Groove Jaws
e Sold by piece

c e < Wrenches (Standard & Extended)

| T 1 e Sold by piece

-] 1 p—

ol Fo ¢l H

G BoltSize | Wt. Pl | el
Part No. L

Dia. Lbs. 15-3/4" 0.5905 5.118  W-PL-400

C

—
|

15-3/4" 5.512 1.654 2.539 .500 1.3543 ) 2.480 .2480 1.7913 5/8-11 4.85 STJ-PS1-400 20" 0.6693 9.055 W-PL-508
20" 5.512 1.969 2.933 .500 1.3543 3 .750 2.480 .2480 406 2.1653  3/4-10 5.29 STJ-PS1-500 26" 0.7480 9.055 W-PL-660
26" 6.299 2.047 3.288 .500 1.3543 3 .750 2.480 .2480 406 2.5197  3/4-10 9.26 STJ-PS1-630 Standard Wrench 31-1/2" 0.7480 9.055 W-PL-800

31-1/2" 6.299 2.047 3.288 .500 1.3543 S .750 2.480 .2480 406 2.5197  3/4-10 9.26 STJ-PS1-630

www.gatorchucks.com www.gatorchucks.com




ﬁp PET Secries
,\)ﬂ ﬂ””" chueks HD Independent Chucks

BY FUERDA

Va4iniAg

Syanya Jojel

Syanya Jojes

()
()

4-Jaw Independent Oil Country Chucks with Large Thru Hole
Forged Steel Body , Extra Heavy Duty with A2 Mounts

B Solid Heavy Duty Forged Steel Body
Large thru-hole

B American Standard two-piecetongue
& groove jaws

B Extra wide Heavy Duty Top and Master
Jaws

B Extra Heavy Duty Operating Screws and
Thrust Bearings

B High Gripping Force

B High Gripping Accuracy

B All chuck body & jaw working surfaces
are hardened and ground

B Chucks can beinstalled on the lathes
individually or in pairs

B All chucks are balanced

PEL & PEO

® -

Forged Steel Body
Extra Heavy Duty Oil Country Chucks o

U U
L &l
Ro Ro
U U
m m
@) @)
wn wn
£ e
@ @
n n
I I
® D
Q QD
< <
< <
V) O
c c
< <
o o
Q) Q)
o o
c c
) >
~—t ~—t
< <
@) @)
> >
c c
3 )
=~ =
n n

Chuck Part Listing

. Chuck Body

. Operating Screw

. ThrustBearing

. Set Screw

. Hard Master Jaws

. Hard Top Jaws

7 & 8. Jaw Mounting Bolts
9. Chuck Mounting Bolts
10. Chuck Wrench
11.T-SlotScrew

OO WNBE

www.gatorchucks.com www.gatorchucks.com




S PET Series PET Seres S
N ) =) =1 N
S S
S d dent Chuck d dent Chuck S
=% HD Inaepenaent Chucks HD Independent Chucks S
Eg,a ) E"I
® Clamping Ranges o ®
PEI Series 4-Jaw Independent Chucks Each chuck is provided with:
T ¥ Note: . m 1 Setof HD hard masterjaws 7730 U
m “Never exceed chuckgripping ranges. B 1 Setof HD hard to revejrsible jaws T m
- *Master jaws andscroll should bealways in afull engagement. pr J -
Ro *Select jaws withthe proper jawgripping surfaces tofit your application. m1 SEI.OfChUCk mounting bolts Ro
o *Always Use properjaws for roughand finishing machining. B 1 Spring loadedHD chuck T -wrench o
m B 2 Hex keys <| o]0 m
O Chu Spindle Y ) ®m HD Eye bolts @)
wn Dia. | Nose Size el de = ts 22 ] B All chucks are provided with T-Slots B wn
o)) I . dlaN|m B Forged Steel Body o
P A2-11 1.77-9.96 5.87-17.05 8.50-19.69 5.75-17.05 8.39-19.69
= 20 N B Lathe Chuck Manual ‘ 213 =
() 20" A2-15 1.77-9.96 5.87-17.05 8.50-19.69 5.75-17.05 8.39-19.69 ‘J A LE- ! D
w
(? 25" A2-15 1.97-12.05 6.06-22.17 8.70-24.80 5.91-22.17 8.54-24.80 ﬁ’ {@ ({J
T 25" A2-20 3.94-12.05 8.03-22.17 10.67-24.80 7.87-22.17 10.51-24.80 G I
g 28" A2-15 2.95-15.20 7.05-25.31 9.69-27.95 6.89-25.31 9.53-27.95 g
é 28" A2-20 3.94-15.20 8.03-25.31 10.67-27.95 7.87-25.31 10.51-27.95 é
w) 31-1/2" A2-15 2.95-18.90 7.05-28.86 9.69-31.50 6.89-28.86 9.53-31.50 <l v ChUCk Dimensions o
c 31-1/2"  A2-20  452-18.90 8.62-28.86 11.26-31.50  8.46-28.86  11.10-31.50 I I =
< 40" A2-28  13.78-20.87 18.50-36.61 21.26-39.37 18.90-36.61 21.65-39.37 : szgge Lgﬁ: Chuck Chuck <
O 50" A2-15  3.982559 8.86-46.46 11.81-49.21 10.04-46.46 12.79-49.21 Mount e PRI e o
@) 20" A2-11 7.7507 9.2500 5.71 6.067 2.981 . 2.362 M20X25 1.118 PEI4-20"A/A2-11 1-317-2011 @)
(@] . - - . . 20"  A2-15 8.0 11.251 13.000 5.71 6.067 2.981 .886 2.362 .748 M24X3 1.34 PEI4-20"A/A2-15 1-317-2015 (@)
g MaXImum Grlpplng Dlameter ReqUIrementS 25" A2-15 10.5 11.251 13.000 6.10 6.067 3.571 .886 2.953 .866 M24X3 1.34 PEI4-25"A/A2-15 1-317-2515 g
o For Unsupported Workpieces L h 25" A2-20 12.55 16.251 18.252 6.10 6.579 3.571 .886 2.953 .866 M24X3 1.5 PEI4-25"A/A2-20 1-317-2520 =
< LH 28" A2-15 10.5 11.251 13.000 6.10 6.579 3.571 .886 2.953 .866 M24X3 1.34 PEI4-28"A/A2-15 1-317-2815 <
@) Chuck Diameter | 20" | 25" | 28" a0z 40" | 50" 28" A2-20 12.55 16.251 18.252 6.10 6.579 3.571 .886 2.953 .866 M24X3 1.5 PEI4-28"A/A2-20 1-317-2820 @)
g | max 15xd 1xd 1’: 31-1/2" A2-15 10.5 11.251 13.000 6.50 6.972 3.571 .886 2.953 .866 M24X3 1.34 PEI4-32"A/A2-15 1-317-3215 g
(@) 7 max' - Ixh 31-1/2" A2-20 12.55 16.251 18.252 6.50 6.972 3.571 .886 2.953 .866 M24X3 1.5 PEI4-32"A/A2-20 1-317-3220 (@)
g . N z 40" A2-28 20.86 23.001 25.500 6.89 7.366 3.571 1.10 2.953 .866 M30X35 1.53 PEI4-40"A/A2-28 1-317-4028 (7;

50" A2-15 11.00 11.251 13.000 6.89 7.366 3.571 1.10 2.953 .866 |p24x3 1.34 PEI4-50"A/A2-15 1-317-5015

Chuck Accuracy
Tk Chuck Parameters
[1d[x
" -] Spindle Load** Torqueon | Gripping Force Clampin Top Jaw ;
- - ia. IE)lose Capacity | the V?/rench F;)r:ergaw Capapcitg i Moﬁnting Opﬁ}rftéggssiggew
o _ - Size ' Ib. Ib. Ft. Ibf. Min. - Max. : Bolt
20" A2-11 1000 14,900 259 7,190 1.77-19.68 450 3/4"-10 Trd44 x 8LH
20" A2-15 1000 14,900 259 7,190 1.77-19.68 414 3/4"-10 Tr44 x 8LH
0] 25" A2-15 850 21,500 296 8,320 1.97-24.80 682 7/8"-9 Tr50 x 8LH
25" A2-20 850 21,500 296 8,320 3.94-24.80 649 7/8"-9 Tr50 x 8LH
Chuck Size | 20" | 25" | 28" |31-1/2"] 40" | 50" 28" A2-15 750 24,800 331 9,217 2.95-27.95 913 7/8"-9 Tr50 x 8LH
a | Radial Runout| 0.0040 [ 0.0040 | 0.0050 | 0.0050 | 0.0071 | 0.0071 28" A2-20 750 24,800 331 9,217 7.09-27.95 869 7/8"-9 Tr50 x 8LH
b | Face Runout | 0.0020 | 0.0020 | 0.0024 | 0.0024 | 0.0031 | 0.0040 31-1/2" A2-15 600 28,100 331 9,217 5.12-31.50 1,287 7/8"-9 Tr50 x 8LH
c Jaws Face | 0.0024 | 0.0024 | 0.0024 | 0.0024 | 0.0031 | 0.0040 31-1/2" A2-20 600 28,100 331 9,217 7.09-31.50 1,243 7/8"-9 Tr50 x 8LH
d Jaws Face | 0.0024 | 0.0024 | 0.0024 | 0.0024 | 0.0031 | 0.0040 40" A2-28 430 38,000 368 10,116 13.73-39.40 1,683 7/8"-9 Tr50 x 8LH
50" A2-15 350 42,900 368 11,240 3.94-49.21 3,540 7/8"-9 Tr50 x 8LH

T-Slot Dimensions

Chuck A c E T-Slot *Permissible chuck max.RPM's are calculatedfor the roundand perfectly centeredworkpieces and thechucks in
Dia. Length 5 perfect condition having factory original jawsand depends onmany different machining factors suchas cutting

20" 1.4763 0.8858 0.6299 1.3779 5.807 1/ Faceofthe chunks pa:rametterds (dtepvtvh okfc_ut & feetcis),\;vei%ht ar];ld ba:cl_ancri]ng ofxvorllijpti)ecel, m?cl?ini_n%cct>rr]\ditions_(ljike;t_smooth or
" interrupted cut. Workpiece material andsurface finishing shouldbe also takeninto the consideration.
25" 1.47631/0.8858[10.6299|[1.3779 6.102 !th jﬁ w *Max. load capacityis rated perone PEI chuck.
28" 14763 0.8858 0.6299 1.3779 7.677 U Max. load capacity has been calculatedfor symmetrical workpiece
31-1/2" 1.4763 0.8858 0.6299 1.3779 9.449 A SUPPORDED with thelive center, steady rest orbeing gripped intwo chucks.

40" 1.8110 1.1024 07874 1.9685 9.252 For the odd shape workpieces the RPM should bereduced significantly.
50" 1.8110 1.1024 0.7874 1.9685 14.173

www.gatorchucks.com www.gatorchucks.com




i PEL Scnes PET Scries ]
S S
= =
=¥ HD Independent Chucks HD Independent Chucks &
) )
53 : : 53
® Spare Parts Operating Screw Thrust Bearing ®
Spindle Hard Top Hard Thrust Heavy Duty Heavy Duty ® Sold by piece * Sold by piece
Nose Reversible Jaws| Master Jaws Bearing Wrench Wrench
- Size 1pc. 1pc. 1pc. 1pc. 1pc. — o
m 20" A2-11  TJ-PEI-500 MJ-PEI-500 TB-PEI-500  W-PEI-500 OS-PEI-511 L L m
g 20" A2-15  TJ-PEI-500 MJ-PEI-500 TB-PEI-500  W-PEI-500 OS-PEI-515 g
25" A2-15  TJ-PEI-800 MJ-PEI-800 TB-PEI-630 W-PEI-1000 OS-PEI-631 . [
r-ﬁ 25" A2-20  TJ-PEI-800 MJ-PEI-800 TB-PEI-630 W-PEI-1000 OS-PEI-632 L l&l r-ﬁ
e) 28" A2-15  TJ-PEI-800 MJ-PEI-800 TB-PEI-630 W-PEI-1000 OS-PEI-715 e)
0 28"  A2-20 TJ-PEI-800 MJ-PEI-800 TB-PEI-630 W-PEI-1000 OS-PEI-720 Chuck | Taper| “ouet | Thread | 3;’32?; Part No. e L %
@ 31-1/2" A2-15  TJ-PEI-800 MJ-PEI-800 TB-PEI-800 W-PEI-1000 OS-PEI-815 Dia. | Size | pia |Size d size S Dia. | Size | Dia. @
o 31-1/2"  A2-20  TJ-PEI-800  MJ-PEI-800 TB-PEI-800 W-PEI-1000 OS-PEI-820 20"  A2-11 650 Tr44x8 2340 6457 .748 OS-PEI-511 20" A2-11 17716 3.6614 TB-PEI-500 o
@ 40" e I e I R 20" A215 800 Trd4x8 2340 5669 .866 OS-PEI-515 20"  A215 17716 36614 TB-PEI-500 @
T 20 N R R S RS 25"  A2-15 1050 Tr50x8 2.362 6.988 .866 OS-PEI-631 25"  A2-15 19685  4.0945  TB-PEI-630 T
® . 25"  A2-20 1255 Tr50x8 2.362 5925 .866 OS-PEI-632 25"  A2-20 19685  4.0945  TB-PEI-630 ®
) )
< HD _Hard RGVGFSING TOp Jaw for PEI Independent Chucks 28"  A2-15 1050 Tr50x8 2953 8563 .866 OS-PEI-715 28"  A2-15 19685  4.0945  TB-PEI-630 <
é :é)’:’t‘fg"fv”i‘gesgae';‘\‘grgm‘;g’:g%;gga‘fﬁ‘nﬁrr?é’;’fy‘]:‘gfation 28"  A220 1255 Tr50x8 2953 7.500 .866 OS-PEI-720 28"  A220 19685 40945 TB-PEI-630 é
c e Hardened & Ground P S 31-1/2" A2-15 1050 Tr50x8 3.543 10.335 .866 OS-PEI-815 31-1/2" A2-15 1.9685 4.4882  TB-PEI-800 c
< ® Sold per 1pc. - 31-1/2" A2-20 1255 Tr50x8 3543 9.252 .866 OS-PEI-820 31-1/2" A2-20 19685 4.4882  TB-PEI-800 <
® Jaw clamping rangessee on page 133 Z|
@) T 31-1/2" A2-20 1450 Tr50x8 3543 8.268 .866 OS-PEI-821 31-1/2" A2-20 1.9685 4.4882  TB-PEI-800 @)
= M M R | O 40"  A2-28 2086 Tr55x8 3.225 9.646 .866 OS-PEI-928 40"  A2-28 23622 4.2913 TB-PEI-1000 —
Q F + LLI; ! =y 50"  A2-15 1100 Tr55x8 3.445 8386 .866 OS-PEI-1015 50"  A2-15 23622  4.2913 TB-PEI-1000 Q
B { J
g e ﬂ##ﬁ'm LK | LAQ'LL* Note: Afterthe installation everythrust bearing g
- has to besecured with the set screw. =
5! Chuck A2 Mounting Bolts S
o * Sold by piece HD Spring Loaded Chuck T-Wrench o
> OAL Weight TopJaw e Sold by piece >
c 1 set Ibs, Part No. c
o A 3
) 20" 2.248 7496 1.299 .5004 .1575 .244 .827 3.228 2.362 5.378 2.047 3.366 9. TJ-PEI-500 I >
25" 1.5 2.248 7496 .953 1.378 .5004 .1575 .244 1.102 3.819 2.953 5.343 2.047 3.366 12.5 TJ-PEI-800 Chuck |Taper| Thread Part No.
28" 1.5 2.248 .7496 .953 1.378 .5004 .1575 .244 1.102 3.819 2.953 5.343 2.047 3.366 12.5 TJ-PEI-800 Dia. | Size Size L
31-1/2" 1.5 2.248 .7496 .953 1.378 .5004 .1575 .244 1.102 3.819 2.953 5.343 2.047 3.366 12.5 TJ-PEI-800 A2-11 M20x25 5.9055 MB-PEI-511
40" 1.5 2.248 .7496 .953 1.378 .5004 .1575 .244 1.181 4.213 3.346 6.299 2.362 3.740 18.5 TJ-PEI-1000 20"  A2-15 M24x3  5.9055 MB-PEI-515
50" 1.5 2.248 .7496 .953 1.378 .5004 .1575 .244 1.181 4.213 3.346 6.299 2.362 3.740 18.5 TJ-PEI-1000 25" A2-15  M24x3 62992 MB-PEL-615
" Chuck Squre Wrench
28"  A2-15  M24x3  6.2992 MB-PEI-715 -~ T | e
HD Hard Master Jaw for PEI Independent Chucks 28" A220 M24x3 66992 MB-PEI-720 ST B By ) R
e American Standard Two-Piece Tongue & Groove Jaws 31-1/2" A2-15 M24x3  6.6992 MB-PEI-815 . - - -
e Extra wide HeavyDuty Hard Master Jaws with heavy serration 31-1/2" A2-20 M24x3 7.0866 MB-PEI-820 28 11.81 15.35 0.866 W-PEI-800
e Hardened & Ground o 31-1/2" 11.81 15.35 0.866  W-PEI-800
e Sold per 1pc. "’JF 4 31-1/2" A2-20 M24x3  7.0866 MB-PEI-821 20" — T T
® Jaw clamping rangessee on page 133 T 40"  A2-28 M30x35 7.0866 MB-PEI-1028 5o 17'72 15'35 0'866 W-PEIL1000
A L ) — 50"  A2-15 M24x3  7.0866 MB-PEI-1215 v v v =
Jf T_g.ﬁ_gﬁ_s__ T_gﬂ_g_t S f—iﬁ—gﬂ—gﬂ—gﬁ% * Bolts aremade in aClass B12.9
L EFelerer f@eleise) @eheeielerer
3 LK K KJ ]FK K | K KJ LK K [ K] KK KJ \]aW Mountlng BOItS
" M " M " e Sold by piece
20 25" 10 32 36" t0 50 yP Thread Bolts No.1 Bolts No.2
Overall i TopJaw Srea Short Long
: 20" 3/4-10  MTH-J1-20 1.57 MTH-J2-20 2.37
20"  2.047 2.248 .7496 .2835 .7874 2.3228 6.693 3/4"-10 Tr44x 8LH 8.50 MJ-PEI-500 - m—— MTH.J1.25 157 MTH-32.25 575
25"  2.756 2.248 .7496 .2835 .7874 .500 2.4724 .618 1.5 8.190 7/8"-9 Tr50 x 8LH 13.50 MJ-PEI-800 -
28" 2,756 2.248 .7496 .2835 .7874 .500 2.4724 .618 1.5 8.190 7/8"-9 Tr50x8LH 13.50 MJ-PEI-800 A W) | MRS | S [ilfhie-eae ) S
31-1/2" 2.756 2.248 .7496 .2835 .7874 .500 2.4724 .618 1.5 8.190 7/8"-9 Tr50x 8LH 13.50 MJ-PEI-800 31-1/2 718-9 MTH-J1-25 1.57 MTH-J2-25 2.75
40"  3.149 2.248 .7496 .2835 .9843 500 3.0354 .984 1.5 11.81 7/8"-9 Tr50x8LH 30.00 MJ-PEI-1000 1 ) 1 1 40" 7/8-9 MTH-J1-40 1.75 MTH-J2-40 2.75
50"  3.149 2.248 .7496 .2835 .9843 .500 3.0354 .984 1.5 11.81 7/8"-9 Tr50x 8LH 30.00 MJ-PEI-1000 50" 7/8-9 MTH-J1-40 1.75 MTH-J2-40 2.75

www.gatorchucks.com www.gatorchucks.com




PEIQ© Scries PEIQO Scries

HD Scroll Chucks HD Scroll Chucks

3-Jaw Self-Centering Oil Country Chucks with Large Thru Hole
Forged Steel Body , Extra Heavy Duty with A2 Mounts

Syanya Jojes
Syanya Jojes

Vay3ni A

Va4ini A9

()
()

Clamping Ranges
PEO Series 3-Jaw Self-Centering Chucks

- B Note: U
m *Never exceed chuck gripping ranges. m
- *Master jaws andscroll should bealways in afull engagement. -
Ro *Select jaws withthe proper jawgripping surfaces tofit your application. Ro
) *Always Use properjaws for roughand finishing machining. o
m o L m
O Chuck | Spindle d1 d2 d3 d4 ds L o
0 Dia. Nose Size wn
® 0/~ 20" A2-11  1.77-925  6.3817.05 890-19.69  5.51-17.05 8.15-19.69 SRR %{% 3 @
f— 1 _—
D 20" A2-15 1.77-9.25 6.38-17.05  8.90-19.69 5.51-17.05 8.15-19.69 | I D
(? 25" A2-15 3.15-13.19 7.87-22.60 10.35-24.80 6.89-22.60 9.57-24.80 ,7’ ({J
T 25" A2-20 6.30-13.19  11.02-22.60 13.5-24.80 10.04-22.60 12.72-24.80 T
g 28" A2-15 5.12-15.12 9.21-25.19  11.85-27.95 9.05-25.28 11.81-27.95 8
é 28" A2-20 9.17-15.12  13.26-25.19 15.93-27.95 14.09-25.28 16.73-27.95 é
O 31-1/2" A2-15 5.12-18.98 9.84-23.62 12.72-31.50 9.06-29.29 11.73-31.50 O
c ® 1. Chuck Body . - b3S c
c B 2 Back Cover 31-1/2 A2-20  7.48-18.98 12.20-23.62 14.29-31.50 11.42-29.29 14.09-31.50 c
< : 2- gcfpll Plate 40" A2-20  9.84-2362 14.37-4252 16.93-45.26 16.73-42.13 19.69-45.26 <
. Pinion
9 B 5. Pinion Half Ring 15 40" A2-28 9.84-23.62 14.37-42.52 16.93-45.26 16.73-42.13 19.69-45.26 9
— B 6. Pinion Sleeve N =
@) B 7. Hard MasterJaws 7 16 @)
(@) B 8. Hard Top Jaws - - - . . (@)
= m 9. Grease Nipple 8 Maximum Gripping Diameter Requirements c
) m 10. Back CoverMounting Bolts . )
= = 11 ChuckMounting Bolts For Unsupported Workpieces 5
< m 12. Back Cover Mounting Pin <
@) m 13. Back Cover Mounting Bolts LH @)
s ®m 14. Chuck Wrench_ Chuck Diameter | 20" | 25" | 28" [31-1/2"] 40" | s0" = —
c m 15.&16.Jaw mounting bolts | max. 15xd 1xd c
o mar o AL o
wn - (72}

B Chuck Body

Two piece body construction made of drop forged high quality alloy steel. Chuck Accu racy
PEO chuck forged steel body can handle heavy workpieces and heavy machining.

All working surfaces are induction hardened and precisely ground. blx
K

3 pinion design. a
I
B HD Scroll Plate IH
Thread flanks are ground on both sides. o [ B
Each scroll is individually balanced for chuck longer life and higher accuracy.

i

H Jaws L
Made of high alloy steel, Extrawide HD Top & Master Jaws.
American Standard two-piece Tongue & Groove Jaws. Chuck Size 20" 25" 28" |31-1/2"| 40" 50"
Jaw teeth and guideways are hardened and fully ground on both sides. L 6.3 6.3 6.3 6.3 6.3 6.3
Top & Master Jaw HD execution allows for high gripping power. a | Radial Runout| 0.0040 | 0.0040 | 0.0059 | 0.0059 | 0.0071 | 0.0071

b | Radial Runout| 0.0040 | 0.0040 | 0.0059 | 0.0059 | 0.0071 | 0.0071
¢ | Axial Runout | 0.0020 | 0.0020 | 0.0024 | 0.0024 | 0.0031 | 0.0031

B HD Pinions
Hardened and ground.
Each pinionis insertedin a steel
special bushingto secure precision
engagement with the scroll.

Hardened and
Ground Surfaces T-Slot Dimensions

Chuck T-Slot
“
& Face of the chunk
20" 0.9055 0.5512 0.3937 0.9055 5.9055 | ace ot the chunks
25" 1.4763 0.8858 0.6299 1.3779 6.122 ’J L\jf w

28" 14763 0.8858 0.6299 1.3779 7.713

B Bushings
Made of high grade alloy steel.
Hardened and ground.
Each bushingis pressedinto
pinion seatand secured with

] e\

L@
NN

d
S|

o

EC

i 31-1/2" 1.4763 0.8858 0.6299 1.3779 8.504
the haltring. 40"  1.8110 1.1024 0.7874 1.9685 8.661
50"  1.8110 1.1024 0.7874 1.9685 13.58

www.gatorchucks.com www.gatorchucks.com




il PEQO Scries PEIQO Scries |
S S
=8 HD Scroll Chucks HD Scroll Chucks &S
n n
® Spare Parts ®
H h
] Spindle Hard To Hard L Heavy Du
é = S(_)se Reversible Jpaws Master Jaws Pllr;gn Scr:cL> ILIZIate W;Ignchty
Each chuck is provided with: = 1€ Size 1set 1set 1 pc
< 20" A2-11 TJ-PEO-500 MJ-PEO-500 PI-PEO-500 SC-PEO-500 W-PEO-500
B 1 Setof HD hard masterjaws 20" A2-15 TJ-PEO-500 MJ-PEO-500 PI-PEO-500 SC-PEO-500 W-PEO-500
: 122% %“f:‘h'?lzsrgéﬁﬁtﬁ‘éeéz'lﬂelaWS s 25"  A2-15 TJ-PEO-800 MJ-PEO-800 PI-PEO-631 SC-PEO-631  W-PEO-800
) 25" A2-20 TJ-PEO-800 MJ-PEO-800 PI-PEO-632 SC-PEO-632  W-PEO-800
B 1 Spring loadedHD chuck T -wrench | 4| ol & .
m 2 Hex keys 28 A2-15 TJ-PEO-800 MJ-PEO-800 PI-PEO-715 SC-PEO-715  W-PEO-800
B HD Eye bolts s 28" A2-20 TJ-PEO-800 MJ-PEO-800 PI-PEO-720 SC-PEO-720 W-PEO-800
B All chucks are provided with T-Slots R — 31-1/2" A2-15 TJ-PEO-800 MJ-PEO-800 PI-PEO-815 SC-PEO-815 W-PEO-800
B Forged Steel Body 31-1/2" A2-20 TJ-PEO-800 MJ-PEO-800 PI-PEO-820 SC-PEO-820  W-PEO-800
B Lathe Chuck Manual 7730" 1 (¢ a ’—Hz | 40" A2-20 TJ-PEO-1000 MJ-PEO-1000 PI-PEO-1020 SC-PEO-1020 W-PEO-1000
ék 40" A2-28 TJ-PEO-1000 MJ-PEO-1000 PI-PEO-1028 SC-PEO-1028 W-PEO-1000

HD Hard Reversible Top Jaw for PEO Scroll Chucks

® American Standard Two-Piece Tongue & Groove Jaws
e Extra wide Heavy Duty Hard Top Jaws with heavyserration
® Hardened & Ground

® Sold in Set

e Jaw clamping rangessee on page 138

@1 Hifle)

Chuck Dimensions

Chuck | Spindle Type of Thru Chuck
: - Mounting Hgle RPM** Model

Direct 7.48 9.25 7.751 4.685 3.425 .7500 2.980 5.315 . 1000 PEO3-20"A/A2-11 1-119-2011 @

Chuck
Part No. \

Y U
al il
Ro Ro
Y U
m m
O O
w w
E g
@ @
v 1%
T I
D D
Q 9}
< <
< <
) O
c c
< <
O O
Q) @)
(@) (@)
c c
= =
—+ ~—
< <
@) @)
> >
c c
0 o
= x
” %)

20"  A2-11

20" A2-15 Indirect* 8.00 13.00 11.251 4.685 3.425 .8125 2.980 5.315 .748 1000 PEO3-20"A/A2-15 1-119-2015

25" A2-15 Direct 10.75 13.00 11.251 6.063 3.642 .8125 3.295 5.315 .866 850 PEO3-25"A/A2-15 1-119-2515 Ki «

25" A2-20 Indirect* 12.55 18.25 16.251 6.063 3.642 .8750 3.295 5.315 .866 850 PEO3-25"A/A2-20 1-119-2520

28" A2-15 Direct 10.75 13.00 11.251 6.300 3.642 .8125 3.295 5.315 .866 750 PEO3-28"A/A2-15 1-119-2815 TopJaw

28" A2-20 Direct 12.55 18.25 16.251 6.300 3.642 .8750 3.295 5.315 .866 750 PEO3-28"A/A2-20 1-119-2820 Part No.
31-1/2" A2-15 Direct 10.75 13.00 11.251 6.300 3.642 .8125 3.295 5.315 .866 600 PEO3-32"A/A2-15 1-119-3215 20" 53425 2559 1.50 2.248 7496 5004 1299 3.229 827 2047 3.366 7.28 TJ-PEO-500
31-1/2" A2-20 D!rect 12.55 18.25 16.251 6.300 3.642 .8750 3.295 5.315 .866 600 PEO3-32"A/A2-20 1-119-3220 25" 53543 3.346 1.50 2.248 7496 5004 .244 1945 1378 3.819 1.102 2.047 3.366 11.16 TJ-PEO-800

40: A2-20 D!rect 12.55 18.25 16.251 7.087 4.409 .8750 4.081 8.628 .866 430 PEO3-40:A/A2-20 1-119-4020 28" 53543 3.346 1.50 2.248 7496 5004 .244 945 1.378 3.819 1.102 2.047 3.366 11.16 TJ-PEO-800

4y Az b BIEEE 20 Gia) 285,00 28000 7087 [ ate JL Izt 2 Qe B ans L a0e L acld | HE0E AT oz 2 |t 2028 31-1/2" 5.3543 3.346 1.50 2.248 .7496 .5004 .244 .945 1.378 3.819 1.102 2.047 3.366 11.16 TJ-PEO-800
*Indirect chucks canbe used asPlain Back aswell 40" 8.2677 3.346 1.50 2.248 .7496 .5004 .246 .945 1.378 4.330 .984 1.992 3.330 18.74 TJ-PEO-1000
*Permissible chuck max.RPM's are calculatedfor the roundand perfectly centeredworkpieces and thechucks in 50" 8.2677 3.346 1.50 2.248 .7496 .5004 .246 .945 1.378 4.330 .984 1.992 3.330 18.74 TJ-PEO-1000

perfect condition havingfactory original jawsand depends onmany different machining factors suchas cutting
parameters (depth ofcut & feeds), weight and balancing of workpiece, machining conditions like; smoothor
interrupted cut. Workpiece material andsurface finishing shouldbe also takeninto the consideration.

HD Hard Master Jaw for PEO Scroll Chucks

e American Standard Two-Piece Tongue & Groove Jaws

e Extra wide HeavyDuty Hard MasterJaws with heavyserration
® Hardened & Ground

® Sold in Set

® Jaw clamping rangessee on page 138

Chuck Parameters

. Max. . - .
Spindle TopJaw i alese Clamping Gripping

Mounting Mounting Weight* Capacity Force
Bolts (M) Bolts Ibs. Min. - Max. Ibf.

Hard Top
Nose NEY
A Size Width

Spindle

20" A2-11 2.559 2.362 M20 x 2.5 3/4"-10 10,400 1.77-19.68 16,300
20" A2-15 2.559 2.362 M24 x 3 3/4"-10 10,400 1.77-19.68 16,300
25" A2-15 3.346 3.150 M24 x 3 7/8"-9 15,600 3.15-24.80 18,040
25" A2-20 3.346 3.150 M24 x 3 7/8"-9 15,600 6.30-24.80 18,040
28" A2-15 3.346 3.150 M24 x 3 7/8"-9 18,000 5.12-27.95 18,650
28" A2-20 3.346 3.150 M24 x 3 7/8"-9 18,000 9.17-27.95 18,650 A
31-1/2"  A2-15 3.346 3.150 M24 x 3 7/8"-9 20,800 5.12-31.50 19,140 V‘ﬂge*t“ TopJaw
31-1/2"  A2-20 3.346 3.150 M24 x 3 7/8"-9 20,800 7.09-31.50 19,140 Ibs. Part No.
ik ) || S SRS MELPSS e ZEEIDY ERC e D0 AU 210 20" 6.535 2.362 .7496 .787 .787 2.992 2.248 .283 15 1.417 3/4"-10 10.55 MJ-PEO-500
= S Sl LoD iz st Dl Zoe e AR 2L 25" 8.858 3.150 .7496 .984 .984 2.992 2.248 .283 1.5 .50 1.417 .126 7/8"-9  21.52 MJ-PEO-800
*Max. workpiece weighthas been calculated for symmetrical workpiece 28" 8.858 3.150 .7496 .984 .984 2.992 2.248 .283 1.5 .50 1.299 .126 7/8"-9 21.52 MJ-PEO-800
SUPPORTED withthe live center, steady restor being grippedin two chucks. 31-1/2" 8.858 3.150 .7496 .984 .984 2.992 2.248 .283 1.5 .50 1.299 .126  7/8"-9  21.52 MJ-PEO-800

For the odd shape workpieces theRPM should be reduced significantly. 40" 14.449 3.150 .7496 984 984 2.992 2.248 .283 1.5 .50 1.299 .126  7/8"-9  31.96 MJ-PEO-1000

50" 14.449 3.150 .7496 .984 .984 2.992 2.248 .283 1.5 .50 1.299 .126 7/8"-9 36.59 MJ-PEO-1000

www.gatorchucks.com www.gatorchucks.com




s BPEO Scries
S
=8 HD Scroll Chucks
)
3% .
™ Scroll Plates Pinions
e Sold by piece e Sold by piece OAL
oD

e Sold by piece
J_
Chu Chuck Chuck Square

o

m

Ro

U Spindle

m Part No. Ghuck | "Nose OAL | PartNo.
@) : Size

0 16.42 SC-PEO-500 20" A2-11 197 3.88  PI-PEO-500
@ 16.42 SC-PEO-500 20" A2-15 197 3.88 PI-PEO-500
o 21.34 SC-PEO-615 25"  A2-15 2.047 4.71  PI-PEO-615
‘f’ 21.34 SC-PE0-620 25"  A2-20 2.047 4.71  PI-PEO-620
T 28"  A2-15 24.33 SC-PEO-715 28" A2-15 2.047 5.79  PI-PEO-715
g 28"  A2-20 24.75 SC-PEO-720 28"  A2-20 2.047 5.79  PI-PEO-720
é 31-1/2" A2-15 27.40 SC-PEO-815 31-1/2" A2-15 2.047 7.01  PI-PEO-815
o 31-1/2" A2-20 27.76 SC-PEO-820 31-1/2" A2-20 2.047 5.79  PI-PEO-820
c 40" A2-20 35.43 SC-PE0-1020 40" A2-20 2.76 6.3  PI-PEO-1020
=

< 40" A2-28 35.43 SC-PEO-1028 40" A2-28 2.76 6.3  PI-PEO-1028
©)

0 Pinion Sleeves Half Rings HD Spring Loaded
g e Sold by piece e Sold by piece Chuck T-Wrench
=

-

<

@)

0

C

(@]

=

wn

20" PS-PEO-500 20" HR-PEO-500 0.748 10.24 W-PEI-500

25"  PS-PEO-800 25" HR-PEO-800 25" 0.866 11.81 W-PEI-800

28" PS-PEO-800 28" HR-PEO-800 28"  0.866 11.81 W-PEI-800
31-1/2" PS-PEO-800 31-1/2" HR-PEO-800 31-1/2" 0.866 11.81 W-PEI-800

40"  PS-PEO-800 40" HR-PEO-800 40" 0945 9.84 W-PEI-800
Jaw Mounting Bolts Chuck A2 Mounting Bolts
® Sold by piece e Sold by piece

Ei ﬁZ @1 ﬁi Chuck Taper Thread
.
- T A2-11 M20x25 5.118 MB-PEO-511
Chuck| Thread Short Lon 20" A2-15 M24x3 5165 MB-PEO-515
Dia Size 4

20" 3/4-10 MTH-J1-20 1.57 MTH-J2-20 2.37 25" A2-20 M24x3 5.165 MB-PEO-620
25" 7/8-9 MTH-J1-25 1.57 MTH-J2-25 2.75 28" A2-15 M24x3 7.087 MB-PEO-715
28" 7/8-9 MTH-J1-25 1.57 MTH-J2-25 2.75 28" A2-20 M24x3 5.165 MB-PEO-720
31-1/2" 7/8-9 MTH-J1-25 1.57 MTH-J2-25 2.75 31-1/2" A2-15 M24x3 7.087 MB-PEO-815
40" 7/8-9 MTH-J1-40 2.53 MTH-J2-40 3.53 31-1/2" A2-20 M24x3 7.480 MB-PEO-820
50" 7/8-9 MTH-J1-40 2.53 MTH-J2-40 3.53 40" A2-20 M24x3 7.874 MB-PEO-1020

40"  A2-28 M30x3.5 7.874 MB-PEO-1028
* Bolts aremade in aClass B12.9

www.gatorchucks.com




	01 GATOR Catalog Introduction Pages
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4

	1.PA - GATOR CATALOG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10

	2.PB - GATOR CATALOG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10

	3.PO - GATOR CATAOLG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  11
	Ò³Ãæ  12
	Ò³Ãæ  13

	4.PS - GATOR CATALOG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  11
	Ò³Ãæ  12
	Ò³Ãæ  13

	5.PI - GATOR CATALOG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  11

	6.FRONT MOUNT PO,PS
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5

	7.PSL - GATOR CATALOG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3

	8.PEI & PEO - GATOR CATALOG
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6


